ESARA

Japanese Technology since 1912

EVM series - vertical Multistage Pumps Data Book 60Hz




60Hz

VERTICAL MULTISTAGE PUMP S

Page
®

1. SPECIFICATIONS
1.1 TYPICAL APPLICATIONS 101
1.2 PERFORMANCE RANGE 102
2. EVMS 1-3-5-10-15-20 200
2.1 PRODUCT FEATURES 201
2.2 PRODUCT SPECIFICATIONS 202
2.3 SHAFT SEAL 203
2.4 TYPE KEY and NAMEPLATE 204
2.5 PERFORMANCE RANGE 205
2.6 CURVE SPECIFICATIONS 206
2.7 SELECTION CHART 207
2.8 EVMS(L)1 209
EVMSG1 215
2.9 EVMS(L)3 221
EVMSG3 227
2.10 EVMS(L)5 233
EVMSG5 239
2.11 EVMS(L)10 245
EVMSG10 251
2.12 EVMS(L)15 257
EVMSG15 263
2.13 EVMS(L)20 269
EVMSG20 275
2.14 PACKING 281
3. EVM 32-45-64 300
3.1 PRODUCT FEATURES 301
3.2 PRODUCT SPECIFICATIONS 302
3.3 SHAFT SEAL 303
3.4 TYPE KEY and NAMEPLATE 304
3.5 PERFORMANCE RANGE 305
3.6 CURVE SPECIFICATIONS 306
3.7 SELECTION CHART 307
3.8 EVM(L)32 308
EVMG32 323
3.9 EVM(L)45 338
EVMG45 350
3.10 EVM(L)64 362
EVMG64 372
3.11 PACKING 382
4. MOTOR DATA 400
4.1 NOISE DATA 401
4.2 TECHNICAL MOTOR DATA 402
EVMS 1-3-5-10-15-20 402
EVM 32-45-64 403

@Click INDEX to jump CORRESPONDING SECTION

Rev B @ click g to go back to INDEX

EBARA Pumps Europe ® 5 EBARA

EBARA Pumps Europe reserves the right to make changes without prior notice




VERTICAL MULTISTAGE PUMP S

TYPICAL APPLICATIONS

INDUSTRY

BUILDING SERVICE

WATER SUPPLY

» Water treatment
reverse osmosis
ultra-filtration
water purification
micro-filtration
softening, ionizing and

demineralising systems

swimming pools
separators

Boiler feeding
steam systems
condensate systems

Wash and clean

vehicle washing systems
industrial part washing

laundry systems

supply of liquids with acids and
bases

supply of chemical liquids

Chilling

handling of refrigerants for cooling
thermal control systems

industrial cooling

laser cooling

« Machine tooling
cooling lubricant supply for tooling
machines

« Pressure boosting
pressure boosting for industrial use

* Food & beveage
food washing systems
bottle wash systems

« Pharmaceutical industries

« Marine applications
freshwater, deckwash, high fog and
fire fighting on ships

 Pressure boosting
pressure boosting for buildings
pressure boosting for high rise
buildings/hotels

* Sprinkler systems

« Fire fighting systems
jockey pump

« District heating
« Heat exchangers / fan heaters
« Air conditioning systems

* Heating systems

« Water treatment
water treatment plants filtration
water treatment plants transfer

« Pressure boosting
transfer from water treatment plants
(mains)

« Irrigation
golf course / sport fields irrigation

 Agriculture
sprinkler irrigation
drip irrigation

101

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

6OH2



60Hz

VERTICAL MULTISTAGE PUMP S

PERFORMANCE RANGE
EVMS(.)1-3-5-10-15-20
EVM(.)32-45-64

USgpm. 5 10 5 2 B 40 50 60 70 80 90100 120 140 160180200 250 300 350400 500 600
1 1 1 1 1 1 1 | 1 11 | 1 L1 1 1 | 1 1 1 |
T T T T T T J T T T 171 T T T 1T T T T T T
impgp.m. 5 10 52 0 40 50 60 70 80 90100 120 140 160180200 250 0 350400 500
404 400
p H 1200
MPa]
MPal 501 1M 39 E 100
3 5 1( 1 3 %0
25 250 ~ - e L - 800
T
i ! SUIEERESY, - 700
20 20 \ ! I -9 45 I
I | HN |
i N RN | L
15 150 3 rt 1 =\ N 50
Il ! I I ~
124 o = | 4 40
1 | (| —
10 100 J [ : 350
i E | : | - 300
08 & ! s i ! - 250
i P i i |
| " | -
06 & b E: i ARaANliL T 20
054 % | i ]
I} 0 ! | L 150
7 L . il iy
03 0 1 = T [ 0
I ~ i : i
’ 1 il %
1 1
I =~
02 2 == — ag. TR N
\|
0.15 15 = . N 50
N \
q 40
0.1 10
0.09-] 9 L5
008 8 %
0.07 7
0.06 6 —20
0.05- 5
910 52 0 4 50 60 80 100 120 150 200 250 300 400 500 600 700800 1000 1200 1500 2000 2500
Q [Vmin]
I T T T T T T T T 1T T T 1T T T T T T T T 1
1 15 2 3 4 5 6 7 891 12 14161820 25 D 4 5 60 7 100 Qlth]
100 T 7T T TTT T
i o g '4‘5‘ 6
j SRR
8 1 5 —20
% L
3 T T
I 5
60 1 N A ” o
e |
50 /7 _:,- ~
© P ’,ﬂ
0
20
910 5 2 0 4 5 60 80 100 120 150 200 250 300 400 500 600 700800 1000 1200 1500 2000 2500
Q[Umin]

102
EBARA Pumps Europe g ERARA

EBARA Pumps Europe reserves the right to make changes without prior notice




6OH2

VERTICAL MULTISTAGE PUMP S

EVIVIS

200

5 EBARA EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice




6OHZ

VERTICAL MULTISTAGE PUMP S EVM S

PRODUCT FEATURES

[General]
1. Pump Type
The EVMS is Non-self-priming, vertical multistage in line, centrifugal pumps.
2. Model range
The EVMS comes in 1,3,5,10,15 and 20 m3/h flow sizes for the majority market needs.
3.  Maximum operating pressure
The EVMS can be operated at 16 bar or 25 bar as  maximum.
4. Operating temperature range
The EVMS can be operated from - 30 to + 140 °C as the maximum.
5. Material options
AISI 304, AIS| 316 and Cast iron versions are available.
6. Motor

The EVMS can be coupled with the commercial motors that are acquired in the markets.
PTC sensor is available from 1.5 kW motor.

[Main Product Features]

1.

Innovative hydraulic solutions

« Commercial motors can be fitted to all of the pump models without any modifications thanks to low pump axial thrust
load.

 Low axial thrust load impeller can ensure long life of the motor bearing.

Energy saving

« High efficiency IE2 motor

e The VFD (Variable frequency drive) and the commercial sensor can be directly mounted on EVMS to maintain
physical constant operations  such as pumping pressure depending on the conditions of use.

Piping connection options

 The various pipe connections are available depending on the application requirements Oval flange / Round flange /
Loose flange / Victaulic® / Clamp

» The external dimensions can be adjusted to the replacement of the existing pump in the wide majority

Shaft seal solutions
« Silicon carbide inclusions with graphite can be used as dry lubricant to reduce friction.
« It's conforming to EN12756 (ex DIN 24960)

Easy maintenance

 The cartridge mechanical seal enables the plug in replacement of the shaft seal without disassembling the motor
bracket

» The spacer coupling allows easy maintenance without having to remove heavy motors over 5.5 kW.

Smart plug solutions
Air ventilation plug / Water filling & sensor plug / Commercial sensor fitting / Measurements for suction and discharge
pressure / drain

201

EBARA Pumps Europe g EBARA

EBARA Pumps Europe reserves the right to make changes without prior notice



EVMS

VERTICAL MULTISTAGE PUMP S

PRODUCT SPECIFICATIONS
EVMS(.)1-3-5-10-15-20

PUMP
Version EVMSG EVMS EVMSL
~ |Nominal flow rate (m¥h ) 1]3]s5]1w0]s5[20[ 1] 3] 5 10]15]20[2]3]5]10]15]20
Oez;&;;ng Maximum working pressure 1.6/2.5MPa (16 bar/ 25 bar)
Liquid temperature range -30°C to 140°C
Impeller EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
Intermediate casing EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
Liner ring EN 1.4301 (AISI 304) + PPS EN 1.44+0;F(>/;ISI 316)
Bottom casing Cast Iron | EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
Casing cover EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
EN 1.4301 (AISI 304) EVMSG / EVMS 1-3-10 , EVMSG / EVMS 5-15-20 (depend on models)
Shaft EN 1.4404 (AISI 316L) EVMSL 1-3-10 , EVMSL 5-15-20 (depend on models)
EN 1.4462 (AISI 329A) EVMSG / EVMS / EVMSL 5-15-20 (depend on models)
Key - -
Components Shaft sleeve bearing Tungsten carbide
Material Shaft Seal See the shaft seal options
O-ring EPDM o o 6 6 6 606 6 6 6 6 06/ 06 06 6 0 o o
FPM O|O0]O0O]O0O]J]O|JO|JO]O]O]O|O|O|JO]O]O]|0O]0O]|O
Outer casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
Motor Bracket Cast Iron
Tie rod Galvanized steel 6.8 strength class ISO 898/1
. up to 4 kW Die cast aluminium
Coupling
from 5.5 kW Cast Iron
Base Cast Iron Die cast aluminium
Oval flange up to 16 bar [ BN BN AN BN BN BN NN BN NN BN BN BN NN NN NN NN NN J
Round flange up to 16 bar O|0|O0|O|O|O|O]|O|O|O|O|O|O|O]|0O]|]O]O]|O
) (DIN) from 16 bar to 25 bar (AN BN AN BN BN A BN AN BN BN BN NN BN BN BN BN BN )
con':f:tion Loose round flange up to 16 bar 0]|0]|0|0O|O0|O|O|O|O]O|O]|O
(DIN) from 16 bar to 25 bar ololo|lololo|lo|lo|lo|lo|ol|o
Victaulic® up to 16/25 bar olo|lo|]o|o|o|lo|lo|O|lO|O|O
Clamp up to 16/25 bar olo|lo|]o|o|o|lo|lOo|O|lO|O|O
Legend: @ Standard O Options
MOTOR
Frequency 60 Hz
Phase Three Phase
St Rotation speed = 3500 min-1
SOUrCe  Ipoyer rating 037185 kw
0.5+25 HP
Voltage 220/380 +10% V (up to 4kW) 265/460 +10% V (up to 4kW)
380/660 + 10% V (above 5.5 kW) 460 +10% V (above 5.5 kW)
Type Electric - TEFC
- from 0.37 up to 0.55 kW
Efficiency Level IE2 from 0.75 up to 4.0 KW (220-380V / 265-460V)
Type IE2 above 5.5 kW (380-660V / 460V)
No° of poles 2
Protection degree IP 55
Insulation Class F (temperature rise class B)
Thermal Protection PTC is available for the above 1.5 kW
Others Casing Material Aluminium
Flange mount (IEC motor) III\/IMBBSJ-([::\S;)’\)/?S[.‘SKIY\\II\)I)

202

= EaanA

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

6OH2



6OHZ VERTICAL MULTISTAGE PUMP S EVMS

SHAFT SEAL
EVMS(.)1-3-5-10-15-20

1. Shaft Seal
d4 d4

—
]
]
S8
-
]
-
L

I
w =~ NN W

(8
A W a2 N W

up to 16 bar from 16 to 25 bar
Cartridge Unbalanced type Cartridge Balanced type

2. Type of Shaft Seal and Dimensions [mm]

Pump model Shaft seal type Shaft seal material
Max operating Cartridge 1 2 3 4 5
Max operating temperature ; . Type key
[FIERHIAS Unbalanced | Balanced Rotating Part Code SRR Code | Elastomers | Code Comprfessmn Collar | Code
Part spring
-30°C to +120°C [ ] SiC (Q1) | Carbon (B) EPDM (E) AISI 316 (G) Q1BEG
-30°C to +80°C (@] SiC (Q1) | Carbon (B) FPM (%] AISI 316 (G) Q1BVG
upto 16 bar | -30°C to +140°C (@] SiC with graphite | (Qg) SiC Q) EPDM (E) AISI 316 (G) HQ9Q1EG
-30°C to+80°C (@] SiC with graphite | (Qg) SiC Q) FPM (%] AISI 316 (G) HQgQ1VG
-30°C to +140°C (@] SiC (Q1) | Carbon (B) EPDM (E) AISI 316 (G) HQ1BEG
-30°C to +140°C [ ] SiC (Q1) | Carbon (B) EPDM (E) AISI 316 (G) HQ1BEG
from 16 bar -30°C to+80°C (@] SiC (Q1) | Carbon (B) FPM (%] AISI 316 (G) HQ1BVG
to25bar | 350 to+140°C o SiC with graphite | (Qg)| sic | Q| EPDM | (B AISI 316 @) | Hos:EG
-30°C to +80°C (@] SiC with graphite | (Qg) SiCc (Q1) FPM V) AISI 316 (G) HQyQ1VG
® standard O options
Shaft seal Max operating d1 d2 a3 d4 '
Pump model I, ——
yp 2 u [mm] [mm] [mm] [mm] [mm]
Unbalanced 16 bar - 35
EVMS 1/3/5 Cartridge 16 23 27
Balanced 25 bar 20 425
Unbalanced 16 bar - 375
EVMS 10/15/20 Cartridge 20 29 35
Balanced 25 bar 24 45

203
EBARA Pumps Europe g EBARA

EBARA Pumps Europe reserves the right to make changes without prior notice




EVMS

VERTICAL MULTISTAGE PUMP S

TYPE KEY

EVMS(.)1-3-5-10-15-20

[Evws [ 1[5 121 J[F1[6]1[ J[aeea] [E]C 71075 [
Phase motor
null = 3 phase
Motor in kW _ pag.402
|__|Code for rubber parts
V = FPM (Viton)
E = EPDM
4| Code for shaft seal materials _ pag.203
Pole
Null = 2 pole
Frequency
6 =60 Hz
Code for pipe connection
F = Round flange
N = Oval flange
LF = Loose round flange
V = Victaulic® connection
C = Clamp connection
Code for pump version
null = standard version
| Number of impellers
|Space
Flow rate [m3/h]
113|5|10|15]20
Code for model series
null = AIS| 304 version
L = AISI 316 version
G = Cast Iron version
| Series name
Example for pump without motor Example for pump with motor
EVMS5 2F6Q1BEGE EVMS5 2F6Q1BEGE/0.75
NAMEPLATE
P.IVA 01234660221 l) “TYPE pump model
% \EMW c € 2) Q" Indicates upper and lower flow rate limits
38023 Cles (TN) - ITALY  MADE IN ITALY 3) “H Indicates head limits corresponding to minimum and maximum flow rate
TYPE @ 4)  “Hmax Maximum head
. 5) “Hmin Minimum head
O ‘Hmax @ m | @ m ‘ O 6) “P2” Rated power of the motor (output at shaft)
@ @ limin |H ® m 7)  “HP” Rated power of the motor expressed in HP (Horse Power)
RO Wh [min* (8) 8) “Hz' Frequency
s @ P 9) “min-1 Speed of rotation
10) “P/N°®” Pump item number
Me> () L0 L 11)  “MEI" Index of the pump’s quality in relation to its efficiency
12)  “Hyd. Eff Hydraulic efficiency of the pump

204

= EaanA

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

6OH2



60Hz

VERTICAL MULTISTAGE PUMP S EVM S

40 400
p H
[MPa] 30 [m] w0
25+ 250
2.0 200
15 150
124 120
1.0+ 100
0.8 80
0.6 - 60
0.5
0.4 4O
0.3 30
0.2 20
0.15 15
0.1 10
0.09 9
0.08 8
0.07 7
0.06 — 6
0.05 - 5

[l

205

PERFORMANCE RANGE
EVMS(.)1-3-5-10-15-20

uSgpm. 5 10 15 20 kY 40 50 80 70 80 90100 120 140 160180200 250 300 350 400 500 600
1 IR Y N I A Y Y Y I O NN N |

!
T T T T T T — T T T T 1 T T T T T T 1 1
Imp.g.p.m. 5 10 15 20 30 0 5 70 80 90100 120 140 160180200 250 300 350400 500

1200

1000 1

i B

- 800

mh - 700
U

— 600

500

— 400

- 350

— 300

250

— 200

150

w
3]
e g e e P e
Q
-
(2,
—1
N
.___IQ_________ Sy =
w
N
o
o
(o]
N

i

— N \ 50

- 4

—30

25

—20

9 10 15 20 30 40 5 60 80 100 120 150 200 250 300 400 500 600 700 800 1000 1200 1500 2000 2500

Q[Vmin]
T T TT T T 1T T T T T T T T 1
1 15 2 3 4 5 6 7 891 1214161820 25 0 40 50 6 70 100 QUi

4511164

-—
[
N
I'l
o—
\

2 o o

9 10 15 20 30 4 5 60 80 100 120 150 200 250 300 400 500 600 700 800 1000 1200 1500 2000 2500

Q [/min]

EBARA Pumps Europe g ERARA

EBARA Pumps Europe reserves the right to make changes without prior notice



EVM S VERTICAL MULTISTAGE PUMP S 60+

CURVE SPECIFICATIONS

The specifications below qualify the curves shown on the following pages.

Tolerances according to 1ISO 9906:2012 - Grade 3B.

The curves refer to effective speed of asynchronous motors at 60 Hz, 2 poles.

Measurements were carried out with clean water at 20°C of temperature and with a kinematic

viscosity of v =1 mm?/s (1 cSt).

The NPSH curve is an average curve obtained in the same conditions of performance curves.

During the pump selection, consider to get a safety margin of at least 0.5 m.

The continuous curves indicate the recommended working range. The dotted curve is only a guide.

In order to avoid the risk of over-heating, the pumps should not be used at a flow rate below 10% of best
efficiency point.

Symbols explanation:

Q = volume flow rate

H = total head

P, = pump power input (shaft power)

n = pump efficiency

NPSH = net positive suction head required by the pump

206
5 EBARA EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice




6OHZ VERTICAL MULTISTAGE PUMP S EVMS

SELECTION CHART

EVMS()1-3-5
Maximum Q=Capacity
Pump Type Motor working |l/min 0] 13 25 48 50 75 90 | 120 | 160
kW | HP Size | pressure |m3h 0| 0.8 15 2.9 3.0 4.5 5.4 7.2 9.6
Three phase (MPa) H=Total manometric head in meters
EVMS(.)1 2/0.37 0.37| 0.5 71 17.2 16.4 15 10.3 - - - - -
EVMS(.)1 3/0.37 0.37]| 05 71 25.8 246 | 225 | 155 - - - - -
EVMS(.)1 4/0.37 0.37]| 05 71 34.5 32.7 | 30.0 | 20.6 - - - - -
EVMS(.)1 5/0.37 0.37| 0.5 71 43.1 40.9 375 | 254 - - - - -
EVMS(.)1 6/0.55 0.55] 0.75 71 515 49.1 45 31 - - - - -
EVMS(.)1 7/0.55 0.55| 0.75 71 60.5 57.5 525 | 36.1 - - - - -
EVMS(.)1 8/0.75 075] 1 80 69 65.5 60 415 - - - - -
EVMS(.)1 9/0.75 075 1 80 1.6 77.5 735 | 675 | 46.5 - - - - -
EVMS(.)1 10/0.75 075 1 80 86 82 75 51.5 - - - - -
EVMS(.)1 11/1.1 11] 15 80 94.5 90 82.5 57 - - - - -
1 EVMS(.)1 12/1.1 11 ] 15 80 103 98 90 62 - - - - -
EVMS(.)1 13/1.1 11115 80 112 106 97.5 67 - - - - -
EVMS(.)1 14/1.1 11| 15 80 121 115 105 | 725 - - - - -
EVMS(.)1 16/1.5 15 2 90 S 138 131 120 | 82.5 - - - - -
EVMS(.)1 18/1.5 15 2 90 S 155 147 135 93 - - - - -
EVMS(.)1 20/1.5 15 2 90 S 172 164 150 | 103 - - - - -
EVMS(.)1 22/2.2 2.2 3 90 L 190 180 165 | 114 - - - - -
EVMS(.)1 24/2.2 2.2 3 90 L 25 207 196 180 | 124 - - - - -
EVMS(.)1 26/2.2 2.2 3 90 L 224 213 195 | 134 - - - - -
EVMS(.)1 27/2.2 2.2 3 90 L 233 221 202 139 - - - - -
EVMS(.)1 29/2.2 2.2 3 90 L 250 237 217 150 - - - - -
EVMS(.)3 2/0.37 0.37] 05 71 214 - 205 | 189 | 18.7 | 155 | 124 - -
EVMS(.)3 3/0.55 0.55] 0.75 71 32.1 - 30.7 | 28.3 28 23.3 | 18.6 - -
EVMS(.)3 4/0.75 075] 1 80 43 - 41 37.7 | 374 31 24.8 - -
EVMS(.)3 5/0.75 075 1 80 53.5 - 51 47 46.5 | 38.8 31 - -
EVMS(.)3 6/1.1 11| 15 80 64.5 - 61.5 | 56.5 56 46.5 | 37.2 - -
EVMS(.)3 7/1.1 11] 15 80 75 - 71.5 66 65.5 | 545 | 435 - -
EVMS(.)3 8/1.5 1.5 2 90 S 16 85.5 - 82 755 | 745 62 49.5 - -
EVMS(.)3 9/1.5 15 2 90 S 96.5 - 92 85 84 69 56 - -
EVMS(.)3 10/1.5 15 2 90 S 107 - 102 | 945 | 935 | 775 62 - -
EVMS(.)3 11/2.2 2.2 3 90 L 118 - 113 | 104 | 103 | 85.5 68 - -
3 EVMS(.)3 12/2.2 2.2 3 90 L 129 - 123 | 113 112 | 93.0 | 745 - -
EVMS(.)3 13/2.2 2.2 3 90 L 139 - 133 | 123 122 101 | 80.5 - -
EVMS(.)3 14/2.2 2.2 3 0L 150 - 143 | 132 131 109 | 86.5 - -
EVMS(.)3 15/3.0 3.0 4 100 L 161 - 154 142 140 116 93 - -
EVMS(.)3 16/3.0 3.0 4 100 L 172 - 164 | 151 150 | 124 99 - -
EVMS(.)3 17/3.0 3.0 4 100 L 182 - 174 | 160 159 | 132 105 - -
EVMS(.)3 19/3.0 3.0 4 100 L 204 - 195 179 178 147 118 - -
EVMS(.)3 20/3.0 3.0 4 100 L 25 214 - 205 | 189 187 155 | 124 - -
EVMS(.)3 21/4.0 40 | 55| 112M 225 - 215 | 198 196 | 163 | 130 - -
EVMS(.)3 22/4.0 40| 55| 112M 236 - 225 | 208 | 206 | 171 136 - -
EVMS(.)3 23/4.0 40 | 55| 112M 247 - 235 | 217 | 215 | 178 | 143 - -
EVMS(.)5 2/0.75 0.75| 1 80 27.6 - - - 26.1 | 246 | 23.4 | 204 | 146
EVMS(.)5 3/1.1 11] 15 80 41.4 - - - 39.2 | 369 | 351 | 30.6 | 219
EVMS(.)5 4/1.5 1.5 2 90 S 55 - - - 52.5 49 47 40.5 | 29.3
EVMS(.)5 5/2.2 2.2 3 90 L 69 - - - 65.5 | 615 58 51 36.6
EVMS(.)5 6/2.2 2.2 3 90 L 83 - - - 78.5 74 70 61 44
EVMS(.)5 7/3.0 3.0 4 100 L 1.6 96.5 - - - 91.5 86 82 71.5 51
EVMS(.)5 8/3.0 3.0 4 100 L 110 - - - 105 | 985 | 93,5 | 81.5 | 585
EVMS(.)5 9/3.0 3.0 4 100 L 124 - - - 118 111 105 | 915 66
5 EVMS(.)5 10/4.0 40| 55| 112M™M 138 - - - 131 123 | 117 | 102 73
EVMS(.)5 11/4.0 40 | 55| 112M 152 - - - 144 | 135 | 129 | 112 | 80.5
EVMS(.)5 12/4.0 40 | 55 | 112 M 166 - - - 157 148 140 122 88
EVMS(.)5 13/5.5 55| 75| 132S 179 - - - 170 160 152 132 95
EVMS(.)5 14/5.5 55| 75| 132S 193 - - - 183 172 164 | 143 102
EVMS(.)5 15/5.5 55| 75| 132S 25 207 - - - 196 | 185 | 175 | 153 | 110
EVMS(.)5 16/5.5 55| 75| 132S ' 221 - - - 209 197 187 163 117
EVMS(.)5 17/7.5 75| 10 | 132S 235 - - - 222 | 209 | 199 | 173 | 124
EVMS(.)5 19/7.5 75| 10 | 132S 262 - - - 248 | 234 | 222 | 194 | 139

1.6 MPa=16 bar ; 2.5 MPa=25 bar

207
EBARA Pumps Europe g EBARA

EBARA Pumps Europe reserves the right to make changes without prior notice




EVMS

VERTICAL MULTISTAGE PUMPS

SELECTION CHART

EVMS(.)10-15-20

Maximum Q=Capacity
Pump Type Motor working [Umin 0| 90 | 120 | 160 | 170 | 200 | 220 | 250 | 300 | 350 | 400 | 440 | 500
kW | HP | size | pressure [meh o 54 | 72 | 96 | 102 | 120 | 132 15 | 18 | 21 | 24 | 264 | 30
Three phase (MPa) H=Total manometric head in meters
EVMS()101/0.75 | 0.75] 1 | 80 16 | 156 153 | 144 [ 141 ] 13 | 121] 106 | 74 | - - - -
EVMS()10 2/1.5 15| 2 | 90s 32 [311]307 289282 261 | 243 211 | 148 - - - -
EVMS()10 3/2.2 22| 3 | 9oL 48 | 465 | 46 | 433 | 424 391 | 364 | 317 | 222 - - - -
EVMS()10 4/3.0 30| 4 [ 100L 64 | 62 | 615 | 58 | 565| 52 | 485| 42 | 296 - - - -
EVMS()10 5/4.0 40|55 | 112m]| 80 [ 775|765 | 72 [ 705| 65 | 605 525 | 37 - - - -
EVMS()10 6/4.0 40 [ 55| 112M 96 | 935| 92 [ 865 85| 78 | 73 | 635 | 445 - - - -
EVMS()10 7/5.5 55| 7.5 | 132S 112 | 109 | 107 | 101 | 99 | 91 | 85 | 74 | 52 - - - -
10 | EvMS()108/5.5 55| 7.5 | 132S 128 | 125 | 123 | 115 | 113 | 104 | 97.1 | 845 | 59 - - - -
EVMS()10 9/5.5 55| 7.5 | 1328 144 | 140 | 138 | 130 | 127 | 117 | 109 | 95 | 665 - - - -
EVMS()1010/75 | 75| 10 | 13828 160 | 156 | 153 | 144 | 141 | 130 | 121 | 106 | 74 - - - -
EVMS()1011/75 | 75| 10 | 13828 176 | 171 | 169 | 159 | 155 | 143 | 134 | 116 | 815 - - - -
EVMS()1012/75 | 75| 10 | 13828 192 | 187 | 184 | 173 | 170 | 156 | 146 | 127 | 89 - - - -
EVMS()10 14/11 11 | 15 [160M| 25 224 | 218 | 215 | 202 | 198 | 182 | 170 | 148 | 104 | - - - -
EVMS()10 15/11 11 | 15 | 160M 240 | 233 | 230 | 216 | 219 | 195 | 182 | 158 | 111 | - - - -
EVMS()10 16/11 11 | 15 | 160M 256 | 249 | 245 | 231 | 226 | 208 | 194 | 169 | 118 | - - - -
EVMS()15 1/1.5 15| 2 | 908 217 | - - - | 191 | 184 | 180 | 174 | 158 | 142 | 121 | 99 | -
EVMS()15 2/3.0 30| 4 | 100L 436 | - - - |40 | 391 | 386 | 37.9 | 365 347 | 317 | 282 | -
EVMS()15 3/5.5 55| 75 | 1328 654 | - - - |60 | 585 | 58 | 57 |545| 52 | 475 | 425 | -
EVMS()15 4/7.5 75| 10 [ 132s| 16 87 - - - |'so5| 785 | 78 | 76 | 73 | 69 | 635 | 565 | -
EVMS()15 5/7.5 75| 10 | 1328 109 - - - | 100 98 |965| 95 | o1 | 865 | 795 | 705 | -
15 | _EVMS()15 6/11 11 | 15 | 160M 131 - - - | 120 | 117 | 116 | 114 | 109 | 104 | 955 | 845 | -
EVMS()15 7/11 11 | 15 | 160M 153 - - - | 141 ] 137 | 135 | 133 | 128 | 121 | 111 | 99 | -
EVMS()15 8/15 15 | 20 | 160M 174 - - - | 161 | 157 | 154 | 152 | 146 | 138 | 127 | 113 | -
EVMS()15 9/15 15 | 20 | 160M 196 - - - | 181 | 176 | 174 | 171 | 164 | 156 | 143 | 127 | -
EVMS()1510/15 | 15 | 20 [ 160M | 25 218 - - - | 201 ] 196 | 193 | 190 | 182 | 173 | 159 | 141 | -
EVMS()1511/185 | 185] 25 | 160L 240 - - - | 221 ] 215 | 212 | 208 | 201 | 190 | 175 | 155 | -
EVMS()1512/18.5 | 185] 25 | 160L 262 - - - | 241 | 235 | 232 | 207 | 219 | 208 | 190 | 169 | -
EVMS()20 1/2.2 22| 3 | 9oL 280 | - - - - - | 232 | 224 | 209 189 | 167 | 147 | 106
EVMS(.)20 2/4.0 40 ] 55| 112M 295 | - - - - - [ 445] 44 [425]| 41 | 394 | 375 328
EVMS()20 3/7.5 75| 10 [ 1328 | ¢ 74 - - - - - 67 | 655 | 64 | 615 | 59 | 56 | 49
EVMS()20 4/7.5 75| 10 | 1328 99 - - - - - [ 85| 875 | 85 | 82 79 | 75 | 655
20 |_EVMS()205/11 11 | 15 | 160M 124 - - - - - [ 122] 110 [ 106 | 103 | 985 | 935 82
EVMS(.)20 6/11 11 | 15 | 160M 148 - - - - - [ 13a ] 131 [ 128 | 123 | 118 | 112 | 985
EVMS(.)20 7/15 15 | 20 | 160M 173 - - - - - | 186 | 153 [ 149 | 144 | 138 | 131 | 115
EVMS(.)20 8/15 15 [ 20 [160M| 198 - - - - - 179 | 175 [ 170 | 164 | 158 | 150 | 131
EVMS()209/185 | 185| 25 | 160L 223 - - - - - 201 | 197 [191 | 185 | 177 | 169 | 148
EVMS()2010/185 | 185] 25 | 160 L 247 - - - - - | 223 | 219 | 213 | 206 | 197 | 187 | 164

1.6 MPa=16 bar ; 2.5 MPa=25 bar

208

= EaanA

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

6OH2



6OHZ

VERTICAL MULTISTAGE PUMP S

EVMS

280
p H
[MPa] m]
24
240
207 5
LI T
129 12
08— 80
04— 40
0- 0
010
P2
[KW] 008
008
oM
NPSH 5
[m]
3

209

PERFORMANCE CURVE

EVMS(L)1
0 USgpm. 2 4 6 8 10 12 14
| | | | | | | |
[ I I I [ I
0 Imp.g.pm. 2 4 6 8 10 12
I~ 900
H
2902w | g M
‘ N
- N
2722 1w —
I~ T26/220w—— | TF S~
] \k\‘: ~— — 700
[~ T24/2.2kw-. ~—
‘ T \:\\ \\
[ T22k2w— | ~~——_ NN \ L 600
~— T~ N
T— N
::20‘/1.5‘kws\ \\\ N \\\\\
—— e ~_ >R
~——
~T18Msw | B N ~D N - 500
] —_ ~—_ N\
N \
~ T16Msmw— | _ —— ~ h
‘ T \\\ ‘\ \\ \ 400
14/1.1 W T— B
=S 3‘;1 1 ‘x — -\"\ \\ \\\ N
B _— _+ —— \\ ~ N
——1 2:/ 14 :kW 1 1 _'_:\\ :\ \\\\\\\1
— e |y T T~ ™~ - 30
I~ 710/0.750w — 4 . T — T \\\\\ N
::9/\075 \k W= 1 —— ~‘~\\:\\\\\>
= —8/ 9.75 ‘kW—— T ‘\\\ \\\\:\\(
—_ ] — P— — 200
e ——
=+ .55 kW } —
— —5/0.37 kW= — ]
| | v
— _—4/0.37 KW—— —— } —_§\\\: 100
Pl —
[~ T3anwT - — —]
— —2/o.37 L
0
0 10 20 30 40 50 Q [V/min]
[ I I I I I | A
0 05 1 15 2 25 3 Q[mh
60
n
//
—— n% 0 M
_—
-
/’/
— 20
SINGLE IMPELLER kW
e i .
0 10 20 30 40 50 Q [I/min]
|15 NPSH
~ (ff
~—— 10
5
0 10 20 30 40 50 Q [Vmirg

Rotation speed =3500 min-1

Test standard: 1ISO 9906:2012 - Grade 3B

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

= TVTY



EVM S VERTICAL MULTISTAGE PUMPS 60+

TECHNICAL DATA
EVMS(L)1

Dimensional sketch

Oval flange (N) DIN Loose round flange (LF) - DN25 Victaulic® connection (V )
c
4 holes 214
s J 2T s [
g i I 638 %_ |
? W) | 2 ;
x e M~ - L L ‘
kd 100 li 4 holes 212 285 g m
149 180 210
A G3s 250 210

DIN Round flange (F) - DN25
4 holes 214

H2

2 holes M10

e
s
H2
1
144
f
225
64
2115

B 2 U B
100 4 holes 12 S 100 16 4 holes 212 1285
140 149 180
160 210 250 210
Dimensions [mm] and Weights [Kg]
Loose round flange (LF) Victaulic® connection (V)
Motor Oval flange (N) Round flange (F) Clamp connection (C)
. Weight . Weight . Weight
Pump Type [PMrr;’az; kw Size A 8- H2 \gs:ﬁ? Pum?) + H2 Vgs:ggt Pumgp + H2 Vgsgzl Pumgp +
B C H3 Motor Motor Motor
EVMS(L)1 2/0.37 1.6 0.37 71 2105|139 114 216 250 10 15.8 275 10.7 16.5 250 10 15.8
EVMS(L)1 3/0.37 1.6 0.37 71 2105|139 114 216 271 10.5 16.3 296 11.2 17 271 10.4 16.2
EVMS(L)1 4/0.37 1.6 0.37 71 2105|139 114 216 292 10.9 16.7 317 11.6 17.4 292 10.8 16.6
EVMS(L)1 5/0.37 1.6 0.37 71 2105|139 114 216 313 11.4 17.2 338 12 17.8 313 11.3 17.1
EVMS(L)1 6/0.55 1.6 0.55 71 2105|139 114 216 334 11.8 18 359 12.4 18.6 334 11.7 17.9
EVMS(L)1 7/0.55 1.6 0.55 71 2105|160 139 232 355 12.5 18.7 380 13.1 19.3 355 12.4 18.6
EVMS(L)1 8/0.75 1.6 0.75 80 2120 | 160 139 232 386 12.9 22.4 411 13.6 23.1 386 12.8 22.3
EVMS(L)1 9/0.75 1.6 0.75 80 2120 | 160 139 232 407 13.3 22.8 432 14 235 407 13.3 22.8
EVMS(L)1 10/0.75 1.6 0.75 80 2120 | 160 139 232 428 13.8 233 453 14.4 23.9 428 13.7 23.2
EVMS(L)1 11/1.1 1.6 11 80 2120 | 160 139 232 449 14.2 25.3 474 14.9 26 449 14.1 25.2
EVMS(L)1 12/1.1 1.6 11 80 2120 | 160 139 232 470 14.6 25.7 495 15.3 26.4 470 14.6 25.7
EVMS(L)1 13/1.1 1.6 11 80 2120 | 160 139 232 491 15.3 26.4 516 16 27.1 491 15.3 26.4
EVMS(L)1 14/1.1 1.6 11 80 2120 | 160 139 232 512 15.7 26.8 537 16.4 275 512 15.7 26.8
EVMS(L)1 16/1.5 1.6 15 90S | 2140180 148 267 564 16.7 29.4 589 17.4 30.1 564 16.7 29.4
EVMS(L)1 18/1.5 1.6 15 90S | 2140|180 148 267 606 17.6 30.3 631 18.3 31.0 606 17.6 30.3
EVMS(L)1 20/1.5 25 15 90S | 2140180 148 267 - - - 673 19.2 31.9 648 18.5 31.2
EVMS(L)1 22/2.2 25 2.2 90L | 2140|180 148 267 - - - 715 20.6 36.6 690 19.9 35.9
EVMS(L)1 24/2.2 25 2.2 90L | 2140|180 148 267 - - - 757 21.6 37.6 732 20.9 36.9
EVMS(L)1 26/2.2 25 2.2 90L | 2140|180 148 267 - - - 799 225 38.5 774 21.8 37.8
EVMS(L)1 27/2.2 25 2.2 90L | 2140|180 148 267 - - - 820 23 39 795 223 38.3
EVMS(L)1 29/2.2 2.5 2.2 90L | 9140|180 148 267 - - - 862 23.9 39.9 837 23.2 39.2

1.6 MPa=16 bar ; 2.5 MPa=25 bar
- not available model

210
EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

ESARA



6OHZ VERTICAL MULTISTAGE PUMP S EVMS

SECTIONAL VIEW

EVMS(L)1
140
128-6
39-1 a 1356
162 120-6
131-1 S —— N A \\\
130-2 » _ ‘ |
130-1 \ < | / 212
120-3 ‘ aah s
245 i 1114
128-1 Xl ) 120-13
135-1 2], g 111-3
0 )
212-2 5 ] 115-5
4 i 1115
111
46
&: 47
k M 54
N v:\‘ 7
433 Ny T 52
52-1 N - 5-3
44-1 N Z 31
43-7 T N 21
™~ L 5-1
™ - 107
2731
75-1
48 212-1
120-11 T—— 160
1156-3 128-5
219 /
with Oval flange (N)
211
EBARA Pumps Europe % ERARA

EBARA Pumps Europe reserves the right to make changes without prior notice



6OHZ

VERTICAL MULTISTAGE PUMPS

EVMS

PIPE CONNECTION
EVMS(L)1

O

Bl

:

P

%

with Round flange (F)

with Loose round flange (LF)

with Clamp connection (C)

with Victaulic® connection (V)

212

EBARA Pumps Europe

= EaanA

tice

right to make changes without prior no

the

EBARA Pumps Europe reserves



6OHZ

VERTICAL MULTISTAGE PUMP S

EVMS

SECTIONAL TABLE

EVMS(L)1
N° PART NAME MATERIAL DIMENSIONS | STANDARD
EVMS EVMSL
4 Casing cover EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
5-1 Suction casing EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
5-2 Intermediate Casing EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
5-3 Intermediate casing bearing EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
5-4 Discharge casing EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
6 Bottom casing EN 1.4308 (AISI 304) EN 1.4408 (AISI 316)
7 Outer casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
21 Impeller EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
31 Shaft EN 1.4301 (AISI 304) EN 1.4404 (AIS| 316L)
32-1 Adjuster Key EN 1.4301 (AISI 304)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
43-5 Shaft sleeve (last stage) EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
43-7 Spacer EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
44-1 Shaft sleeve bearing Tungsten carbide
45 Flange holder EN 1.4301 (AISI 304)
46 Ring (mechanical seal) EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
47 Ring Holder EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
48 Impeller nut A2-70 UNI 7323 with inox insert A4-70 UNI 7323 with inox insert M8
52-1 Bearing Tungsten carbide
75 O-Ring (plug) EPDM D. 12.37x2.62 OR 3050
75-1 O-Ring (plug) EPDM
107 Liner ring EN 14301 (AISI 304) + PPS | EN 1.4401 (AISI 316) + PPS
111 Mechanical Seal SiC/Carbon/EPDM
111-3  |Mechanical seal seat EN 1.4301 (AISI 304) ‘ EN 1.4401 (AISI 316)
111-4  |Seal holder EN 1.4301 (AISI 304)
111-5 |Mechanical seal cartridge EN 1.4301 (AISI 304) ‘ EN 1.4401 (AISI 316)
115-1 |O-Ring (outer casing) EPDM D. 129.54x5.34| OR 6510
115-3 |O-Ring EPDM
115-4 |O-Ring (cartridge sleeve) EPDM D. 11.91x2.62 OR 115
115-5 |O-Ring (seal cover) EPDM D.32.99x2.62 OR 3131
120-1 |Tie-rod Galvanized steel 6.8 strenght class ISO 898/1 M10
120-3  |Screw A2-70 UNI 7323 M4x10 1SO 4762
120-6  |Screw for coupling Galvanized steel M6x25 1SO 4762
120-11 |Screw for counterflange A2-70 UNI 7323
120-13 |Screw for motor MEC 71-80 Galvanized steel 8.8 strenght class ISO 898/1 M6x20 ISO 4017
MEC 90 M8x20 1SO 4017
128-1  [Nut for tie rod Galvanized steel M10 UNI 5588
128-5 |Nut for tie rod A2-70 UNI 7323 M10 UNI 7474
128-6  |Nut for coupling Galvanized steel M6 1ISO 4032
130-1 |Set screw A2-70 UNI 7323 M5x8 UNI 5923
130-2 |Screw for coupling guard A2-70 UNI 7323 M5x6 UNI 7687
131-1 |Pin for shaft Carbon Steel D. 4x32 UNI 4838
135-1 |Washer Galvanized steel D. 10.5x21x2 UNI 6592
135-6 |Washer Carbon Steel a6
137-1  |Impeller spacer EN 1.4301 (AISI 304) ‘ EN 1.4401 (AISI 316)
140 Coupling up to 4.0 kW Die cast Aluminium EN AB-AISI11Cu2 (Fe)
160 Base Die cast Aluminium EN AB-AISI11Cu2 (Fe)
162 Motor bracket Cast iron EN-GJL-200-EN 1561
212 Plug EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) G 3/8
212-1 |Plug EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) G 3/8
212-2  |Venting plug EN 1.4404 (AISI 316L)
219 Counter flange EN 1.4301 (AISI 304) ‘ EN 1.4401 (AISI 316)
245 Coupling guard EN 1.4301 (AISI 304)
273-1  |Plug Washer EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
615 Flange Nodular Cast Iron

213

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

= TVTY




6OHZ

VERTICAL MULTISTAGE PUMP S

EVMS

QUANTITY FOR MODEL

EVMS(L)1

115-4} 1155

11
13
15
17
19
21

20
22
26
30
34
38
42

46

48

52

1
1
1
1
1
1
1
1
1
1
1
1
1

1
1
1
1
1
1
1
1

1113

111 4

1f1 5

1(1 8

1f1/ 9

1j1/12)1
171113} 1

1(1/20}1
111122} 1

1j1/27)1
11112911

1(1(1}]2

1
1
1

1(1(1}6
1(1j1}7
1
1

1(1(1/10/1
1(1j1)11}1

1
1

1(1(1/14}1
1(1j1)16}1
1(1]1/18]1

1
1

1(111)24}1
1(1]1)26]1

1
1

1

1
1

1
1
1
2
2
2
2
2
2
2
2
2
2

4

10
10
11
13
15
17
19
21
23
24
26

1

1
1

1

1
1
1
1
1
1
1
1
1
1
1

4151152|535-4|6|7|21}31|32-1|43-2}43-3|43-5| 43-7|44-1| 45**1 46 47| 48| 52-1| 75| 75-1| 107 | 111| 111-3| 111-4| 111-5| 115-1 | 115-3*

1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1

245| 273-1| 615**

120-13| 128-1 | 128-5} 128-6 | 130-1| 130-2 | 131-1| 135-1 | 135-6| 137-1| 140| 160| 162 | 212 | 212-1| 212-2 | 219*

120-1} 120-3 | 120-6 | 120-11*

4

4
4

4

Pump Type

EVMS(L)1 2/0.37

EVMS(L)1 3/0.37

EVMS(L)1 4/0.37

EVMS(L)1 5/0.37

EVMS(L)1 6/0.55

EVMS(L)1 7/0.55

EVMS(L)1 8/0.75

EVMS(L)1 9/0.75

EVMS(L)1 10/0.75
EVMS(L)1 11/1.1

EVMS(D)1 12/1.1

EVMS(L)1 13/1.1

EVMS(L)1 14/1.1

EVMS(L)1 16/1.5

EVMS(L)1 18/1.5

EVMS(L)1 20/1.5

EVMS(L)1 22/2.2

EVMS(L)1 24/2.2

EVMS(L)1 26/2.2

EVMS(D)1 27/2.2

EVMS(L)1 29/2.2

Pump Type

EVMS(L)1 2/0.37

EVMS(L)1 3/0.37

EVMS(L)1 4/0.37

EVMS(L)1 5/0.37

EVMS(L)1 6/0.55

EVMS(L)1 7/0.55

EVMS(L)1 8/0.75

EVMS(L)1 9/0.75

EVMS(L)1 10/0.75
EVMS(L)1 11/1.1

EVMS(L)1 12/1.1

EVMS(D)1 13/1.1

EVMS(L)1 14/1.1

EVMS(L)1 16/1.5

EVMS(L)1 18/1.5

EVMS(L)1 20/1.5

EVMS(L)1 22/2.2

EVMS(L)1 24/2.2

EVMS(L)1 26/2.2

EVMS(L)1 27/2.2

EVMS(L)1 29/2.2

* only for Oval flange (N)

** only for Loose round flange (LF)

214

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice




6OHZ

VERTICAL MULTISTAGE PUMP S

EVMS

280
p H
[MPa] m]
24
240
207 5
LI T
129 12
08— 80
04— 40
0- 0
010
P2
[KW] 008
008
oM
NPSH 5
[m]
3

215

PERFORMANCE CURVE

EVMSG1
0 USgpm. 2 4 6 8 10 12 14
| | | | | | | |
[ I I I [ I
0 Imp.g.pm. 2 4 6 8 10 12
I~ 900
H
2902w | g M
‘ N~
- N
2722 1w —
I~ T26/220w—— | TF S~
] = \k\‘: ~— 700
[~ T24/2.2kw-. ~—
‘ T \:\\ \\
[ T22k2w— | ~~——_ NN \ L 600
=—=20/1.5 kW——_| \\‘\ N \\\ \\
i 1 ~— DT
~—]
~T18Msw | B N ~D N - 500
il — ~— N\
N .
~ T16Msmw— | _ —— ~ h
‘ T \\\ ‘\ \\ \ 400
14/1.1 W T— B
=1 5;1 1 ‘x ~ — T~ T~ N
R B - 4 _ e — o ~ ~
= 12/1.1 o - ‘I\\\ RE— \\\ \\\\1
| | — —
— e | T T~ T - 300
I~ 710/0.750w — 4 . T — T \\\\\ N
::9/\075 \k W= 1 —— ~‘~\\:\:\\\>
= —8/ 9.75 ‘kW—— T ‘\\\ \\\\:\\(
L _ ] — P— — 200
e ——
=+ .55 kW } —
— —5/0.37 kW= - 4 ]
| | v
- _—4/9.37 ‘kW—— -+ } —_§\\\: 100
— T 30s7iw 1 —
— —2/o.37 L
0
0 10 20 30 40 50 Q [V/min]
[ I I I I I | A
0 05 1 15 2 25 3 Q[mh
60
n
//
—— n% 0 M
_—
-
/’/
— 20
SINGLE IMPELLER kW
e i .
0 10 20 30 40 50 Q [I/min]
|- 45 NPSH
~ (ff
~—— 10
5
0 10 20 30 40 50 Q [Vmirg

Rotation speed =3500 min-1

Test standard: 1ISO 9906:2012 - Grade 3B

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

= TVTY



EVMS

VERTICAL MULTISTAGE PUMP S

Dimensional sketch

Oval flange (N)

TECHNICAL DATA
EVMSG1

DIN Round flange (F) - DN25

c c
e e
2 2 ‘
N <>
< K ]
A G3B A G
I
g 2 holes M10 g 4 holes 014
[ :
- . ﬂ «l 638
8 LBS, Et(p fﬁ T— ﬁl H
|100 | 4 holes 212 H |75, 8{ P
143 180 N
160 210
Dimensions [mm] and Weights [Kg]
Motor Oval flange (N) Round flange (F)
. Weight . Weight
Pump Type 5\/7;,2; kw Size A 3" H2 V;/i:a;t Purngp + H2 V;E:gzt Pum?l +
B C H3 Motor Motor
EVMSGL1 2/0.37 1.6 0.37 71 2105|139 114 216 250 143 20.1 275 17.7 235
EVMSG1 3/0.37 1.6 0.37 71 2105|139 114 216 271 14.7 20.5 296 18.1 23.9
EVMSG1 4/0.37 1.6 0.37 71 2105|139 114 216 292 15.1 20.9 317 18.5 243
EVMSGL1 5/0.37 1.6 0.37 71 2105|139 114 216 313 15.6 21.4 338 19 248
EVMSGL1 6/0.55 1.6 0.55 71 2105|139 114 216 334 16 22.2 359 19.4 25.6
EVMSGL1 7/0.55 1.6 0.55 71 2105|160 139 232 355 16.7 22.9 380 20.1 26.3
EVMSGL1 8/0.75 1.6 0.75 80 2120 | 160 139 232 386 171 26.6 411 20.5 30.0
EVMSGL1 9/0.75 1.6 0.75 80 2120 | 160 139 232 407 17.6 27.1 432 21 30.5
EVMSGL1 10/0.75 1.6 0.75 80 2120 | 160 139 232 428 18 275 453 21.4 30.9
EVMSG111/1.1 1.6 11 80 2120 | 160 139 232 449 18.4 29.5 474 21.8 32.9
EVMSG112/1.1 1.6 11 80 2120 | 160 139 232 470 18.9 30 495 22.3 33.4
EVMSG1 13/1.1 1.6 11 80 2120 | 160 139 232 491 19.6 30.7 516 23 34.1
EVMSGL1 14/1.1 1.6 11 80 2120 | 160 139 232 512 20 31.1 537 23.4 345
EVMSGL1 16/1.5 1.6 15 90S | 2140|180 148 267 564 21 34 589 24.4 37.1
EVMSGL1 18/1.5 1.6 15 90S | 2140|180 148 267 606 21.9 34.6 631 25.3 38.0
EVMSGL1 20/1.5 25 15 90S | 2140|180 148 267 - - 673 26.2 38.9
EVMSGL1 22/2.2 25 2.2 90L | 2140|180 148 267 - - 715 27.6 43.6
EVMSGL1 24/2.2 25 2.2 90L | 2140|180 148 267 - - 757 28.6 44.6
EVMSGL1 26/2.2 25 22 | 9L |@140(180 148 267 - - 799 29.5 455
EVMSGL1 27/2.2 25 22 | 9L |@140(180 148 267 - - 820 30 46
EVMSG1 29/2.2 25 22 | 9oL |g140|180 148 267 - - 862 30.9 46.9

1.6 MPa=16 bar ; 2.5 MPa=25 bar

- not available model

ESARA

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

6OH2



6OHZ VERTICAL MULTISTAGE PUMP S EVMS

SECTIONAL VIEW
EVMSG1

C

140
128-6
3.1 135-6
162 ] 1206
1311 I N— N /1 \\
130-2 _ |
130-1 = N 212
120-3 = e
245 | 1114
128-1 K 7‘ ) 120-13
1351 S N 4 @/ 111-3
212-2 ! ) 115-5
4 111-5
111
46
&:\ 47
L \\\s 54
N T
433 /\\\ 5-2
52-1 53
44-1 L 31
437 ——H 21
™ LN 5-1
d 107
S = 75-1
6 g 2731
48 @ = 2121
120-11 )
117
219
with Oval flange (N)
217
EBARA Pumps Europe 5 ERARA

EBARA Pumps Europe reserves the right to make changes without prior notice



EVM S VERTICAL MULTISTAGE PUMP S 60+

PIPE CONNECTION
EVMSG1

with Round flange (F)

218

% EBARA EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice




60Hz

VERTICAL MULTISTAGE PUMP S

EVMS

SECTIONAL TABLE

EVMSG1
Ne PART NAME MATERIAL DIMENSIONS | STANDARD
EVMSG
4 Casing cover EN 1.4301 (AISI 304)
5-1 Suction casing EN 1.4301 (AISI 304)
5-2 Intermediate Casing EN 1.4301 (AISI 304)
5-3 Intermediate casing bearing EN 1.4301 (AISI 304)
5-4 Discharge casing EN 1.4301 (AISI 304)
6 Bottom casing Cast Iron EN GJL-250-EN1561
7 Outer casing EN 1.4301 (AISI 304)
21 Impeller EN 1.4301 (AISI 304)
31 Shaft EN 1.4301 (AISI 304)
32-1 Adjuster Key EN 1.4301 (AISI 304)
43-2 Shatft sleeve (intermediate) EN 1.4301 (AISI 304)
43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304)
43-5 Shaft sleeve (last stage) EN 1.4301 (AISI 304)
43-7 Spacer EN 1.4301 (AISI 304)
44-1 Shatft sleeve bearing Tungsten carbide
46 Ring (mechanical seal) EN 1.4301 (AISI 304)
47 Ring Holder EN 1.4301 (AISI 304)
48 Impeller nut A2-70 UNI 7323 with inox insert M8
52-1 Bearing Tungsten carbide
75 O-Ring (plug) EPDM D. 12.37x2.62 OR 3050
75-1 O-Ring (plug) EPDM
107 Liner ring EN 1.4301 (AISI 304) + PPS
111 Mechanical Seal SiC/Carbon/EPDM
111-3  [Mechanical seal seat EN 1.4301 (AISI 304)
111-4 |Seal holder EN 1.4301 (AISI 304)
111-5 |[Mechanical seal cartridge EN 1.4301 (AISI 304)
115-1 |O-Ring (outer casing) EPDM D. 129.54x5.34| OR 6510
115-4 |O-Ring (cartridge sleeve) EPDM D. 11.91x2.62 OR 115
115-5 |O-Ring (seal cover) EPDM D. 32.99x2.62 OR 3131
117 Flange gasket EPDM
120-1 |Tie-rod Galvanized steel 6.8 strenght class ISO 898/1 M10
120-3 |Screw A2-70 UNI 7323 M4x10 1SO 4762
120-6  |Screw for coupling Galvanized steel M6x25 1SO 4762
120-11 |[Screw for counterflange A2-70 UNI 7323
120-13 |Screw for motor MEC 71-80 Galvanized steel 8.8 strenght class 1ISO 898/1 M6x20 ISO 4017
MEC 90 M8x20 1SO 4017
128-1  [Nut for tie rod Galvanized steel M10 UNI 5588
128-6  [Nut for coupling Galvanized steel M6 1SO 4032
130-1 |Set screw A2-70 UNI 7323 M5x8 UNI 5923
130-2 [Screw for coupling guard A2-70 UNI 7323 M5x6 UNI 7687
131-1 [Pin for shaft Carbon Steel D. 4x32 UNI 4838
135-1 [Washer Galvanized steel D. 10.5x21x2 UNI 6592
135-6 [Washer Carbon Steel 76
137-1  |Impeller spacer EN 1.4301 (AISI 304)
140 Coupling up to 4.0 kW Die cast Aluminium EN AB-AISI11Cu2 (Fe)
162 Motor bracket Cast iron EN-GJL-200-EN 1561
212 Plug EN 1.4301 (AISI 304) G 3/8
212-1  |Plug EN 1.4301 (AISI 304) G 3/8
212-2  |Venting plug EN 1.4404 (AISI 316L)
219 Counter flange Galvanized steel
245 Coupling guard EN 1.4301 (AISI 304)
273-1 |Plug Washer EN 1.4301 (AISI 304)

219

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

= TVTY



6OH2

VERTICAL MULTISTAGE PUMP S

EVMS

QUANTITY FOR MODEL

EVMSG1

N°
415-115-2{5-3|5-4| 6 721|31}32-1|43-2|43-3} 43-5| 43-744-1|46|47}48|52-1|75|75-1{ 107|111} 111-3} 111-4} 111-5} 115-1| 115-4| 115-5

245| 273-1

N°

11

13
15
17
19
21

20
22
26
30
34
38
42

46

48

52

1

1

1

1
1
1
1
1
1
1
1
1
1
1
1
1
1

111121

11141

1:116(1

111181

1j1j11|1

171)13(1

111116( 1

1,1120(1

111124(1

111]29(1

1

111,131

1

111,151

1

11111711

1

1111191
1f(1]1)10f1

1

1f(1]1)12f1

1

1(171)14f1

1

111,1}18f 1

1

11111221

1

11111126(1
11111271

1

1
1
1
1
1
1
1
1
1
1

1

3

5

7
8

1

1

1

1
1

1j10f 2

1113| 2

1117) 2

1121f 2

1(26| 2

1
1
1
1
1
1
1
1
1
1

1] 1j10| 1

1

1] 111} 2

1

1] 1;15] 2

1

1] 1119] 2

1

1] 1123] 2
1| 1]24] 2

1

Pump Type

EVMSG1 2/0.37

EVMSGL1 3/0.37

EVMSGI1 4/0.37

EVMSG1 5/0.37

EVMSG1 6/0.55

EVMSGL1 7/0.55

EVMSGL1 8/0.75

EVMSG1 9/0.75

EVMSG1 10/0.75
EVMSG1 11/1.1

EVMSG1 12/1.1

EVMSG1 13/1.1

EVMSG1 14/1.1

EVMSG1 16/1.5

EVMSGL1 18/1.5

EVMSG1 20/1.5

EVMSG1 22/2.2

EVMSG1 24/2.2

EVMSGL1 26/2.2

EVMSG1 27/2.2

EVMSG1 29/2.2

120-13} 128-1} 128-6 | 130-1| 130-2 | 131-1| 135-1 | 135-6 | 137-1 | 140| 162} 212| 212-1| 212-2 | 219*

120-1| 120-3 | 120-6 | 120-11*

117+

2
2
2
2
2
2
2
2
2
2
2
2
2
2
2
/
/
/
/
/
/

Pump Type

EVMSGL1 2/0.37

EVMSGL1 3/0.37

EVMSGL1 4/0.37

EVMSG1 5/0.37

EVMSGL1 6/0.55

EVMSG1 7/0.55

EVMSGL1 8/0.75

EVMSG1 9/0.75

EVMSG1 10/0.75
EVMSG1 11/1.1

EVMSG1 12/1.1

EVMSG1 13/1.1

EVMSG1 14/1.1

EVMSGL1 16/1.5

EVMSG1 18/1.5

EVMSG1 20/1.5

EVMSG1 22/2.2

EVMSGL1 24/2.2

EVMSG1 26/2.2

EVMSG1 27/2.2

EVMSG1 29/2.2

* only for Oval flange (N)

220

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice




6OHZ

VERTICAL MULTISTAGE PUMP S

EVMS

PERFORMANCE CURVE

EVMS(L)3
0 USgpm. 5 10 15 20 25
| | | | | |
| T T T T
0  Imp.g.p.m. 5 10 15 20
280 o0
P H
[MPa] m]
24 — 210 — _%3/4.0‘kw\ \ L 800
— —22/4.0 kw— T~
| T o T —
— —21/4.0 kw—_ N~
[ [ — —
— —20/3.0 kW — — ~ - 700
I ™— o~
20y =—1930mm ~_ N
T ] s N
\ﬂh-.__E__---~_“-~\-‘\\\\\=\\\\\
= —17/30 kW — \\\\\\\‘ \‘ — 800
=1 6/3.0‘kW T \"\\ \\\ \‘ \\
16 160 - —15/s0mW—— 1 ‘\\\ NN \\
L 14/ z\kw\ I \ﬂ\\:\\ \\\\\\\\ N\ — 500
——13/2 Z‘kW T — — \\\ \‘\\\&
- 2/2'2\ T ‘\\\ \\\\ \\ \ N N
122 — |
129 0 | | — \\“\\ \\\\\\\\\\1 — 400
22— — 1 —— ~ONUN\
——10Msm— — | — ~—~—— N
— B ™
s —— N e S \\\\\\‘\\\} - 300
08 - % — —}8/1 5 |}<w~ — I \\\\ N
— —7Maw—|— — —— \\ \\l
T T T —
— —6M11w—— 1 T o — Ny — 200
| [ B
— —?/0.75 W — —— \\: Ny
04— 4 ——475 Ww—— — ‘\ —
| | \\
:1‘3/0.55 ‘kW— — E— 100
= —2/0.37 kW— —
0-— 0 0
0 20 40 80 80 Q@ [Umin]
| T T T T T |
0 1 2 3 4 5 amn
020 ‘ 70
%
Py N» —
KW 016 — 50
— e
"
oi2 —— SINGLE IMPELLER kW %
208 ‘ ‘ ‘ 10
0 20 40 80 80 Q [/min]
NPSH *
[m] _— 10
2
-5
0 0
0 20 40 80 80 Q|[min]
Rotation speed =3500 min-1
Test standard: 1SO 9906:2012 - Grade 3B
221

If

[%]

NPSH
Ifl

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

= TVTY



EVM S VERTICAL MULTISTAGE PUMP S 60+

TECHNICAL DATA
EVMS(L)3

Dimensional sketch

Oval flange (N) DIN Loose round flange (LF) - DN25 Victaulic® connection (V )
4
4 holes 214
. o
o )
2 SR (€
& = =t T
O
18 4hulesﬂ12w 285 g
180
A G638 210
DIN Round flange (F) - DN25 Clamp connection (C )
g 2 holes M10 4 holes 214
cas T 0 1s @ [ L | i i &3k
o ile=ls T B0 + 2 — o
4hoes 912 ? B A4noesot2 ||| | @ss ;T Aroeset? o || §
180 162 210
210 210
Dimensions [mm] and Weights [Kg]
Loose round flange (LF) Victaulic® connection (V)
Motor Oval flange (N) Round flange (F) Clamp connection (C)
. Weight . Weight . Weight
Pump Type [PMn:f:; kw  Size A 3 H2 V;Eggt Pum?a + H2 szgzt Pum% + H2 V}ZEE:}‘ Pum?l +
B C H3 Motor Motor Motor
EVMS(L)3 2/0.37 16 | 037 71 | 2105|139 114 216 250 9.9 15.7 275 10.6 16.4 250 9.8 15.6
EVMS(L)3 3/0.55 16 | 055 71 | 2105]| 139 114 216 271 10.3 16.5 296 11 17.2 271 10.3 16.5
EVMS(L)3 4/0.75 16 | 075 80 |@120]|160 139 232 302 11 20.5 327 11.6 21.1 302 10.9 20.4
EVMS(L)3 5/0.75 1.6 0.75 80 2120]| 160 139 232 323 11.4 20.9 348 12.1 21.6 323 11.3 20.8
EVMS(L)3 6/1.1 1.6 11 80 |@120]|160 139 232| 344 11.8 22.9 369 125 23.6 344 11.7 22.8
EVMS(L)3 7/1.1 1.6 11 80 2120|160 139 232 365 12.2 23.3 390 12.9 24 365 12.2 233
EVMS(L)3 8/1.5 1.6 15 | 90S | @140 180 148 267| 396 12.7 26.7 421 13.3 27.3 396 12.6 26.6
EVMS(L)3 9/1.5 1.6 15 | 90S |e140| 180 148 267| 417 13.1 27.1 442 13.7 27.7 417 13 27
EVMS(L)3 10/1.5 1.6 15 | 90S | @140 180 148 267| 438 135 275 463 14.2 28.2 438 13.4 27.4
EVMS(L)3 11/2.2 1.6 2.2 90L | 2140|180 148 267 459 13.9 29.9 484 14.6 30.6 459 13.8 29.8
EVMS(L)3 12/2.2 1.6 22 | 9oL |e140| 180 148 267| 480 14.3 30.3 505 14.9 30.9 480 14.2 30.2
EVMS(L)3 13/2.2 1.6 22 | 9oL |e140]| 180 148 267 501 15 31 526 15.7 31.7 501 15 31
EVMS(L)3 14/2.2 1.6 22 | 9oL | 140|180 148 267 522 15.4 31.4 547 16.1 32.1 522 15.4 31.4
EVMS(L)3 15/3.0 1.6 3.0 100L | #160| 196 155 306 553 16 38.8 578 16.6 39.4 553 15.9 38.7
EVMS(L)3 16/3.0 25 3.0 | 100L |@160]| 196 155 306 - - - 599 17.6 40.4 574 16.9 39.7
EVMS(L)3 17/3.0 25 3.0 100L | #160| 196 155 306 - - - 620 18.1 40.9 595 17.3 40.1
EVMS(L)3 19/3.0 25 3.0 | 100L |@160]| 196 155 306 - - - 662 19 41.8 637 18.2 41
EVMS(L)3 20/3.0 25 3.0 100L | #160| 196 155 306 - - - 683 19.4 42.2 658 18.7 415
EVMS(L)3 21/4.0 25 40 | 112M| o160| 196 155 306 - - - 704 19.9 46.4 679 19.1 45.6
EVMS(L)3 22/4.0 25 40 | 112M| o160| 196 155 306 - - - 725 20.3 46.8 700 19.6 46.1
EVMS(L)3 23/4.0 2.5 4.0 112 M | 2160 | 196 155 306 - - - 746 20.8 47.3 721 20 46.5

1.6 MPa=16 bar ; 2.5 MPa=25 bar
- not available model

222
EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

ESARA



6OHZ VERTICAL MULTISTAGE PUMP S EVMS

SECTIONAL VIEW

EVMS(L)3
140
128-6
39-1 a 1356
162 120-6
131-1 S —— N A \\\
130-2 » _ ‘ |
130-1 \ < | / 212
120-3 ‘ aah s
245 i 1114
128-1 Xl ) 120-13
135-1 2], g 111-3
0 )
212-2 5 ] 115-5
4 i 1115
111
46
&: 47
k M 54
N v:\‘ 7
433 Ny T 52
52-1 N - 5-3
44-1 N Z 31
43-7 T N 21
™~ L 5-1
™ - 107
2731
75-1
48 212-1
120-11 T—— 160
1156-3 128-5
219 /
with Oval flange (N)
223
EBARA Pumps Europe % ERARA

EBARA Pumps Europe reserves the right to make changes without prior notice



6OHZ

VERTICAL MULTISTAGE PUMP S

EVMS

PIPE CONNECTION
EVMS(L)3

o
e

with Round flange (F)

with Loose round flange (LF)

with Clamp connection (C)

with Victaulic® connection (V)

224

EBARA Pumps Europe

= EaanA

tice

right to make changes without prior no

the

EBARA Pumps Europe reserves



60Hz

VERTICAL MULTISTAGE PUMP S

EVMS

SECTIONAL TABLE

EVMS(L)3
N° PART NAME MATERIAL DIMENSIONS | STANDARD
EVMS EVMSL
4 Casing cover EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
5-1 Suction casing EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
5-2 Intermediate Casing EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
5-3 Intermediate casing bearing EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
5-4 Discharge casing EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
6 Bottom casing EN 1.4308 (AISI 304) EN 1.4408 (AISI 316)
7 Outer casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
21 Impeller EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
31 Shaft EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
32-1 Adjuster Key EN 1.4301 (AISI 304)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
43-5 Shaft sleeve (last stage) EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
43-7 Spacer EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
44-1 Shaft sleeve bearing Tungsten carbide
45 Flange holder EN 1.4301 (AISI 304)
46 Ring (mechanical seal) EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
47 Ring Holder EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
48 Impeller nut A2-70 UNI 7323 with inox insert A4-70 UNI 7323 with inox insert M8
52-1 Bearing Tungsten carbide
75 O-Ring (plug) EPDM D. 12.37x2.62 OR 3050
75-1 O-Ring (plug) EPDM
107 Liner ring EN 1.4301 (AISI 304) + PPS ‘ EN 1.4401 (AISI 316) + PPS
111 Mechanical Seal SiC/Carbon/EPDM
111-3  |Mechanical seal seat EN 1.4301 (AISI 304) ‘ EN 1.4401 (AISI 316)
111-4 [Seal holder EN 1.4301 (AISI 304)
111-5 |Mechanical seal cartridge EN 1.4301 (AISI 304) ‘ EN 1.4401 (AISI 316)
115-1 |O-Ring (outer casing) EPDM D. 129.54x5.34| OR 6510
115-3 |O-Ring EPDM
115-4 |O-Ring (cartridge sleeve) EPDM D. 11.91x2.62 OR 115
115-5 |O-Ring (seal cover) EPDM D. 32.99x2.62 OR 3131
120-1 |Tie-rod Galvanized steel 6.8 strenght class ISO 898/1 M10
120-3  |Screw A2-70 UNI 7323 M4x10 1SO 4762
120-6  |Screw for coupling Galvanized steel M6x25 1ISO 4762
120-11 |Screw for counterflange A2-70 UNI 7323
120-13 |Screw for motor MEC71-80 | Galvanized steel 8.8 strenght class ISO 898/1 M6x20 ISO 4017
MEC 90-100-112 M8x20 I1SO 4017
128-1  |Nut for tie rod Galvanized steel M10 UNI 5588
128-5 |Nut for tie rod A2-70 UNI 7323 M10 UNI 7474
128-6  |Nut for coupling Galvanized steel M6 1SO 4032
130-1 |Set screw A2-70 UNI 7323 M5x8 UNI 5923
130-2 |Screw for coupling guard A2-70 UNI 7323 M5x6 UNI 7687
131-1  |Pin for shaft Carbon Steel D. 4x32 UNI 4838
135-1 |Washer Galvanized steel D. 10.5x21x2 UNI 6592
135-6  [Washer Carbon Steel 26
137-1  |Impeller spacer EN 1.4301 (AISI 304) ‘ EN 1.4401 (AISI 316)
140 Coupling up to 4.0 kW Die cast Aluminium EN AB-AISI11Cu2 (Fe)
160 Base Die cast Aluminium EN AB-AISI11Cu2 (Fe)
162 Motor bracket Cast iron EN-GJL-200-EN 1561
212 Plug EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) G 3/8
212-1 |Plug EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) G 3/8
212-2  |Venting plug EN 1.4404 (AISI 316L)
219 Counter flange EN 1.4301 (AISI 304) ‘ EN 1.4401 (AISI 316)
245 Coupling guard EN 1.4301 (AISI 304)
273-1 |Plug Washer EN 1.4301 (AISI 304) ‘ EN 1.4401 (AISI 316)
615 Flange Nodular Cast Iron

225

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

= TVTY




6OH2

VERTICAL MULTISTAGE PUMP S

EVMS

QUANTITY FOR MODEL

EVMS(L)3

N°

17
19
21
20
22

24
26
28
32

34
36
38
40

1
1
1
1
1
1
1
1
1
1
1
1
1

1]1)12)1
1111131
1111141

1]1119]1
111,201

1}1}1]10]1
1j1j1j11}1
1

1
1

111(j1]15}1
111(1]16|1
111(j1]17}1

1
1

1j1j1]21)1
1(11(]1]22]1
111(1]23]1

1
1

1
1

1/10| 1
1,10| 2
1,11} 2

1/16| 2
1,17] 2

415-115-2/5-3|5-4] 6| 7| 21 |31|32-1{43-2|43-3|43-5|43-7 44-1| 45** 46| 47|48|52-1|75]75-1| 107|111|111-3|111-4{111-5{115-1| 115-3*| 115-4| 115-5

1
1
1
1
1
1
1
1
1
1
1
1
1

111112 2
11113 2
11114 2

1
1

11118 2
11119 2
11120 2

120-1}120-3| 120-6| 120-11*{120-13|128-1| 128-5|128-6| 130-1| 130-2| 131-1| 135-1| 135-6| 137-1| 140| 160| 162| 212| 212-1| 212-2| 219*| 245] 273-1| 615**

4
4
4
4

4
4
4

4
4

Pump Type

EVMS(L)3 2/0.37

EVMS(L)3 3/0.55

EVMS(L)3 4/0.75

EVMS(L)3 5/0.75

EVMS(L)3 6/1.1

EVMS(L)3 7/1.1

EVMS(L)3 8/1.5

EVMS(L)3 9/1.5

EVMS(L)3 10/1.5

EVMS(L)3 11/2.2

EVMS(L)3 12/2.2

EVMS(L)3 13/2.2

EVMS(L)3 14/2.2

EVMS(L)3 15/3.0

EVMS(L)3 16/3.0

EVMS(L)3 17/3.0

EVMS(L)3 19/3.0

EVMS(L)3 20/3.0

EVMS(L)3 21/4.0

EVMS(L)3 22/4.0

EVMS(L)3 23/4.0

Pump Type

EVMS(L)3 2/0.37

EVMS(L)3 3/0.55

EVMS(L)3 4/0.75

EVMS(L)3 5/0.75

EVMS(L)3 6/1.1

EVMS(L)3 7/1.1

EVMS(L)3 8/1.5

EVMS(L)3 9/1.5

EVMS(L)3 10/1.5

EVMS(L)3 11/2.2

EVMS(L)3 12/2.2

EVMS(L)3 13/2.2

EVMS(L)3 14/2.2

EVMS(L)3 15/3.0

EVMS(L)3 16/3.0

EVMS(L)3 17/3.0

EVMS(L)3 19/3.0

EVMS(L)3 20/3.0

EVMS(L)3 21/4.0

EVMS(L)3 22/4.0

EVMS(L)3 23/4.0

* only for Oval flange (N)

** only for Loose round flange (LF)

226

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice




6OHZ

VERTICAL MULTISTAGE PUMP S

EVMS

PERFORMANCE CURVE

EVMSG3
0 USgpm. 5 10 15 20 25
| | | | | |
| T T T T
0 Imp.gpm. 5 10 15 20
280 %00
p H
[MPa] [m] H
24— 240 — _%3/4.0‘kw\ L 800 I
— —22/4.0xw— I~ T~
| T ~— T —
— —21/4.0 kw—_ N~
[ [ “— —
— —20/3.01W— S~ ~— - 700
I = p
20 gy =—1930mm i '\“ — S~
=—17/30w \\\\\\\‘ \ I~ 600
=1 6/3.0‘kW T T— \\\ \‘ \\
164 460 |- —15/s o‘m\ T ‘\\\ NSO
——13/2 Z‘kW R — — \\\ \‘\\\&
- 12022 T — T U\
— — .2 kW—] b
12 o | 5 | 1 \\“\\ \\\\\\\\\\‘ 400
22— — L — ~ D
——10/sw— — | — —~—— N\
— B ™
Orswn— — L T [ \\\\\\‘\\1 - 300
08 - 50— —}8/ 1S — — e — \\\\ N N
— —7Maw—|— —— —— \\ \\l
T T T —
— —6/1.1w— — I — o —~— y — 200
| [ B
— —“5/0.75 W — — \\: —
04 | 4 ——4l075 IW—— - — N — —~
| | \\
:1‘3/0.55 W — E— 100
=—2/0.37 \w————
0- 0 0
0 20 40 60 80 Q [Vmin]
| T | T T 1,
0 2 3 4 5 Q[m
0 : 70
%
P2 - _n% — n
kW] 046 — 50 [%|
/ l/
-~
v —— SINGLE IMPELLER kW %
008 ‘ ‘ ‘ 10
0 20 40 60 80 Q [Umin]
NPSH * NPSH
[mi - " m
2 -5
0 0
0 20 40 60 80 Q [Umin]
Rotation speed =3500 min-1
Test standard: ISO 9906:2012 - Grade 3B
227

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

= TVTY



EVM S VERTICAL MULTISTAGE PUMP S 60+

TECHNICAL DATA
EVMSG3

Dimensional sketch

Oval flange (N) DIN Round flange (F) - DN25
c c
e e
3 B
@ ES
| |
A e A e
o e ﬁ
Be——=x
b 2 holes M10 £ 4 holes 214
m 2 : |
- EEF_ ‘ N ‘ G638 <« [ | ;’E‘Cﬂh ©
o eoitie 4Ok o [IPPIHESSE |
‘ ‘ S o % I
10 Aroesei2 J LT || & 100 | 18 4hdesot2 H o5 8‘
160 210 149 180
250 210
Dimensions [mm] and Weights [Kg]
Motor Oval flange (N) Round flange (F)
. Weight . Weight
Pump Type ;;T;,a; kw Size A 3" H2 V;/i:a;t Purngp + H2 V:E:gzt Pum?l +
B C H3 Motor Motor
EVMSGS3 2/0.37 16 | 037 | 71 |s105[139 114 216 250 12.3 18.1 275 15.7 215
EVMSGS3 3/0.55 16 | 055 | 71 |s105[139 114 216] 271 12.7 18.9 296 16.1 223
EVMSGS3 4/0.75 16 | 075 | 80 |s120|160 139 232| 302 13.4 22.9 327 16.8 26.3
EVMSG3 5/0.75 16 | 075 | 80 |s120[160 139 232| 323 13.8 23.3 348 17.2 26.7
EVMSGS3 6/1.1 16 | 11 | 80 |s120[160 139 232| 344 14.2 25.3 369 17.6 28.7
EVMSG3 7/1.1 16 | 11 | 80 |s120[160 139 232| 365 14.6 25.7 390 18 29.1
EVMSG3 8/1.5 16 | 15 | 90s |s140[180 148 267| 396 15 29 421 18.4 324
EVMSG3 9/1.5 16 | 15 | 90s |s140|180 148 267| 417 15.5 29.5 442 18.9 32.9
EVMSG3 10/1.5 16 | 15 | 90s |s140[180 148 267| 438 15.9 29.9 463 19.3 33.3
EVMSG3 11/2.2 16 | 22 | 9oL |s140[180 148 267| 459 16.3 323 484 19.7 35.7
EVMSG3 12/2.2 16 | 22 | 9oL |s140[180 148 267| 4s0 16.6 32.6 505 20 36
EVMSG3 13/2.2 16 | 22 | 9oL |s140[180 148 267| 501 17.4 33.4 526 20.8 36.8
EVMSG3 14/2.2 16 | 22 | 9oL |s140[180 148 267| 522 17.8 33.8 547 21.2 37.2
EVMSGS3 15/3.0 16 | 30 | 100L |o160(196 155 306| 553 18.3 41.1 578 21.7 445
EVMSGS3 16/3.0 25 | 30 | 100L | 160|196 155 306 - - - 599 22.7 455
EVMSG3 17/3.0 25 | 30 | 100L | 160|196 155 306 - - - 620 23.2 46
EVMSG3 19/3.0 25 | 30 [ 100L | 160|196 155 306 - - - 662 24.1 46.9
EVMSGS3 20/3.0 25 | 30 [ 100L | 160|196 155 306 - - - 683 245 47.3
EVMSG3 21/4.0 25 4.0 112 M | 160 | 196 155 306 - - - 704 25 51.5
EVMSG3 22/4.0 25 4.0 112 M | 160 | 196 155 306 - - - 725 25.4 51.9
EVMSG3 23/4.0 2.5 4.0 112 M | 160 | 196 155 306 - - - 746 25.9 52.4

1.6 MPa=16 bar ; 2.5 MPa=25 bar
- not available model

228
EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

ESARA



6OHZ VERTICAL MULTISTAGE PUMP S EVMS

SECTIONAL VIEW
EVMSG3

C

140
128-6
3.1 135-6
162 ] 1206
1311 I N— N /1 \\
130-2 _ |
130-1 = N 212
120-3 = e
245 | 1114
128-1 K 7‘ ) 120-13
1351 S N 4 @/ 111-3
212-2 ! ) 115-5
4 111-5
111
46
&:\ 47
L \\\s 54
N T
433 /\\\ 5-2
52-1 53
44-1 L 31
437 ——H 21
™ LN 5-1
d 107
S = 75-1
6 g 2731
48 @ = 2121
120-11 )
117
219
with Oval flange (N)
229
EBARA Pumps Europe 5 ERARA

EBARA Pumps Europe reserves the right to make changes without prior notice



EVM S VERTICAL MULTISTAGE PUMP S 60+

PIPE CONNECTION
EVMSG3

with Round flange (F)

230

% EBARA EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice




60Hz

VERTICAL MULTISTAGE PUMP S

EVMS

SECTIONAL TABLE

EVMSG3
Ne PART NAME MATERIAL DIMENSIONS | STANDARD
EVMSG
4 Casing cover EN 1.4301 (AISI 304)
5-1 Suction casing EN 1.4301 (AISI 304)
5-2 Intermediate Casing EN 1.4301 (AISI 304)
5-3 Intermediate casing bearing EN 1.4301 (AISI 304)
5-4 Discharge casing EN 1.4301 (AISI 304)
6 Bottom casing Cast Iron EN GJL-250-EN1561
7 Outer casing EN 1.4301 (AISI 304)
21 Impeller EN 1.4301 (AISI 304)
31 Shaft EN 1.4301 (AISI 304)
32-1 Adjuster Key EN 1.4301 (AISI 304)
43-2 Shatft sleeve (intermediate) EN 1.4301 (AISI 304)
43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304)
43-5 Shaft sleeve (last stage) EN 1.4301 (AISI 304)
43-7 Spacer EN 1.4301 (AISI 304)
44-1 Shatft sleeve bearing Tungsten carbide
46 Ring (mechanical seal) EN 1.4301 (AISI 304)
47 Ring Holder EN 1.4301 (AISI 304)
48 Impeller nut A2-70 UNI 7323 with inox insert M8
52-1 Bearing Tungsten carbide
75 O-Ring (plug) EPDM D. 12.37x2.62 OR 3050
75-1 O-Ring (plug) EPDM
107 Liner ring EN 1.4301 (AISI 304) + PPS
111 Mechanical Seal SiC/Carbon/EPDM
111-3  [Mechanical seal seat EN 1.4301 (AISI 304)
111-4 |Seal holder EN 1.4301 (AISI 304)
111-5 |[Mechanical seal cartridge EN 1.4301 (AISI 304)
115-1 |O-Ring (outer casing) EPDM D. 129.54x5.34| OR 6510
115-4 |O-Ring (cartridge sleeve) EPDM D. 11.91x2.62 OR 115
115-5 |O-Ring (seal cover) EPDM D. 32.99x2.62 OR 3131
117 Flange gasket EPDM
120-1 |Tie-rod Galvanized steel 6.8 strenght class ISO 898/1 M10
120-3 |Screw A2-70 UNI 7323 M4x10 1SO 4762
120-6  |Screw for coupling Galvanized steel M6x25 1SO 4762
120-11 |[Screw for counterflange A2-70 UNI 7323
120-13 |Screw for motor MEC 71-80 Galvanized steel 8.8 strenght class 1ISO 898/1 M6x20 ISO 4017
MEC 90-100-112 M8x20 1SO 4017
128-1  [Nut for tie rod Galvanized steel M10 UNI 5588
128-6  [Nut for coupling Galvanized steel M6 1SO 4032
130-1 |Set screw A2-70 UNI 7323 M5x8 UNI 5923
130-2 [Screw for coupling guard A2-70 UNI 7323 M5x6 UNI 7687
131-1 [Pin for shaft Carbon Steel D. 4x32 UNI 4838
135-1 [Washer Galvanized steel D. 10.5x21x2 UNI 6592
135-6 [Washer Carbon Steel 76
137-1  |Impeller spacer EN 1.4301 (AISI 304)
140 Coupling up to 4.0 kW Die cast Aluminium EN AB-AISI11Cu2 (Fe)
162 Motor bracket Cast iron EN-GJL-200-EN 1561
212 Plug EN 1.4301 (AISI 304) G 3/8
212-1  |Plug EN 1.4301 (AISI 304) G 3/8
212-2  |Venting plug EN 1.4404 (AISI 316L)
219 Counter flange Galvanized steel
245 Coupling guard EN 1.4301 (AISI 304)
273-1 |Plug Washer EN 1.4301 (AISI 304)

231

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

= TVTY



6OH2

VERTICAL MULTISTAGE PUMP S

EVMS

QUANTITY FOR MODEL

EVMSG3

)
rﬂ_vlllllllllllllllllllll 1_.
o NI AR R R R R A A A R AR R AR R
i 2
mlllllllllllllllllllll AMA./_A.I_n/_n/_n/_A./_A./_n/_n/_n/_zﬂ./_n/_n/_n/_zﬂ./_ﬂ./_n/_n/_ﬁ/_
< &
B oo oo oo oo o oo o o o ou eu [ eu [ eu A R N S I N D L R A e e e A
= 2
_H_u Nid A AfA A A |A A A A A A A A A A [ A [ [ A [
nlllllllllllllllllllll A.1/_.
l i
b IR A e A e A e
nlllllllllllllllllllll Ad
—
N
() A A A A A |A A A | A A | A A A A A A A A A A
7
nlllllllllllllllllllll H
— mlllllllllllllllllllll
-
A Al AlA|A Al A A A | A|A|A A |A | A/A A A |A A ] A | A o
— T o oo oo forfenfonfer o fonfen o fer v oo fou e e
~
o|ld|n|m|t|w]ol~olo|d|n|m
QN T ]OINI® IO G| q|d || |dld|d|d | NN <
A.—qu1.1.1.1.1.1.1.1.1.1.1.1.1.1.1.~|.~|.~|.1.1.~|.
-
AR AR AR AR AR AR AR AR AR AR AR AN AR AR AR AR AR AR AR bl
~ ©
;
—
i i
NG G R R G R G R e A S A S S S A S S A SR SR S K !
0 LA A R R R A R R R A R A R AR AR R
mlllllllllllllllllllll -
-
o“lllllllllllllllllllll Ad_.ulllllllllllllllllllll
o
Z 5 z
Qlafafafafafor oo v oo oo o fovfoufoufou fon || e ~
= IR e e e A e e
R I R e R R R Rl el B EVR ENR O EVR EVR KR SR ENE ENE R ]
<
N~ iy
I~ |~l<l=|=l<l=|~|<|=<|~]cla|alalala]alala]a Qlo|mlmfm|m|m|mlmiolololooololololooloo
< 1
v ®
o |~~~ |~~~ ===~~~ =2~ |~~~ R A A A e e e A A A A R e
i q
e Ll
&111111111111111111111 f
g EERARARAR R R R AR A R R R A A A AR R A
N —
“dlmv|~nloldlola|s|olola|s|o]lolo
%./35791111122222233334 [
= A A A A A e e e A A A A B e
n/__lllllllllllllllllllll MV._
™
*
ﬂlllllllllllllllllllll H..
Sl ||| |||t ]~ |~ |~~~ ]~
;] FIEINEIERNENERIEIRINE
N NN A N S R I I I R I I I A L T 9
Nl A e e e e o e o e [ e e e e e e e e | r_O
1)
Ol |dA A |A A A A A A |eA oA oA oA oA oA oA e [oed [ [ [ u444444444444444444444
Mlllllllllllllllllllll Q_v
AR A R R R R A A A R A R A R AR R
M111111111112222222222 —
Enl
Q olo|d|N|mt|O|~N|® OO .
D=l la]o|siojoi~ 00|22 (Y295 R]12|R SINANANASANANANARANANANANANANARANAN AN AR A AN
i
Mlllllllllllllllllllll *
Nlajalalaafoa|ajalojafoafolajoa]<|<[< </~~~
<t Al d  AflA A A A A A | A A | A |A A A A A A A A A —
~ |0 |wlw vln|n|n|n|o|lo|olofo|olo|o
o |&|B[R]R S N T DN N B B I B Bl el I L O R s A A e e PN P N N e P R I I A
[ A e Ll el R A A e P N N N A R A A R e R A 2 IS icic]dldl«l« 299921212223 iT(I
2 Io|o|slsldldld|dISISIIsIFIZIsIRIGISISISS > |212|22ld(d|d|f || |n|S|v|s|R[s|s|a|q|®
> 121212121 id|ZIg|e|alq|alF|v|e|R|a | |T|X|® S I R R N R I I R T R R T A A R R
NMIFILIOIMNO|O | A|AAA A A|A A AN NN N 2 mlmliolololololololololololololololololole
A A D B L A A L A L R L e e R e A D R L A R R R R B A O SR R R I R I R I R A R A R R I A R A AR
E |o|ololololololololololololo|o|o|o|o|0|o|o 5 121212121212121818121313131318158158151%1%19
g |2(2/2/2|1212|2|2/2]|2]2|2]2(2/12|2]|2/2/2{2|2 S DA A b4 b3 bt bt R DR bt Do g bf b ot b bl b b b b
SIZIZIZIZIZIZIZIZIZIZIZIZIZIZIZIZI21212)2 SISISISISISISISSISSSSSSSESSES
slalalzizizizlzizlaizialaizizizialzialala UL oo|oo|oooooouu|u|o|o|o|ofo|o

* only for Oval flange (N)

232

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice




6OHZ

VERTICAL MULTISTAGE PUMP S

EVMS

280
p H
[MPa] ml
24

240
209
[ BT
129 12
0.8 80
04— 40
0— 0
04

P2
kW] 03
028
00
NPSH 8

[m]
4
0

PERFORMANCE CURVE

EVMS(L)5
0 USgpm. 10 156 20 25 30 35 40 45
| l l l l l | l l l
f T T T T T T T
0 Impgpm. 5 10 15 20 25 30 35
] - 500
T 1
L —19/7.5kw—_
~ H
N~ f
- g |
———17/7.5 W— _ —~
\ | iy
L —16/5.5kw ~
71‘515 5 e \\\\ \\ -
—— 5 kW —
i b ~_ | N\
- —14/55kw — | T~ N \\ \\
~— o~ T~
—1 ‘3/5.5 kW — \\\‘\\ \\ - 600
T ~L — O N\
L —1 }2/4.0 k\IN\ £ \\\ - \\\\\ N
— —1\1 [40 W __ \“\\\ \\ \\\\\\\\ \\ I~ 500
71‘014 0 - ~—~— ] N \\\‘\\
— — X kw\ 1
S — ~— NN
— —?/3'0 M — \\\ \i\i\i \‘1 - 400
R )y e e e A SRS SN
| o —— L — \\\\\‘\\\ - 300
= —6/22w— —_ T — ~_
‘5/2 ) —— \‘\ \\‘
——bl22kw——_—— ] ~——
] [T \\\\Q 200
- —4/1.5 wW———1 4 ——— \\\
\ B o T
=—3/11wWw—=— ‘\ ~
——2lo75 8 — — —[— —
—_—
0
] 20 40 60 80 100 120 140 160 Q [U/min]
[ I I I I I I I I I I 3
0 1 2 3 4 5 6 7 8 9 10  Qmh
70
e — n
/——‘_ 0, T —
o n% 50 [%]
— 30
_—T1
—T SING:LE IMI?ELLEB kW
0 20 40 60 80 100 120 140 160 Q [l/min]
45 NPSH
Ift]
L 10
|
=5
0 20 40 60 80 100 120 140 160 Q [Vmin]

Test standard: 1SO 9906:2012 - Grade 3B

Rotation speed ~3500 min-1

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

= TVTY



EVMS

VERTICAL MULTISTAGE PUMP S

Dimensional sketch

Oval flange (N)

H3

R

H2

2 holes M10

H2

DIN

TECHNICAL DATA

EVMS

(L)5

Loose round flange (LF) - DN32

g5

4 holes @18

DIN

‘ 20 4holes @12 2100

180
210

Round flange (F) - DN32
4 holes 18

2140

——ﬁ- 2le

Victaulic® connection (V )

19 4holes 812 ﬁ 2100,

149 180
250 210
Dimensions [mm] and Weights [Kg]
Loose round flange (LF) Victaulic® connection (V)
Motor Oval flange (N) Round flange (F) Clamp connection (C)
. Weight . Weight . Weight

Pump Type E\/In;aa); kw Size A 8- H2 vgﬁlragl Pum% + H2 V';/E:?]gl Pumgp + H2 vgﬁgg‘ Pumg:a +

B C H3 Motor Motor Motor
EVMS(L)5 2/0.75 1.6 0.75 80 2120| 160 139 232 274 9.8 19.3 299 10.8 20.3 274 9.7 19.2
EVMS(L)5 3/1.1 1.6 11 80 2120 | 160 139 232 302 10.2 21.3 327 11.3 22.4 302 10.2 21.3
EVMS(L)5 4/1.5 1.6 15 90S | 140 180 148 267 340 11 25 365 12 26 340 10.9 24.9
EVMS(L)5 5/2.2 1.6 2.2 90L | 2140|180 148 267 368 11.4 27.4 393 125 28.5 368 11.4 27.4
EVMS(L)5 6/2.2 1.6 2.2 90L | 2140|180 148 267 396 11.9 27.9 421 12.9 28.9 396 11.8 27.8
EVMS(L)5 7/3.0 1.6 3.0 100L | 2160 | 196 155 306 434 12.7 35.5 459 13.7 36.5 434 12.6 35.4
EVMS(L)5 8/3.0 1.6 3.0 100L | 2160 | 196 155 306 462 13 35.8 487 14 36.8 462 12.9 35.7
EVMS(L)5 9/3.0 1.6 3.0 100L | #160 | 196 155 306 490 134 36.2 515 145 37.3 490 134 36.2
EVMS(L)5 10/4.0 1.6 4.0 112M | 2160 | 196 155 306 518 13.9 40.4 543 15 415 518 13.9 40.4
EVMS(L)5 11/4.0 1.6 4.0 112M | 2160 | 196 155 306 546 14.7 41.2 571 15.7 42.2 546 14.6 41.1
EVMS(L)5 12/4.0 1.6 40 |112M| g160| 196 155 306 574 15.8 42.3 599 16.8 43.3 574 15.7 42.2
EVMS(L)5 13/5.5 25 55 132S | 2300 | 225 160 328 - - 721 23.9 62.5 696 22.8 61.4
EVMS(L)5 14/5.5 25 5.5 132S | 2300 | 225 160 328 - - 749 24.4 63 724 23.3 61.9
EVMS(L)5 15/5.5 25 5.5 132S | 2300 | 225 160 328 - - 777 24.9 63.5 752 23.8 62.4
EVMS(L)5 16/5.5 25 55 132S | 2300 | 225 160 328 - - 805 255 64.1 780 24.4 63
EVMS(L)5 17/7.5 25 7.5 132S | 2300 | 225 160 350 - - 833 26.1 66.5 808 25 65.4
EVMS(L)5 19/7.5 2.5 7.5 132 S | 8300|225 160 350 - - 889 27 67.4 864 25.9 66.3

1.6 MPa=16 bar ; 2.5 MPa=25 bar

- not available model

234

ESARA

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

6OH2



6OHZ

VERTICAL MULTISTAGE PUMP S

EVMS

)/

SECTIONAL VIEW

EVMS(L)5

115-3 T

120-11
219

235

with Oval flange (N)

NNy
|

140

128-6
135-6
120-6

111-4
120-13
111-3
115-6
111-5
111
46

751

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

= TVTY



6OHZ

VERTICAL MULTISTAGE PUMP S

EVMS

PIPE CONNECTION
EVMS(L)5

o
e

with Round flange (F)

with Loose round flange (LF)

with Clamp connection (C)

with Victaulic® connection (V)

236

EBARA Pumps Europe

= EaanA

tice

right to make changes without prior no

the

EBARA Pumps Europe reserves



6OHZ

VERTICAL MULTISTAGE PUMP S

EVMS

SECTIONAL TABLE

EVMS(L)5
N° PART NAME MATERIAL DIMENSIONS | STANDARD
EVMS EVMSL
4 Casing cover EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
5-1 Suction casing EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
5-2 Intermediate Casing EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
5-3 Intermediate casing bearing EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
5-4 Discharge casing EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
6 Bottom casing EN 1.4308 (AISI 304) EN 1.4408 (AISI 316)
7 Outer casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
21 Impeller EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
a1 Shaft EN 1.4301 (AISI 304) - EN 1.4404 (AISI 316L) -
EN 1.4462 (AISI 329A) EN 1.4462 (AISI 329A)
32-1 Adjuster Key EN 1.4301 (AISI 304)
43-2 Shatft sleeve (intermediate) EN 1.4301 (AISI 304) EN 1.4404 (AIS| 316L)
43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
43-4 Shaft sleeve (adjustment) EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
43-5 Shaft sleeve (last stage) EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
44-1 Shaft sleeve bearing Tungsten carbide
45 Flange holder EN 1.4301 (AISI 304)
46 Ring (mechanical seal) EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
47 Ring Holder EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
48 Impeller nut A2-70 UNI 7323 with inox insert A4-70 UNI 7323 with inox insert M8
52-1 Bearing Tungsten carbide
75 O-Ring (plug) EPDM D. 12.37x2.62 OR 3050
75-1 O-Ring (plug) EPDM
107 Liner ring EN 1.4301 (AISI 304) + PPS | EN 1.4401 (AISI 316) + PPS
111 Mechanical Seal SiC/Carbon/EPDM
111-3  |Mechanical seal seat EN 1.4301 (AISI 304) \ EN 1.4401 (AISI 316)
111-4  |Seal holder EN 1.4301 (AISI 304)
111-5 |Mechanical seal cartridge EN 1.4301 (AISI 304) ‘ EN 1.4401 (AISI 316)
115-1 |O-Ring (outer casing) EPDM D. 129.54x5.34| OR 6510
115-3 O-Ring EPDM
115-4 |O-Ring (cartridge sleeve) EPDM D. 11.91x2.62 OR 115
115-5 |O-Ring (seal cover) EPDM D. 32.99x2.62 OR 3131
120-1 |Tie-rod Galvanized steel 6.8 strenght class I1SO 898/1 M10
120-3  |Screw A2-70 UNI 7323 M4x10 1SO 4762
120-6  |Screw for coupling Uptod0kW | Galvanized steel M6x25 ISO 4762
above 5.5 kW M8x20 1SO 4762
120-11 |Screw for counterflange A2-70 UNI 7323
MEC 80 M6x20 1SO 4017
120-13 |Screw for motor MEC 90-100-112 Galvanized steel 8.8 strenght class I1SO 898/1 M8x20 1SO 4017
MEC 132 M12x40 1SO 4017
128-1  [Nut for tie rod Galvanized steel M10 UNI 5588
128-3  |Nut (motor) MEC 132 Galvanized steel M12 1SO 4032
128-5 |Nut for tie rod A2-70 UNI 7323 M10 UNI 7474
128-6  |Nut for coupling Galvanized steel M6 1SO 4032
130-1 |Set screw A2-70 UNI 7323 M5x8 UNI 5923
130-2  |Screw for coupling guard A2-70 UNI 7323 M5x6 UNI 7687
131-1 |Pin for shaft Carbon Steel D. 4x32 UNI 4838
135-1 |washer Galvanized steel D. 10.5x21x2 UNI 6592
135-6 |Washer Carbon Steel 76
137-1  |Impeller spacer EN 1.4301 (AISI 304) \ EN 1.4401 (AISI 316)
140 Coupling up to 4.0 kW Die cast Aluminium EN AB-AISI11Cu2 (Fe)
above 5.5 kW Cast Iron
160 Base Die cast Aluminium EN AB-AISI11Cu2 (Fe)
162 Motor bracket Cast iron EN-GJL-200-EN 1561
212 Plug EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) G 3/8
212-1 |Plug EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) G 3/8

212-2  |Venting plug

EN 1.4404 (AISI 316L)

219 Counter flange

EN 1.4301 (AISI 304) | EN 1.4401 (AISI 316)

245 Coupling guard

EN 1.4301 (AISI 304)

273-1  |Plug Washer

EN 1.4301 (AISI 304) \ EN 1.4401 (AISI 316)

615 Flange

Nodular Cast Iron

237

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

= TVTY




6OHZ

VERTICAL MULTISTAGE PUMP S

EVMS

QUANTITY FOR MODEL

EVMS(L)5

N°
415-115-2|5-3|5-4| 6| 7| 21| 31***|32-1|43-2| 43-3| 43-4| 43-5|44-1| 45**| 46| 47| 48 |52-1| 75{75-1| 107111{111-3|111-4|111-5| 115-1| 115-3*

1
1
1
1
1
1
1
1
1
1
1

115-4|115-5

11
13
15
17
17
19
21
23
25
27

29
33

1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1

120-13]128-1| 128-3|128-5{128-6{130-1| 130-2} 131-1| 135-1| 135-6| 137-1| 140| 160| 162|212} 212-1|212-2| 219* | 245| 273-1 | 615**

1(1j1|2
111j1|3
1(1;1]|4
1(1i1}|5
1f1i1}|6
11117
1(1j1|8
111(1|9

1/1y1|10
11111
11111)12
1(11/13
111114
1(1j1/15
1)1j1|16
1(1j1 /17
111y1|19

1
1
1
1
1
1
1
1
1
2
2

1
2
3
4
5
6
7
8
8
9

1

1

1

1
1
1
1

1} 1,10 2
1} 1,11] 2
1] 112 2
1] 1,13] 2
1114 2
11 1,16] 2

Pump Type

EVMS(L)5 2/0.55

EVMS(L)5 3/1.1

EVMS(L)5 4/1.5

EVMS(L)5 5/2.2

EVMS(L)5 6/2.2

EVMS(L)5 7/3.0

EVMS(L)5 8/3.0

EVMS(L)5 9/3.0

EVMS(L)5 10/4.0

EVMS(L)5 11/4.0

EVMS(L)5 12/4.0

EVMS(L)5 13/5.5

EVMS(L)5 14/5.5

EVMS(L)5 15/5.5

EVMS(L)5 16/5.5

EVMS(L)5 17/7.5

EVMS(L)5 19/7.5

120-1}120-3| 120-6| 120-11*

4

4
4
4
4
4
4
4
4
4

Pump Type

EVMS(L)5 2/0.55

EVMS(L)5 3/1.1
EVMS(L)5 4/1.5
EVMS(L)5 5/2.2
EVMS(L)5 6/2.2
EVMS(L)5 7/3.0
EVMS(L)5 8/3.0
EVMS(L)5 9/3.0

EVMS(L)5 10/4.0

EVMS(L)5 11/4.0

EVMS(L)5 12/4.0

EVMS(L)5 13/5.5

EVMS(L)5 14/5.5

EVMS(L)5 15/5.5

EVMS(L)5 16/5.5

EVMS(L)5 17/7.5

EVMS(L)5 19/7.5

128-3: only for motor up to 5.5 kW (see drawing pag.247)

* only for Oval flange (N)
** only for Loose round flange (LF)
***ﬁ shaft in EN 1.4462 (AISI 329A)

238

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice




6OHZ

VERTICAL MULTISTAGE PUMP S

EVMS

280
p H
[MPa] ml
24

240
209
[ BT
129 12
0.8 80
04— 40
0— 0
04

P2
kW] 03
028
00
NPSH 8

[m]
4
0

PERFORMANCE CURVE

EVMSG5
0 USgpm. 10 15 20 25 30 35 40 45
| | | | | | | | | |
| T T T T 1 T T
0 Impgpm. 5 10 15 20 25 30 35
‘ | — 900
T 1
L —19/7.5kw—_
~ H
N~ f
- g |
———17/7.5 W— _ —~
\ | I
L —16/5.5kw ~
71‘515 5 e \\\\ \\ -
—— 5 kW —
i b ~_ | N\
- — 1r‘r/5.5 W~ \“\\\ \\\\ \\
L —13/5.5k — \\\‘\\ N\ - 600
I G N A AN NN
L — i /4.0 k\IN\ £ _ \\\ - \\\\\ \\
——11/40mw— | \\\ \\ \\\ \\\\\ AN [~ 500
71‘014 0 - ~— 7 N \\\‘\\
— — X kw\ 1
S — ~— NN
— 9o — — B s O NN - 400
T —
———‘8/3.0 kV!I L i \\\\‘\\i\\\ \
. o —— L I \\\\\‘\\\ - 300
= —6/22w— —_ T — ~_
‘5/2 ) —— \‘\ \\‘
F—=—8l22kWw—— | ~——
[ — \\\\Q - 200
L —4/1.5 wW———1 4 ——— \\\
\ ] o B
=—=3/1 1 =—=—o ‘: E
— ‘j T 100
0.75 kW — — — — —
—
0
0 20 40 60 80 100 120 140 160 Q [U/min]
| T T T T T T T | T T 5
0 1 2 3 4 5 6 7 8 9 10 Q[mm
70
e n% 50 [;:]
— 0
__—T
—T SING:LE IMI?ELLEB kW
0 20 40 60 80 100 120 140 160 Q [l/min]
45 NPSH
Ift
L 10
|
—5
0 20 40 60 80 100 120 140 160 Q [U/min]

Test standard: 1SO 9906:2012 - Grade 3B

Rotation speed ~3500 min-1

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

= TVTY



EVMS

VERTICAL MULTISTAGE PUMP S

Dimensional sketch

Dimensions [mm] and Weights [Kg]

Oval flange (N)

TECHNICAL DATA
EVMSG5

DIN Round flange (F) - DN32

c c
| B }_7%73
@
I
© ©
i d
A G38 A G318
e v
N o~
T 2 holes M10 T 4holes 218
| - .
- = i i Gis - = = S
T o o0 \
-« [T 1 - tg]v; =
o Goalr=f  d@db " L o{eal =R ¥
H [ = o % i
=]
% 4 holes 012 ~1%50> ~ 100 2 4 holes 212 m 2100 8‘
180 T 149 180
250 210
Motor Oval flange (N) Round flange (F)
- X Weight X Weight
. 3
Pump Type [PMn;a;; kw Size A H2 V;S'[?]h[ Pump + H2 nglr?]h[ Pump +
B C H3 P Motor P Motor
EVMSGS5 2/0.75 16 0.75 80 2120|160 139 232 274 10.9 20.4 299 159 254
EVMSG5 3/1.1 16 11 80 2120 160 139 232 302 11.4 225 327 16.4 27.5
EVMSGS5 4/1.5 1.6 15 90 S | 9140 | 180 148 267 340 121 26.1 365 17.1 31.1
EVMSGS5 5/2.2 16 22 90 L | 2140 (180 148 267 368 12.6 28.6 393 17.6 33.6
EVMSG5 6/2.2 16 22 90 L | 2140180 148 267 396 13.1 29.1 421 18.1 34.1
EVMSGS5 7/3.0 16 3.0 100 L | #160| 196 155 306 434 13.8 36.6 459 18.8 41.6
EVMSGS5 8/3.0 16 3.0 100 L | #160| 196 155 306 462 141 36.9 487 19.1 41.9
EVMSG5 9/3.0 16 3.0 100 L | #160| 196 155 306 490 14.6 37.4 515 19.6 42.4
EVMSG5 10/4.0 1.6 4.0 112 M | 2160 | 196 155 306 518 15.1 41.6 543 20.1 46.6
EVMSG5 11/4.0 1.6 4.0 112 M | 2160 | 196 155 306 546 15.8 42.3 571 20.8 47.3
EVMSGS5 12/4.0 16 4.0 112 M | 2160 | 196 155 306 574 16.9 43.4 599 21.9 48.4
EVMSGS5 13/5.5 25 55 132 S | 2300 | 225 160 328 - - - 721 29 67.6
EVMSGS 14/5.5 25 55 132 S | 2300 [ 225 160 328 - N B 749 29.5 68.1
EVMSGS 15/5.5 25 55 132 S | 2300 [ 225 160 328 - N B 7t 30 68.6
EVMSGS5 16/5.5 25 55 132 S | 2300 | 225 160 328 - - - 805 30.6 69.2
EVMSGS5 17/7.5 25 75 132 S | 2300 [ 225 160 350 - N B 833 31.2 716
EVMSGS5 19/7.5 2.5 7.5 132 S | 2300 | 225 160 350 - - - 889 32.1 72.5

1.6 MPa=16 bar ; 2.5 MPa=25 bar

- not available model

240

ESARA

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

6OH2



6OHZ

VERTICAL MULTISTAGE PUMP S

EVMS

32-1
162
131-1
130-2
130-1
120-3
245
128-1
135-1
212-2

M54 — X
M54 —
120-1

432 —M8M8M | |

433 —M8M | |

Wi,

SECTIONAL VIEW

EVMSG5

43-4
52-1
435

137-1 \

48
6
17

120-11
219

241

with Oval flange (N)

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

= TVTY



EVM S VERTICAL MULTISTAGE PUMP S 60+

PIPE CONNECTION
EVMSG5

with Round flange (F)

242

% EBARA EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice




6OHZ

VERTICAL MULTISTAGE PUMP S

EVMS

SECTIONAL TABLE

EVMSG5
Ne PART NAME MATERIAL DIMENSIONS | STANDARD
EVMSG
4 Casing cover EN 1.4301 (AISI 304)
5-1 Suction casing EN 1.4301 (AISI 304)
5-2 Intermediate Casing EN 1.4301 (AISI 304)
5-3 Intermediate casing bearing EN 1.4301 (AISI 304)
5-4 Discharge casing EN 1.4301 (AISI 304)
6 Bottom casing Cast Iron EN GJL-250-EN1561
7 Outer casing EN 1.4301 (AISI 304)
21 Impeller EN 1.4301 (AISI 304)
31 Shaft EN 1.4301 (AISI 304) - EN 1.4462 (AISI 329A)
32-1 Adjuster Key EN 1.4301 (AISI 304)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304)
43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304)
43-4 Shaft sleeve (adjustment) EN 1.4301 (AISI 304)
43-5 Shaft sleeve (last stage) EN 1.4301 (AISI 304)
44-1 Shaft sleeve bearing Tungsten carbide
46 Ring (mechanical seal) EN 1.4301 (AISI 304)
47 Ring Holder EN 1.4301 (AISI 304)
48 Impeller nut A2-70 UNI 7323 with inox insert M8
52-1 Bearing Tungsten carbide
75 O-Ring (plug) EPDM D. 12.37x2.62 OR 3050
75-1 O-Ring (plug) EPDM
107 Liner ring EN 1.4301 (AISI 304) + PPS
111 Mechanical Seal SiC/Carbon/EPDM
111-3 Mechanical seal seat EN 1.4301 (AISI 304)
111-4 |Seal holder EN 1.4301 (AISI 304)
111-5 Mechanical seal cartridge EN 1.4301 (AISI 304)
115-1 |O-Ring (outer casing) EPDM D. 129.54x5.34| OR 6510
115-4 |O-Ring (cartridge sleeve) EPDM D. 11.91x2.62 OR 115
115-5 |O-Ring (seal cover) EPDM D. 32.99x2.62 OR 3131
117 Flange gasket EPDM
120-1 |Tie-rod Galvanized steel 6.8 strenght class ISO 898/1 M10
120-3  |Screw A2-70 UNI 7323 M4x10 1SO 4762
120-6  [Screw for coupling Up f0 4.0 kW Galvanized steel M6x25 ISO 4762
above 5.5 kW M8x20 1SO 4762
120-11 |Screw for counterflange A2-70 UNI 7323
MEC 80 M6x20 1SO 4017
120-13 |Screw for motor MEC 90-100-112 Galvanized steel 8.8 strenght class 1ISO 898/1 M8x20 1SO 4017
MEC 132 M12x40 1SO 4017
128-1  [Nut for tie rod Galvanized steel M10 UNI 5588
128-3 Nut (motor) MEC 132 Galvanized steel M12 1SO 4032
128-6  [Nut for coupling Galvanized steel M6 1SO 4032
130-1 |Set screw A2-70 UNI 7323 M5x8 UNI 5923
130-2 [Screw for coupling guard A2-70 UNI 7323 M5x6 UNI 7687
131-1 [Pin for shaft Carbon Steel D. 4x32 UNI 4838
135-1 [Washer Galvanized steel D. 10.5x21x2 UNI 6592
135-6 [Washer Carbon Steel a6
137-1 Impeller spacer EN 1.4301 (AISI 304)
140 Coupling up to 4.0 kW Die cast Aluminium EN AB-AISI11Cu?2 (Fe)
above 5.5 kW Cast Iron
162 Motor bracket Cast iron EN-GJL-200-EN 1561
212 Plug EN 1.4301 (AISI 304) G 3/8
212-1  |Plug EN 1.4301 (AISI 304) G 3/8
212-2  |Venting plug EN 1.4404 (AISI 316L)
219 Counter flange Galvanized steel
245 Coupling guard EN 1.4301 (AISI 304)
273-1 |Plug Washer EN 1.4301 (AISI 304)

243

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

= TVTY



6OHZ

VERTICAL MULTISTAGE PUMP S

EVMS

QUANTITY FOR MODEL

EVMSG5

—
[ R_44444444444444444
A e e e e e e e R e R el ~
= )

I S o[ e e e e e e e e e
_.15_911111111111111111 x
hal RN NN NN SIS Y NS NS N ) A
- N
)
0 (oo oo e e e e e e e e e fes o
s S e e e e R e e R e R e
D N
A e e e e e e e R e R e el
o N[t ||| || T
= N
- ]
H..lllllllllllllllll Salalalalalal=lal=la === |]=]=]~
@ S lalalalalalalalalalalalalalalalala
nlllllllllllllllll —
hal o
3 S o oo e e e e e e e e e e
R e e e e e e e R e A R
1
;
~ Sl | A A A A A A A A A A A [ [ |
—
g |Nfm|sjwlo|~fo oSN QT 181915|3 ]
o @
:7w44444444444444444 %44444444444444444
—
A e e e e e e e I e R e A ] =
;
p CARAR AR A AR A AR R AR A A AR AR A AR
R R R R N N N B ESVR E oVl KoV KV EVR SV E R K] I
re)
\
A A A e A A R S e e R e A e
—
P A A e R R R A ] =
o
o h
A AN NN NN I N%44444444444444444
—
—
< (A A A A A A A A NN NN NN NN i
< Q[m|m[m o] mmimimimmfmn|oioiolofio
) —
O |~~~ |d|~|~|d|~|~|d]~[~|d~I~|~ ©
<~
5 %44444444444444444
G R G R G R G R R A S N A SR A R Y hal
i @
) D [~ |~~~ |~~~ |~I~ I~ [~ |||
P Rkl Eal Rl R R R Rl Bl Rl R B SR KVl VA KSR KR KV KNI K q
<
o by
dlofw~|sloldlolvinlo]lo
%./3579111111222223 QIS [T [T [T ST T T TS
—
- ]
Q| alala|a|ala|a]|alalalalafalalala B
™ SENARARANAR AR AR AR AR AN AR AR AR AR AR AR
¥ o
b4
R e e e e e e e R R R ] B -
i pa
o FIEINI IR S S S S Y Y~~~ =~~~
N (NJO S0 O IS0 0|55 oo [ | IS
NI IR bl
©
© [ || ||| | A A m_44444444444444444
—
Mlllllllllllllllll —
:
Fm,.v_.v11111111122222222 M44444444444444444
N old|nmig]|o ]
VU~ ot |n]o|~|o oo
el bl Al Al Al Al A m_44444444444444444
Mlllllllllllllllll =
%
K
Sl A e R e A R R R R R R R ] H..22222222222///II/
0 olololw|v|ninln|n
1) ocjoo|w|w|viv|w|n

g |@HwiNINIOfo |04 |g || |w|w|wix |~ ¢ [B|d|v|N|N|ololo G igiTlBl6le 6N~
2 |o|dldlalalo]le|s|SITITIRIZIRIZIRIES 2 N2ININSI2I2If IS f 0|9 (v (v x|x
2 RIFISISISIRIZIZISIZ|IN|a|g|vigis(S S [Old|d|d|d|@|o|g5I3RI8IFIBIGIRIS

N I IS I I Rl Al Bl At Al ol ol Al Il Al F QB |F|B|S|R|B |0 |d = |— === ==

2 |w|lwwiviv|viw|w|w(wiw|w wiwiwinfn a
E (0|0|0I0|0 0000000000100 £ 188181818181818188188888 8|8
g (2(2]212|2|2(2]2|2]2|2]|2(2|2(2{2|9 =N A A R R e A A A R

s|S|z|2|2|2|2|2l2|2 2|2 |22 |2 2|2 a (2]2]2(212/2(21212/2/2/2/2]2/212)2
glalmizlzizizlalzlalalaialaiaiala SISISI1S15 1515151515 151515 15151515
W Dlololoolololoioinloiolololololo

shaft in EN 1.4462 (AISI 329A)

or Oval flange (N)

&

128-3: only for motor up to 5.5 kW (see drawing pag.247)

*on
*kk

244

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice




6OHZ

VERTICAL MULTISTAGE PUMP S

EVMS

280
p H
[MPa] [m]

24
240
209
B g0
129 12
0.8 80
0.4 — 40
0- 0
12

P2
kW] 08
04
i
NPSH 8
[m]

4
0

PERFORMANCE CURVE

EVMS(L)10
0 USgpm 20 30 40 50 60 70 80 90
| I I I I I | I I I
f T T T T T T T
0 Impgpm. 10 20 30 40 50 60 70
I~ 900
— —16/11kW—|— __ H
| | | d ﬂ]
| T T s !
15111 w=F—— <
1 1 1 T — \\
——14lw—|— ™
T~ \\ N\ - 700
N \\\\
 —12/75 - NN\
| T — NN\ AN - 600
—-—1 ‘1 /7‘.5 W NS N \\
n —~—__ <\
10/7.5 kvw=——— — ~— N AN
P — X
——9/6.5kwW— —— __| S~ \\
i — T
——8/5.5kw— —— __| N N
T L ™ N \\\ AN - 400
—
——7/55w—1— ™~ SN \\ \. \\
! [ —~— —~— ™ ~. Q \\ \
— —6la0w— —— — \\\ SN O\ — 300
] ——— ~ Y \‘
T/4.? kW — — 1 ‘\\ \\ ‘\\
I I I —
e e S
— _‘3/2‘2kw‘— I L \\\ ~ ‘\1
T — <
——2M15W=fF——— E—— [~ 100
il —
——1 075 KW= — —T — T
| | .
0 50 100 150 200 250 300 Q [/min]
T T T T T T T T T T 3
0 2 4 6 8 10 12 14 16 18 20 Q[m/]
80
— —~ n
”
60  [%]
L 0,
P n%
SINGLE IMPELLER kW 40
20
0 50 100 150 200 250 300 Q [/min]
NPSH
____—-—-’ - 10
0
0 50 100 150 200 250 300 Q [/min]

Rotation speed =3500 min-1
Test standard: 1SO 9906:2012 - Grade 3B

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

= TVTY



EVMS

VERTICAL MULTISTAGE PUMP S

Dimensional sketch

Oval flange (N)

e

|

A G3B

H3

& &

H2

o
«|T
(o]

190
200

—f2 ] :
130 4 holes 912 ‘

2 holes M12

DIN

EVMS(L)10

2150

TECHNICAL DATA

Loose round flange (LF) - DN40

4 holes 218

Victaulic® connection (V )

Dimensions [mm] and Weights [Kg]

20 4 holes 312 ‘ @110

215

250

Round flange (F) - DN40

nll

4 holes 218
1% @
S 638
ESHULIE (€
N Eell,
18 4 holes 312 2110
215
250

=

|
1

€

215

250

4 holes 12 ‘

Loose round flange (LF) Victaulic® connection (V)
Motor Oval flange (N) Round flange (F) Clamp connection (C)
. Weight . Weight . Weight
Pump Type [PMn;e; kw Size A 8- H2 V:j:g';t Pumgp + H2 vgﬁ:ggt Pum?) + H2 stf‘zt Pumgp +
B C H3 Motor Motor Motor
EVMS(L)10 1/0.75 1.6 0.75 80 2120|160 139 232 343 19.7 29.2 343 20.7 30.2 343 19.6 29.1
EVMS(L)10 2/1.5 1.6 15 90S | 2140|180 148 267 353 19.8 33.8 353 20.9 34.9 353 19.8 33.8
EVMS(L)10 3/2.2 1.6 2.2 90L | 2140|180 148 267 383 20.7 36.7 383 21.7 37.7 383 20.7 36.7
EVMS(L)10 4/3.0 1.6 3.0 100 L | 2160 196 155 306 423 21.7 445 423 22.7 45.5 423 21.6 44.4
EVMS(L)10 5/4.0 1.6 4.0 112 M| 160 | 196 155 306 453 225 49 453 235 50 453 22.5 49
EVMS(L)10 6/4.0 1.6 4.0 112 M | 2160 | 196 155 306 483 233 49.8 483 24.4 50.9 483 233 49.8
EVMS(L)10 7/5.5 1.6 55 132 S | 300|225 160 328 611 31.2 69.8 611 32.3 70.9 611 31.2 69.8
EVMS(L)10 8/5.5 1.6 55 132 S | 2300 | 225 160 328 641 32.4 71 641 335 72.1 641 324 71
EVMS(L)10 9/5.5 1.6 55 132 S | 300|225 160 328 671 333 71.9 671 34.3 72.9 671 33.2 71.8
EVMS(L)10 10/7.5 1.6 75 132 S | 2300 | 225 160 350 701 34.1 74.5 701 35.1 75.5 701 34.1 74.5
EVMS(L)10 11/7.5 25 7.5 132 S | 300|225 160 350 - - 731 36.8 77.2 731 35.7 76.1
EVMS(L)10 12/7.5 25 7.5 132 S | 300|225 160 350 - - 761 37.7 78.1 761 36.6 7
EVMS(L)10 14/11 25 11 160 M | 2350 | 248 194 476 - - 851 47.7 110.2 851 46.6 109.1
EVMS(L)10 15/11 25 11 160 M | 350 | 248 194 476 - - 881 48.6 111.1 881 47.6 110.1
EVMS(L)10 16/11 2.5 11 160 M | 2350 | 248 194 476 - - 911 49.5 112 911 48.5 111

1.6 MPa=16 bar ; 2.5 MPa=25 bar

- not available model

246

ESARA

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

6OH2



6OHZ VERTICAL MULTISTAGE PUMP S EVMS

SECTIONAL VIEW
EVMS(L)10

NERRR
=)
Ry y A
: 140

with Round flange (F)

247
EBARA Pumps Europe 5 EBARA

EBARA Pumps Europe reserves the right to make changes without prior notice




6OH2

VERTICAL MULTISTAGE PUMP S

EVMS

PIPE CONNECTION
EVMS(L)10

5 AL
\km_.@@\a\
&/

P
/ﬁﬂ,

%

with Loose round flange (LF)

with Oval flange (N)

/
/
Vs /‘ \ S
VAR «»v‘\
[ [/ | QY
| 7 e K
| 1Y/
| L /7% L
VA LHT %
N A\
VALY X7
N\~ /A
/. \ e/\/lv\ y y < A\
A\ —

=
\

with Clamp connection (C)

with Victaulic® connection (V)

248

EBARA Pumps Europe

= EaanA

tice

right to make changes without prior no

the

EBARA Pumps Europe reserves



60+, EVMS

VERTICAL MULTISTAGE PUMP S

SECTIONAL TABLE
EVMS(L)10
N° PART NAME MATERIAL DIMENSIONS | STANDARD
EVMS EVMSL
4 Casing cover EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
5-1 Suction casing EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
5-2 Intermediate Casing EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
5-3 Intermediate casing bearing EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
5-4 Discharge casing EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
6 Bottom casing EN 1.4308 (AISI 304) EN 1.4408 (AISI 316)
7 Outer casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
21 Impeller EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
31 Shaft EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
32-1 Adjuster Key EN 1.4301 (AISI 304)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304) [ EN 1.4404 (AISI 316L)
43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304) [ EN 1.4401 (AISI 316)
43-6 Washer EN 1.4404 (AISI 316L) D. 26x1.2
44-1 Shaft sleeve bearing Tungsten carbide
45 Flange holder EN 1.4301 (AISI 304)
46 Ring (mechanical seal) EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
47 Ring Holder EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
48 Impeller nut A2-70 UNI 7323 with inox insert A4-70 UNI 7323 with inox insert M10
52-1 Bearing Tungsten carbide
75 O-Ring (plug) EPDM D. 12.37x2.62 OR 3050
75-1 O-Ring (plug) EPDM
107 Liner ring EN 1.4301 (AISI 304) + PPS ‘ EN 1.4401 (AISI 316) + PPS
111 Mechanical Seal SiC/Carbon/EPDM
111-3  [Mechanical seal seat EN 1.4301 (AISI 304) ‘ EN 1.4401 (AISI 316)
111-4 [Seal holder EN 1.4301 (AISI 304)
111-5 [Mechanical seal cartridge EN 1.4301 (AISI 304) ‘ EN 1.4401 (AISI 316)
115-1 |O-Ring (outer casing) EPDM D. 164.46x5.34| OR 6645
115-3 [O-Ring EPDM
115-4 |O-Ring (cartridge sleeve) EPDM D. 15.88x2.62 OR 121
115-5 |O-Ring (seal cover) EPDM D. 37.77x2.62 OR 3150
120-1 |Tie-rod Galvanized steel 6.8 strenght class ISO 898/1 M12
120-3 Screw A2-70 UNI 7323 M5x12 1ISO 4762
up to 4.0 kW M6x25 1ISO 4762
120-6  |Screw for coupling from 5.5 kW to 7.5 kW Galvanized steel M8x20 1SO 4762
above 11 kW M10x30 1ISO 4762
120-11 |Screw for counterflange A2-70 UNI 7323
MEC 80 M6x20 1ISO 4017
120-13 |Screw for motor MEC 90-100-112 Galvanized steel 8.8 strenght class ISO 898/1 M8x20 ISO 4017
MEC 132 M12x40 1SO 4017
MEC 160 M16x50 1SO 4017
128-1  [Nut for tie rod Galvanized steel M12 UNI 5588
128-3  |Nut (motor) MEC 132 Galvanized steel M12 ISO 4032
MEC 160 M16 UNI 5588
128-5 [Nut for tie rod Galvanized steel M12 UNI 7474
130-1 [Set screw A2-70 UNI 7323 M5x8 UNI 5923
130-2  |Screw for coupling guard A2-70 UNI 7323 M5x6 UNI 7687
131-1 Pin for shaft Carbon Steel D. 5x35 UNI 4838
135-1 [Washer Galvanized steel D. 13x24x2.5 UNI 6592
137-1  |Impeller spacer EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
140 Coupling up to 4.0 kW Die cast Aluminium EN AB-AISI11Cu?2 (Fe)
above 5.5 kW Cast Iron
160 Base Die cast Aluminium EN AB-AISI11Cu?2 (Fe)
162 Motor bracket Cast iron EN-GJL-200-EN 1561
212 Plug EN 1.4301 (AISI 304) \ EN 1.4401 (AISI 316) G 3/8
212-1  [Plug EN 1.4301 (AISI 304) \ EN 1.4401 (AISI 316) G 38
212-2  |Venting plug EN 1.4404 (AISI 316L)
219 Counter flange EN 1.4301 (AISI 304) ‘ EN 1.4401 (AISI 316)
245 Coupling guard EN 1.4301 (AISI 304)
273-1 [Plug Washer EN 1.4301 (AISI 304) ‘ EN 1.4401 (AISI 316)
615 Flange Nodular Cast Iron

249

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

EBARA




EVM S VERTICAL MULTISTAGE PUMP S 60+

QUANTITY FOR MODEL
EVMS(L)10

Pump Type N
415-1|5-2|5-3|5-4] 6| 7| 21 |31|32-1|43-2|43-3|43-6|44-1|45**| 46]47]48|52-1|75|75-1| 107|111|111-3|111-4| 111-5| 115-1| 115-3*| 115-4] 115-5

EVMS(L)10 1/0.75 1114/ 17111(1} 1,1} 1 / 1 1 1 4 121111} 1 11| 2 1 1 1 1 1 2 2 1 1

EVMS(L)10 2/1.5 1|1/ 171}1}1} 2 1| 1 / 1 / 1 4 121111} 111 2 2 1 1 1 1 2 2

EVMS(L)10 3/2.2 ij1f1j1|1j1]1] 31| 1 3 1 / 1 4 127111} 1 (1| 2 3 1 1 1 1 2 2 1 1

EVMS(L)10 4/3.0 112 1(1/1j1} 4|1} 1 5 1 / 1 4 127111} 11| 2 4 1 1 1 1 2 2 1 1

EVMS(L)10 5/4.0 113} 1{1/1j1} 51} 1 7 1 / 1 4 12111} 11| 2 5 1 1 1 1 2 2 1 1

EVMS(L)10 6/4.0 1114} 1|1/1]1} 6|1 1 9 1 / 1 4 1211171 1| 2 6 1 1 1 1 2 2 1 1

EVMS(L)10 7/5.5 115, 11,141} 71} 1 11 1 / 1 4 121111} 1 1| 2 7 1 1 1 1 2 2 1 1

EVMS(L)10 8/5.5 1|15} 2|1,1]1] 8|1} 1 11 2 / 2 4 121111} 2 11| 2 8 1 1 1 1 2 2 1 1

EVMS(L)10 9/5.5 116 2(1/1{1] 9|1} 1 13 2 / 2 4 121111} 2 (1| 2 9 1 1 1 1 2 2 1 1

EVMS(L)10 10/7.5 117 2(1/1j1j10)1} 1 15 2 / 2 4 12111} 2 (1| 2 10| 1 1 1 1 2 2 1 1

EVMS(L)10 11/7.5 1|18} 2|1 j1j1j11)1| 1 17 2 / 2 4 12j111}y 2 (1| 2 11| 1 1 1 1 2 / 1 1

EVMS(L)10 12/7.5 119 2(1/1j1}12}1} 1 19 2 / 2 4 121111} 2 (1 2 12| 1 1 1 1 2 / 1 1

EVMS(L)10 14/11 11 1f11p 2|1 /1;1}14}1} 1 23 2 / 2 4 12111y 2 11| 2 (14| 1 1 1 1 2 / 1 1

EVMS(L)10 15/11 11412, 2(1}/1/1}15}1} 1 25 2 / 2 4 1211111 2 1y 2 |15| 1 1 1 1 2 / 1 1

EVMS(L)10 16/11 11§13} 2|1 ,1]1}16|1| 1 27 2 / 2 4 121111} 2 11| 2 16| 1 1 1 1 2 / 1 1

N°
Pump Type
120-1{120-3| 120-6|120-11*| 120-13| 128-1|128-3| 128-5{ 128-6 130-1| 130-2| 131-1| 135-1| 135-6| 137-1| 140| 160, 162|212 | 212-1|212-2| 219*| 245| 273-1| 615**

EVMS(L)10 1/0.75 4 4 4 4 4 4 / 4 4 3 4 1 4 4 1 [2]a1l2l21] 2 1 212 2 2
EVMS(L)10 2/1.5 4 4 4 4 4 4 / 4 4 3 4 1 4 4 1 2 1 1 1 2 1 2 2 2
EVMS(L)10 3/2.2 4 4 4 4 4 4 / 4 4 3 4 1 4 4 1 2 1 1 1 2 1 2 2 2 2
EVMS(L)10 4/3.0 4 4 4 4 4 4 / 4 4 3 4 1 4 4 1 2 1 1 1 2 1 2 2 2 2
EVMS(L)10 5/4.0 4 4 4 4 4 4 / 4 4 3 4 1 4 4 1 2 1 1 1 2 1 2 2 2 2
EVMS(L)10 6/4.0 4 4 4 4 4 4 / 4 4 3 4 1 4 4 1 2 1 1 1 2 1 2 2 2 2
EVMS(L)10 7/5.5 4 4 4 4 4 4 4 4 / 3 4 1 4 / 1 2 1 1 1 2 1 2 2 2 2
EVMS(L)10 8/5.5 4 4 4 4 4 4 4 4 / 3 4 1 4 / 1 2 1 1 1 2 1 2 2 2 2
EVMS(L)10 9/5.5 4 4 4 4 4 4 4 4 / 3 4 1 4 / 1 2 1 1 1 2 1 2 2 2 2
EVMS(L)10 10/7.5 4 4 4 4 4 4 4 4 / 3 4 1 4 / 1 2 1 1 1 2 1 2 2 2 2
EVMS(L)10 11/7.5 4 4 4 / 4 4 4 4 / 3 4 1 4 / 1 2 1 1 1 2 1 / 2 2 2
EVMS(L)10 12/7.5 4 4 4 / 4 4 4 4 / 3 4 1 4 / 1 2 1 1 1 2 1 / 2 2 2
EVMS(L)10 14/11 4 4 4 / 4 4 4 4 / 3 4 1 4 / 1 2 1 1 1 2 1 / 2 2 2
EVMS(L)10 15/11 4 4 4 / 4 4 4 4 / 3 4 1 4 / 1 2 1 1 1 2 1 / 2 2 2
EVMS(L)10 16/11 4 4 4 / 4 4 4 4 / 3 4 1 4 / 1 2 1 1 1 2 1 / 2 2 2

* only for Oval flange (N)
** only for Loose round flange (LF)
128-6 / 135-6: with Aluminium coupling (see drawing pag.211)

250
EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

ESARA



6OHZ

VERTICAL MULTISTAGE PUMP S

EVMS

280
p H
[MPa] [m]

24
240
209
B g0
129 12
0.8 80
0.4 — 40
0- 0
12

P2
kW] 08
04
i
NPSH 8
[m]

4
0

PERFORMANCE CURVE

EVMSG10
0 USgpm 20 30 40 50 60 70 80 90
| l l l l l | l l l
I T T T T T T T
0 Impgpm. 10 20 30 40 50 60 70
I~ 900
— —16/11kW—|— __ H
| | | d ﬂ]
| T T s !
15111 w=F—— <
1 1 1 T ——— \\
——14lw—|— ™
T~ \\ N\ - 700
N \\\\
 —12/75 - NN\
| T NN\ AN - 600
—-—1 ‘1 /7‘.5 W NS N \\
N\
| ] \\\‘ N\
10/7.5 kvw=——— — ~— N AN
P — 0 N
— 955 wW——— _ | S~ \\
1] — T
——8/5.5kw— —— __| N N
T L ™ N \\\ AN - 400
—
——7/55w—1— ™~ SN \\ \. \\
! || ~—__ - N - Q\\ \
— —blaow——— — \\\ SN\ O\ L 300
] ——— ~ Y \‘
T/4.? kW — — 1 ‘\\ \\ ‘\\
I I I —
e e S
I il e — T~
T — <
——2M15W=fF——— E—— [~ 100
L T e L
——1 075 KW= — —T — T
|| .
0 50 100 150 200 250 300 Q [/min]
T T T T T T T T T T 3
0 2 4 6 8 10 12 14 16 18 20 Q[m/]
80
— —~ n
”
60 [
L 0,
P n%
SINGLE IMPELLER kW 40
20
0 50 100 150 200 250 300 Q [/min]
NPSH
____—-—-’ - 10
0
0 50 100 150 200 250 300 Q [/min]

Rotation speed =3500 min-1
Test standard: 1ISO 9906:2012 - Grade 3B

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

= TVTY



EVMS

VERTICAL MULTISTAGE PUMP S

Dimensional sketch

Dimensions [mm] and Weights [Kg]

Oval flange (N)

%

TECHNICAL DATA
EVMSG10

Round flange (F) - DN40

HJ
2 2
& \id
& ¢
A ﬂ G38 A Gae
N o
- 2 holes M12 £ 4 holes 218
i (-
[ AN [ q ; | }1%
o ! A A R G38
- = # - il ojm 2 ?’ VL
I 1] ip=n o - 2
o feali=f JdDk " | clHeeli=khE ¢
| I | Toal
ol
130 | Ahoesiz ] %] || & 130 2 4 holes 212 m otto| || |
190 215 e
200 250 190 215
280 250
Motor Oval flange (N) Round flange (F)
~ . Weight . Weight
) 3
Pump Type [F”wn;a‘\; kw - size A H2 V;ﬁ:gh[ Pump + H2 V;ﬁ:gh[ Pump +
B C H3 P Motor P Motor
EVMSG10 1/0.75 1.6 0.75 80 2120| 160 139 232 343 20.3 29.8 343 24.1 33.6
EVMSG10 2/1.5 1.6 15 90S | o140| 180 148 267 353 20.5 34.5 353 24.3 38.3
EVMSG10 3/2.2 1.6 2.2 90L | 2140| 180 148 267 383 21.4 37.4 383 25.2 41.2
EVMSG10 4/3.0 1.6 3.0 100L | #160| 196 155 306 423 22.3 451 423 26.1 48.9
EVMSG10 5/4.0 1.6 40 | 112M | @160] 196 155 306 453 23.2 49.7 453 27 53.5
EVMSG10 6/4.0 1.6 40 | 112M | @160] 196 155 306 483 24 50.5 483 27.8 54.3
EVMSG10 7/5.5 1.6 5.5 132S | 2300 | 225 160 328 611 31.9 70.5 611 35.7 74.3
EVMSG10 8/5.5 1.6 5.5 132S | 2300 | 225 160 328 641 33.1 71.7 641 36.9 75.5
EVMSG10 9/5.5 1.6 55 | 132S | 300] 225 160 328 671 33.9 72,5 671 37.7 76.3
EVMSG10 10/7.5 1.6 7.5 | 132S | 2300 225 160 328 701 34.8 75.2 701 38.6 79
EVMSG10 11/7.5 25 7.5 132S | 2300 | 225 160 328 - 731 40.2 80.6
EVMSG10 12/7.5 25 7.5 132S | 2300 | 225 160 328 - 761 41.1 81.5
EVMSG10 14/11 25 11 | 160 M | 8350 | 248 194 476 - 851 51.1 113.6
EVMSG10 15/11 25 11 160 M | 2350 | 248 194 476 - 881 52.1 114.6
EVMSG10 16/11 2.5 11 160 M | 8350 | 248 194 476 - 911 53 115.5

1.6 MPa=16 bar ; 2.5 MPa=25 bar

- not available model

252

ESARA

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

6OH2



EVMS

o
&R
=
/ 3
o \\sﬂ,@ o
% e 2L HTT 2R KT B
« ¥ & N '\/m\\ 11111 o K~ Y - - T 60 Wb R &
o 111/\@\/&\ 11111 S I w N W TN NN

=
D

EVMSG10

SECTIONAL VIEW

VERTICAL MULTISTAGE PUMP S

6OHZ

=
)
=
T
C )
n )
= \ ¢ i .
=270\ i \VARY A4
=\ AL A AV,
W N gl )/ m—— T
= =4
uMmmmmmmmu4mmmmnmm mme\

= TVTY

with Round flange (F)

EBARA Pumps Europe reserves the right to make changes without prior notice

EBARA Pumps Europe

253



6OH2

VERTICAL MULTISTAGE PUMP S

EVMS

PIPE CONNECTION
EVMSG10

1
T
Q
«
o

)]
-
N

with Oval flange (N)

254

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

= EaanA



60Hz

VERTICAL MULTISTAGE PUMP S

EVMS

SECTIONAL TABLE
EVMSG10
Ne PART NAME MATERIAL DIMENSIONS | STANDARD
EVMSG
4 Casing cover EN 1.4301 (AISI 304)
5-1 Suction casing EN 1.4301 (AISI 304)
5-2 Intermediate Casing EN 1.4301 (AISI 304)
5-3 Intermediate casing bearing EN 1.4301 (AISI 304)
5-4 Discharge casing EN 1.4301 (AISI 304)
6 Bottom casing Cast Iron EN GJL-250-EN1561
7 Outer casing EN 1.4301 (AISI 304)
21 Impeller EN 1.4301 (AISI 304)
31 Shaft EN 1.4301 (AISI 304)
32-1 Adjuster Key EN 1.4301 (AISI 304)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304)
43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304)
43-6 Washer EN 1.4404 (AISI 316L) D. 26x1.2
44-1 Shaft sleeve bearing Tungsten carbide
46 Ring (mechanical seal) EN 1.4301 (AISI 304)
a7 Ring Holder EN 1.4301 (AISI 304)
48 Impeller nut A2-70 UNI 7323 with inox insert M10
52-1 Bearing Tungsten carbide
75 O-Ring (plug) EPDM D.12.37x2.62 | OR 3050
75-1 O-Ring (plug) EPDM
107 Liner ring EN 1.4301 (AISI 304) + PPS
111 Mechanical Seal SiC/Carbon/EPDM
111-3  [Mechanical seal seat EN 1.4301 (AISI 304)
111-4 Seal holder EN 1.4301 (AISI 304)
111-5 [Mechanical seal cartridge EN 1.4301 (AISI 304)
115-1 [O-Ring (outer casing) EPDM D. 164.46x5.34 OR 6645
115-4 |O-Ring (cartridge sleeve) EPDM D. 15.88x2.62 OR 121
115-5 [O-Ring (seal cover) EPDM D. 37.77x2.62 OR 3150
117 Flange gasket EPDM
120-1 |Tie-rod Galvanized steel 6.8 strenght class ISO 898/1 M12
120-3  [Screw A2-70 UNI 7323 M5x12 1SO 4762
up to 4.0 kW M6x25 1SO 4762
120-6  [Screw for coupling from 5.5 kW to 7.5 kW Galvanized steel M8x20 1SO 4762
above 11 kW M10x30 1SO 4762
120-11 |[Screw for counterflange A2-70 UNI 7323
MEC 80 M6x20 ISO 4017
120-13 [Screw for motor MEC 90-100-112 Galvanized steel 8.8 strenght class ISO 898/1 M8x20 ISO 4017
MEC 132 M12x40 1SO 4017
MEC 160 M16x50 ISO 4017
128-1  [Nut for tie rod Galvanized steel M12 UNI 5588
128-3  [Nut (motor) MEC 132 Galvanized steel M12 ISO 4032
MEC 160 M16 UNI 5588
130-1 [Set screw A2-70 UNI 7323 M5x8 UNI 5923
130-2 [Screw for coupling guard A2-70 UNI 7323 M5x6 UNI 7687
131-1 Pin for shaft Carbon Steel D. 5x35 UNI 4838
135-1 [Washer Galvanized steel D. 13x24x2.5 UNI 6592
137-1  |Impeller spacer EN 1.4301 (AISI 304)
140 Coupling up to 4.0 kW Die cast Aluminium EN AB-AISI11Cu2 (Fe)
above 5.5 kW Cast Iron
162 Motor bracket Cast iron EN-GJL-200-EN 1561
212 Plug EN 1.4301 (AISI 304) G 3/8
212-1 |Plug EN 1.4301 (AISI 304) G 3/8
212-2  |Venting plug EN 1.4404 (AISI 316L)
219 Counter flange Galvanized steel
245 Coupling guard EN 1.4301 (AISI 304)
273-1 Plug Washer EN 1.4301 (AISI 304)

255

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

= TVTY



6OHZ

VERTICAL MULTISTAGE PUMPS

EVMS

QUANTITY FOR MODEL

EVMSG10

-

3444444444444444
© ~
1 m)
n_I.fl._l.fl._l.fl._l.fl._l.fl._l._I.fl._l.fl. ﬁ4/._222222222222222
I &

R R ] o R Y B RN o e Y T Y gl e faoenao o~~~ |~ 1~
= ~

- Qlldlala|alalalalalalalalalala
O o oo e e e e e e e e e e d

=

o o

; R A e e A A e
ulllllllllllllll A.1/_.

ha N

A_W Al A A A A A A A A A A A A [
SR e I R N

o~
— O ||| a]|c]|cd]ala]a]
Q_u -

o
m111111111111111 M222222222222222
ha} <
nlllllllllllllll A—”ufl._I.fl._l.fl._I.fl._I.fl._l.fl.fl._l.fl._l.

P
~

old|n|«|n|e
g | dNjo |t wlo~oio SN (T[99 ©
= AR R e A e O e B AN E B R
RSN ANANAEARAN AR AR AR AR AR AR AN a
™~ —

,

R e R A EEARERAAARERARER AR AR AR SRR R NA

P
—

MGG GGG I S I B A Y A
o R e e e e e e e e
R I I I I I I I b
o N
A e e A I I A N%_444444444444444

X
Qlavfev oo oo e e fefen e e e e feu

=
- Qlmlmfo|o|om|o[ojo|jo|lololo|o|m
R R Rl R R KR ISR KN I VR KV KSR KR Y <
<
© @
o~ I~~~ |~|~|~|~|~]|~|~|~]~ Qs |||~~~ ]~~~ ]~~~
~ —

@ @

%111111122222222 Q I~ I~~~ =T |||~
|

N

ol

o ~|~lmw[~o D22 52K QN i

~ QIS it v st |v || |v|s |||~

- -

2111111111111111

© 3

S]] la]ala]ala]ala]ala]|al m_444444444444444
-

o l

Jidlnjm|st|v|o|~lo oS dIYIT 98 b

b
NI G I G A G A R A m_4444444444/////

—

O i AdAAA|ldA A |A|A|A | A |A A | | | [ o

:
Fk4_.v111111111111111 Qiv sl ||| ||| |||

-
M111111122222222 ™

SINARANANARERANANASANANANARNANANS
D i~l~ld|afo|< w0~ oo |d|Y 9 =

=

:
:1_.v111111111111111 SERARARAR AR AR AR AR AR AR A AR AR aE

-
<t Al A A A A A A A A A A A ¥

Nlajajafafo oo oo o)< <]~ |~|~

b=

0 10|10 |10
200 (A [
8 s|2ldl33]5]8]2]8]55558 ] 0 0|0 [
3|9 |]|F|v|s AR
2 9] |®|F|D|6|R|B|a ||| |a]= m7.5.20.0.0.5.5.5._H_H_H“.“.“.
a oo ololo|lololololololo|o|olo S QLIYIQIY IIVLILILIGSISI]ITFID S
R L P 9N FIB[O|R|D|S A |||
5 1001010000000 |0l0|0 |00 o |ojlolololololo|lolololo|olo|o|o
S>> 1> SIS IS5 (>1> 1> 1> (1> (> 1> DU.SSSSSSSSSSSSSSS
W W w WL W SIZISISIZSISIZIZIZIZIZIZIZ|IZ S
SISIS SIS IS ISI>1> 151> 151> 1> 1>
Wi W

128-6 / 135-6: with Aluminium coupling (see drawing pag.211)

* only for Oval flange (N)

256

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice




6OHZ

VERTICAL MULTISTAGE PUMP S

EVMS

280
P H
[MPa] [m

24 -
240
204
159 460
129 4
0.8 — 80
04 — 40
0 0
20

P2
[kw] 18
12
08
NPSH &
[m]

4
0

PERFORMANCE CURVE

EVMS(L)15
0 USgpm 20 40 60 80 100 120
| | | | | | |
[ I I I I [
0 Impgpm. 20 40 60 80 100
- 900
I~ 1285w H
~~ — ft]
T~y | goo |
11/18.5w _ N ~_
T T~
—10/15 kW \\ ™~ - 700
— L, ~ - ~.
— T9/15kw ~~— s
~ | — T~
— —_ \\\ \\\ L 600
— T8/M5kw— —— ~ \\
R 4 ™ —~ \‘ N\
M— \
=TT — —— \\ [~ 500
—_— — ~$ \ Q
— T6Mtw— | e N
T — — — 400
\\\ \
= 575w —
T — —— \\
[ ——
— 14/ ~ — - 300
75kw~____\_*.+ \\
[—
I T—
355w — —— L || ' ~~ L 200
T ——
= T2B0w——1— -+ | .
o — 100
——1/15w— — t
0
0 100 200 300 400 Q [Umin]
| | | | T Ig
0 10 15 20 2 Q]
80
n
/’
— 680 [%]
P n %
//
" 40
//
SINGLE IMPELLER kW
I B I N 20
| |
0 100 200 300 400 Q [l/min]
NPSH
— 20 i
//
—_— — 10
0
0 100 200 300 400 Q [Umin]

Rotation speed ~3500 min-1
Test standard: ISO 9906:2012 - Grade 3B

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

= TVTY



EVM S VERTICAL MULTISTAGE PUMPS 60+

TECHNICAL DATA
EVMS(L)15

Dimensional sketch

Oval flange (N) DIN Loose round flange (LF) - DN50 Victaulic® connection (V)
c
4 holes 018
B ’[’ ] ~ (I
e e Sy . j ~ o
" - - | i I 7§8 o B E%{ - Il :I:§
2 || | 8
& 817; 3 %\: == f Fr
© 4 holes D12
130 ‘ 22 4holesp12 m 2125 g 13
| 190
160 215 261 250
A G3B L 30 | 250
ﬁ
DIN Round flange (F) - DN50 Clamp connection (C )
o 2 hotes M12 4 holes 218
—
o 0 ]
==
- I i
. T im =l
gl ML i :
130 22 4 holes 212 ﬁ
190
300
Dimensions [mm] and Weights [Kg]
Loose round flange (LF) Victaulic® connection (V)
Motor Oval flange (N) Round flange (F) Clamp connection (C)
. 3~ . Weight . Weight . Weight
Pump Type [PMn;e; kw Size A H2 V:j:?]ht Pump + H2 Vgﬁ:ght Pump + H2 stf‘ht Pump +
B C H3 P Motor P Motor P Motor
EVMS(L)15 1/1.5 1.6 15 90S | 2140|180 148 267 387 16.9 29.6 387 18.8 315 387 16.9 29.6
EVMS(L)15 2/3 1.6 3.0 | 100L | 2160|196 155 306 397 17.3 40.1 397 19.1 41.9 397 17.2 40
EVMS(L)15 3/5.5 1.6 55 | 132S | 2300225 160 328 534 255 64.1 534 27.4 66 534 25.5 64.1
EVMS(L)15 4/7.5 1.6 75 | 132S | 2300|225 160 350 574 26.7 67.1 574 28.6 69 574 26.7 67.1
EVMS(L)15 5/7.5 1.6 7.5 | 132S | 9300|225 160 350 614 27.8 68.2 614 29.7 70.1 614 27.8 68.2
EVMS(L)15 6/11 1.6 11 160 M | 350 | 248 194 476 684 37.7 100.2 684 39.5 102 684 37.6 100.1
EVMS(L)15 7/11 1.6 11 | 160 M | 350 | 248 194 476 724 39.5 102 724 41.4 103.9 724 39.5 102
EVMS(L)15 8/15 25 15 | 160 M | 350 | 317 238 498 - - - 764 42.7 131.6 764 40.8 129.7
EVMS(L)15 9/15 25 15 | 160 M | 350 | 317 238 498 - - - 804 44 132.9 804 421 131
EVMS(L)15 10/15 25 15 | 160 M | 350 | 317 238 498 - - - 844 45.3 134.2 844 43.4 132.3
EVMS(L)15 11/18.5 25 185 | 160 L | #9350 317 238 542 - - - 884 46.6 150.6 884 44.7 148.7
EVMS(L)15 12/18.5 2.5 18.5 | 160 L | 9350|317 238 542 - - - 924 47.9 151.9 924 46 150

1.6 MPa=16 bar ; 2.5 MPa=25 bar
- not available model

258
% EBARA EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice




EVMS

120-13

140
107
273-1
75-1
212-1
128-5

- - - o+ -

1206
1283
‘ OQ\ \

EVMS(L)15

SECTIONAL VIEW

Ty

VERTICAL MULTISTAGE PUMP S

6OHZ

\ \ A7 =7
. %‘\m&\lu i

/]|

L IR B I I ¥ - -
gy @ L 4 < q g
N 2 -sco0 o d ow o 0 o ~
] o 6 6 N O e %) P

- = = - - o - - -

= TVTY

with Round flange (F)

EBARA Pumps Europe reserves the right to make changes without prior notice

EBARA Pumps Europe

259



6OH2

VERTICAL MULTISTAGE PUMP S

EVMS

PIPE CONNECTION
EVMS(L)15

2
7

/ R
[ 1/ \
{ |/ { ¢
[ =
{ ,x! ]
\ f T
| 7N
\ \
\ \ Y/
NN o g
NN 2/

_

NS 1‘\/{
.|m_\@ﬂf\d\

P
/ﬁﬂ,

with Loose round flange (LF)

with Oval flange (N)

/
/
Vs /‘ \ S
VAR «»v‘\
[ [/ | QY
| 7 e K
| 1Y/
| L /7% L
VA LHT %
N A\
VALY X7
N\~ /A
/. \ e/\/lv\ y y < A\
A\ —

=
\

with Clamp connection (C)

with Victaulic® connection (V)

260

EBARA Pumps Europe

= EaanA

tice

right to make changes without prior no

the

EBARA Pumps Europe reserves



6OHZ

VERTICAL MULTISTAGE PUMP S

EVMS

SECTIONAL TABLE
EVMS(L)15
N° PART NAME MATERIAL DIMENSIONS | STANDARD
EVMS EVMSL
4 Casing cover EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
5-1 Suction casing EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
5-2 Intermediate Casing EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
5-3 Intermediate casing bearing EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
5-4 Discharge casing EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
6 Bottom casing EN 1.4308 (AISI 304) EN 1.4408 (AISI 316)
7 Outer casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
21 Impeller EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
31 Shat EN 1.4301 (AISI 304) - EN 1.4404 (AISI 316L) -
EN 1.4462 (AISI 329A) EN 1.4462 (AISI 329A)
32-1 Adjuster Key EN 1.4301 (AISI 304)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304) EN 1.4401 (AISI 316L)
43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
43-4 Shaft sleeve (adjustment) EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
43-6 Washer EN 1.4404 (AISI 316L) D. 26x1.2
44-1 Shaft sleeve bearing Tungsten carbide
45 Flange holder EN 1.4301 (AISI 304)
46 Ring (mechanical seal) EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
47 Ring Holder EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
48 Impeller nut A2-70 UNI 7323 with inox insert A4-70 UNI 7323 with inox insert M10
52-1 Bearing Tungsten carbide
75 O-Ring (plug) EPDM D.12.37x2.62 | OR 3050
75-1 O-Ring (plug) EPDM
107 Liner ring EN 1.4301 (AISI 304) + PPS ‘ EN 1.4401 (AISI 316) + PPS
111 Mechanical Seal SiC/Carbon/EPDM
111-3  [Mechanical seal seat EN 1.4301 (AISI 304) [ EN 1.4401 (AISI 316)
111-4 Seal holder EN 1.4301 (AISI 304)
111-5 |Mechanical seal cartridge EN 1.4301 (AISI 304) ‘ EN 1.4401 (AISI 316)
115-1 |O-Ring (outer casing) EPDM D. 164.46x5.34| OR 6645
115-3 |O-Ring EPDM
115-4 |O-Ring (cartridge sleeve) EPDM D. 15.88x2.62 OR 121
115-5 |O-Ring (seal cover) EPDM D. 37.77x2.62 OR 3150
120-1 |Tie-rod Galvanized steel 6.8 strenght class ISO 898/1 M12
120-3  [Screw A2-70 UNI 7323 M5x12 I1SO 4762
up to 4.0 kW M6x25 I1SO 4762
120-6  |Screw for coupling from 5.5 kW to 7.5 kW Galvanized steel M8x20 1SO 4762
above 11 kW M10x30 I1SO 4762
120-11 [Screw for counterflange A2-70 UNI 7323
MEC 90-100-112 M8x20 1ISO 4017
120-13 |Screw for motor MEC 132 Galvanized steel 8.8 strenght class ISO 898/1 M12x40 1SO 4017
MEC 160 M16x50 1ISO 4017
128-1  [Nut for tie rod Galvanized steel M12 UNI 5588
128-3  |Nut (motor) MEC 132 Galvanized steel M12 ISO 4032
MEC 160 M16 UNI 5588
128-5  [Nut for tie rod Galvanized steel M12 UNI 7474
130-1 [Set screw A2-70 UNI 7323 M5x8 UNI 5923
130-2  |Screw for coupling guard A2-70 UNI 7323 M5x6 UNI 7687
131-1 Pin for shaft Carbon Steel D. 5x35 UNI 4838
135-1 [Washer Galvanized steel D. 13x24x2.5 UNI 6592
137-1  |Impeller spacer EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
140 Coupling up to 4.0 kW Die cast Aluminium EN AB-AISI11Cu2 (Fe)
above 5.5 kW Cast Iron
160 Base Die cast Aluminium EN AB-AISI11Cu2 (Fe)
162 Motor bracket Cast iron EN-GJL-200-EN 1561
212 Plug EN 1.4301 (AISI 304) \ EN 1.4401 (AISI 316) G 3/8
212-1  |Plug EN 1.4301 (AISI 304) | EN 1.4401 (AISI 316) G 3/8
212-2  |Venting plug EN 1.4404 (AISI 316L)
219 Counter flange EN 1.4301 (AISI 304) \ EN 1.4401 (AISI 316)
245 Coupling guard EN 1.4301 (AISI 304)
273-1  [Plug Washer EN 1.4301 (AISI 304) ‘ EN 1.4401 (AISI 316)
615 Flange Carbon steel

261

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

EBARA




EVMS

VERTICAL MULTISTAGE PUMP S

QUANTITY FOR MODEL
EVMS(L)15

Pump Type N
415-115-2{5-3|5-4| 6| 7 |21|31**|32-1|43-2|43-3| 43-4|43-6|44-1|45**| 46|47|48|52-1|75|75-1{107{111{111-3|111-4| 111-5| 115-1| 115-3*| 115-4| 115-5

EVMS(L)15 1/1.5 11§/ f(1j1f1j1|1 1 1 / 1 1 1 1 4 121111} 11} 2 1 1 1 1 1 2 2 1 1

EVMS(L)15 2/3 1f1)/f(1}j1f1{1|2 1 1 / 1 1 / 1 4 121111} 11} 2 2 1 1 1 1 2 2

EVMS(L)15 3/5.5 1,111 1f1f1;1|3 1 1 3 1 1 / 1 4 121111} 11 2 3 1 1 1 1 2 2 1 1

EVMS(L)15 4/7.5 17112 1f1f{1(1]|4 1 1 5 1 1 / 1 4 121141}y 1}1} 2 4 1 1 1 1 2 2 1 1

EVMS(L)15 5/7.5 11} 3]1f1]1|1|5 1 1 7 1 1 / 1 4 21111} 11} 2 5 1 1 1 1 2 2 1 1

EVMS(L)15 6/11 1] 1j3|2|1]1j1|6 1 1 7 2 2 / 2 4 121111} 2 1] 2 6 1 1 1 1 2 2 1 1

EVMS(L)15 7/11 1114211117 1 1 9 2 2 / 2 4 21111} 2 |1} 2 7 1 1 1 1 2 2 1 1

EVMS(L)15 8/15 1,15 211(1j1|8 1 1 11 2 2 / 2 4 121111} 2 |1} 2 8 1 1 1 1 2 / 1 1

EVMS(L)15 9/15 1111621119 1 1 13 2 2 / 2 4 121111} 2 |1} 2 9 1 1 1 1 2 / 1 1

EVMS(L)15 10/15 1,172 1f{1f1f10f 1 1 15 2 2 / 2 4 121141}y 2 |1} 2 10} 1 1 1 1 2 / 1 1

EVMS(L)15 11/18.5 11182111113 1 1 17 2 2 / 2 4 21111} 2 |1} 2 1| 1 1 1 1 2 / 1 1

EVMS(L)15 12/18.5 1119|2111 f12f 1 1 19 2 2 / 2 4 121111} 2 1] 2 12| 1 1 1 1 2 / 1 1

N°
Pump Type
120-1{120-3| 120-6|120-11* 120-13128-1| 128-3| 128-5| 128-6| 130-1| 130-2} 131-1| 135-1| 135-6| 137-1| 140| 160| 162| 212| 212-1| 212-2| 219*| 245| 273-1| 615**

EVMS(L)15 1/1.5 4 4 4 4 4 4 / 4 4 3 4 1 4 4 1 2 1 1 1 2 1 2 2 2 2
EVMS(L)15 2/3 4 4 4 4 4 4 / 4 4 3 4 1 4 4 1 2 1 1 1 2 1 2 2 2 2
EVMS(L)15 3/5.5 4 4 4 4 4 4 4 4 / 3 4 1 4 / 1 2 1 1 1 2 1 2 2 2 2
EVMS(L)15 4/7.5 4 4 4 4 4 4 4 4 / 3 4 1 4 / 1 2 1 1 1 2 1 2 2 2 2
EVMS(L)15 5/7.5 4 4 4 4 4 4 4 4 / 3 4 1 4 / 1 2 1 1 1 2 1 2 2 2 2
EVMS(L)15 6/11 4 4 4 4 4 4 4 4 / 3 4 1 4 / 1 2 1 1 1 2 1 2 2 2 2
EVMS(L)15 7/11 4 4 4 4 4 4 4 4 / 3 4 1 4 / 1 2 1 1 1 2 1 2 2 2 2
EVMS(L)15 8/15 4 4 4 / 4 4 4 4 / 3 4 1 4 / 1 2 1 1 1 2 1 / 2 2 2
EVMS(L)15 9/15 4 4 4 / 4 4 4 4 / 3 4 1 4 / 1 2 1 1 1 2 1 / 2 2 2
EVMS(L)15 10/15 4 4 4 / 4 4 4 4 / 3 4 1 4 / 1 2 1 1 1 2 1 / 2 2 2
EVMS(L)15 11/18.5 4 4 4 / 4 4 4 4 / 3 4 1 4 / 1 2 1 1 1 2 1 / 2 2 2
EVMS(L)15 12/18.5 4 4 4 / 4 4 4 4 / 3 4 1 4 / 1 2 1 1 1 2 1 / 2 2 2

* only for Oval flange (N)

** only for Loose round flange (LF)

= [] shaftin EN 1.4462 (AIS| 329A)

128-6 / 135-6: with Aluminium coupling (see drawing pag.211)

262

ESARA

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

6OHZ



6OHZ

VERTICAL MULTISTAGE PUMP S

EVMS

280
P H
[MPa] [m

24 -
240
204
159 460
129 4
0.8 — 80
04 — 40
0 0
20

P2
[kw] 18
12
08
NPSH &
[m]

4
0

PERFORMANCE CURVE

EVMSG15
0 USgpm 20 40 60 80 100 120
| | | | | | |
[ T T T T [
0 Impgpm. 20 40 60 80 100
- 900
I~ 1285w H
~ _| - ]
T~y | goo |
11/18.5w _ N ~_
T T~
__'10/15kw\\ \\ ™~ - 700
— L, ~ - ~.
— T9/15kw ~~— s
~ | — e~
— —_ \\\ \\\ L 600
— T8/M5kw— —— ~ \\
R 4 — —~ \‘ N\
— SN
=TT — — \\ [~ 500
—_ — T —— S
— T6Mtw— | e N
T — e B — 400
\\\ \
= 575w — ~—
T — — \\
[ ——
= B - 300
T4lrs5w— — | | — L, T~
[—
— T—
355w — —— L || ' ~~ L 200
T ——
—T2B50wW——— | __ .
IE— — 100
=—1/15kwW— — t
0
0 100 200 300 400 Q [Umin]
| | | | T Ig
0 10 15 20 25 Q]
80
— 60 1/1
- n% [%]
— 4
//
SINGLE IMPELLER kW
I B I N 20
| |
0 100 200 300 400 Q [l/min]
NPSH
— 20 i
//
— 10
0
0 100 200 300 400 Q [Umin]

Rotation speed ~3500 min-1
Test standard: 1SO 9906:2012 - Grade 3B

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

= TVTY



EVMS

VERTICAL MULTISTAGE PUMP S

Dimensional sketch

Dimensions [mm] and Weights [K(g]

TECHNICAL DATA
EVMSG15

Oval flange (N) DIN Round flange (F) - DN50
c c
B | B
|
2 E
© ©
< i
A G38 A 6B
o o
X 2 holes M12 I 4 holes 218
T I
LA s : : Q‘P\J‘\L{
A H - e
- g & 4 R - I ,,i’sﬂs g N
- D) - £
& 1,00 3:@ : s IPEIHI=E=E Ay
4 holes §12 H
130 ] oles 1100 | & 130 22 4 holes 212 m 2125 <
190 215
20 250 190 215
300 250
Motor Oval flange (N) Round flange (F)
~ . Weight . Weight
. 3
Pump Type [PMT:a;; kw Size A H2 V’;ljlr?]ht Pump + H2 V’;lﬁlr?]ht Pump +
B C H3 P Motor P Motor
EVMSG15 1/1.5 1.6 15 90S | #140| 180 148 267 387 21.2 33.9 387 26.9 39.6
EVMSG15 2/3 1.6 3.0 100L | 160 196 155 306 397 21.6 44.4 397 27.3 50.1
EVMSG15 3/5.5 1.6 55 132 S | 8300 | 225 160 328 534 29.8 68.4 534 35.5 741
EVMSG15 4/7.5 1.6 7.5 132 S | 8300|225 160 350 574 31 71.4 574 36.7 77.1
EVMSG15 5/7.5 1.6 7.5 132 S | 8300|225 160 350 614 32.1 725 614 37.8 78.2
EVMSG15 6/11 1.6 11 | 160 M | 9350 | 248 194 476 684 42 104.5 684 47.7 110.2
EVMSG15 7/11 1.6 11 160 M | 350 | 248 194 476 724 43.8 106.3 724 49.5 112
EVMSG15 8/15 25 15 | 160 M | 8350 | 317 238 498 - - 764 50.8 139.7
EVMSG15 9/15 25 15 160 M | 350 | 317 238 498 - - 804 52.1 141
EVMSG15 10/15 25 15 160 M | 350 | 317 238 498 - - 844 53.4 142.3
EVMSG15 11/18.5 25 18.5 | 160L | 350 317 238 542 - - 884 54.7 158.7
EVMSG15 12/18.5 2.5 18.5 160 L | 350 | 317 238 542 - - 924 56 160

1.6 MPa=16 bar ; 2.5 MPa=25 bar
- not available model

264

ESARA

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

6OH2



EVMS

VERTICAL MULTISTAGE PUMP S

6OHZ

120-13

140

EVMSG15

TRl

SECTIONAL VIEW

130-2
130-1
120-3

[

245
128-1

2731

\

= —

q‘/ﬂx‘ -
D

P\

135-1
2122

<+

116-1
13741

2121

with Round flange (F)

265

= TVTY

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice



6OH2

VERTICAL MULTISTAGE PUMP S

EVMS

PIPE CONNECTION
EVMSG15

266

EBARA Pumps Europe

1
T
Q
«
o

with Oval flange (N)

)]
-
N

= EaanA

EBARA Pumps Europe reserves the right to make changes without prior notice



60Hz

VERTICAL MULTISTAGE PUMP S

EVMS

SECTIONAL TABLE
EVMSG15
Ne PART NAME MATERIAL DIMENSIONS | STANDARD
EVMSG
4 Casing cover EN 1.4301 (AISI 304)
5-1 Suction casing EN 1.4301 (AISI 304)
5-2 Intermediate Casing EN 1.4301 (AISI 304)
5-3 Intermediate casing bearing EN 1.4301 (AISI 304)
5-4 Discharge casing EN 1.4301 (AISI 304)
6 Bottom casing Cast Iron EN GJL-250-EN1561
7 Outer casing EN 1.4301 (AISI 304)
21 Impeller EN 1.4301 (AISI 304)
EN 1.4301 (AISI 304) -
81 Shatt EN 1.4462 EAISI 329)A)
32-1 Adjuster Key EN 1.4301 (AIS| 304)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304)
43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304)
43-4 Shaft sleeve (adjustment) EN 1.4301 (AISI 304)
43-6 Washer EN 1.4404 (AISI 316L) D. 26x1.2
44-1 Shaft sleeve bearing Tungsten carbide
46 Ring (mechanical seal) EN 1.4301 (AISI 304)
47 Ring Holder EN 1.4301 (AISI 304)
48 Impeller nut A2-70 UNI 7323 with inox insert M10
52-1 Bearing Tungsten carbide
75 O-Ring (plug) EPDM D. 12.37x2.62 OR 3050
75-1 O-Ring (plug) EPDM
107 Liner ring EN 1.4301 (AISI 304) + PPS
111 Mechanical Seal SiC/Carbon/EPDM
111-3 Mechanical seal seat EN 1.4301 (AISI 304)
111-4  [Seal holder EN 1.4301 (AISI 304)
111-5 [Mechanical seal cartridge EN 1.4301 (AISI 304)
115-1 |O-Ring (outer casing) EPDM D. 164.46x5.34 OR 6645
115-4 |O-Ring (cartridge sleeve) EPDM D. 15.88x2.62 OR 121
115-5 |O-Ring (seal cover) EPDM D. 37.77x2.62 OR 3150
117 Flange gasket EPDM
120-1 |Tie-rod Galvanized steel 6.8 strenght class ISO 898/1 M12
120-3 Screw A2-70 UNI 7323 M5x12 ISO 4762
up to 4.0 kW M6x25 1SO 4762
120-6  [Screw for coupling from 5.5 kW to 7.5 kW Galvanized steel 6.8 strenght class ISO 898/1 M8x20 1ISO 4762
above 11 kW M10x30 1SO 4762
120-11 |Screw for counterflange A2-70 UNI 7323
MEC 90-100-112 M8x20 ISO 4017
120-13 |Screw for motor MEC 132 Galvanized steel 8.8 strenght class ISO 898/1 M12x40 1ISO 4017
MEC 160 M16x50 1SO 4017
128-1 Nut for tie rod Galvanized steel M12 UNI 5588
128-3 Nut (motor) MEC 132 Galvanized steel M12 ISO 4032
MEC 160 M16 UNI 5588
130-1 [Set screw A2-70 UNI 7323 M5x8 UNI 5923
130-2 [Screw for coupling guard A2-70 UNI 7323 M5x6 UNI 7687
131-1 Pin for shaft Carbon Steel D. 5x35 UNI 4838
135-1 |Washer Galvanized steel D. 13x24x2,5 UNI 6592
137-1  |Impeller spacer EN 1.4301 (AISI 304)
140 Coupling up to 4.0 kW Die cast Aluminium EN AB-AISI11Cu2 (Fe)
above 5.5 kw Cast Iron
162 Motor bracket Cast iron EN-GJL-200-EN 1561
212 Plug EN 1.4301 (AISI 304) G 3/8
212-1 |Plug EN 1.4301 (AISI 304) G 3/8
212-2  |Venting plug EN 1.4404 (AISI 316L)
219 Counter flange Galvanized steel
245 Coupling guard EN 1.4301 (AISI 304)
273-1  |Plug Washer EN 1.4301 (AISI 304)

267

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

= TVTY




EVM

S

VERTICAL MULTISTAGE PUMP S

QUANTITY FOR MODEL

EVMSG15

Pump Type

@
AN

5-2

5-3|5-4

N
[y

e

@
»
hN

ey
@
N

IS
®
w

Z

@
A
IN
@
(=)
IS
AR
AR
~
(=)

IS
3

'
@

o
»
N

~
ol

\,
a
i

107{111)111-3{111-4/111-5|115-1}115-4

115-5

EVMSG15 1/1.5

i
i
i
i

i

EVMSG15 2/3

EVMSG15 3/5.5

EVMSG15 4/7.5

EVMSG15 5/7.5

EVMSG15 6/11

EVMSG15 7/11

OIN| N W]~~~

EVMSG15 8/15

[iN
[N

EVMSG15 9/15

ClOoINIOo!lO A WINIF

[
w

ClOINIO, O RIWI NP

EVMSG15 10/15

i
(=]

[
(&)

i
o

EVMSG15 11/18.5

i
[

[
~

[
[

EVMSG15 12/18.5

RlrlRr|RRrRIRIRRR|R|~

O OINO|O|RWiWINFP]~~

N{N[NN[NININ R R R PP
RirlRr|RIRIRPIRR RIRRPIP

RlirlR|RRrRIRIR PR Ro

Rirlkr|RRrRIRIRRR|RR~N

P
N

R R R
RrirlkrIRrIRrIRRiRRRRR

[y
o

NININININININIRPIRPIRPIRPP

NININININININIRPIRPIRPIRPP
~ ~|~|~l~|~|~I~I~l~|~|pR
NININININININ{RPIRPIRPIRP P
NINININININININININININ

RlrlRr|RIPrIRIRIRIRIRPRP|P
RlirlRr|RPPrIRPIPIRIRIRP|RPP

NININININININPIRPIRP PP

RriRrlRrIRrIRrIRIRIRIRIRRR
BIDIDIDIDIMBDBDDDDND
PiRrIRIRIRIPIP R RIPRIRP
R R
RiRrIRIRIRPIRIRPR R RPRR
RiRr|lRrIRIRIRIRR R R~
[SIENINNERREENY N ENERNTRNTENY

RiRIRIRIRIRIR R R R

[
N

RiRr|lR|IRIRIRIRiR R R~

Pump Type

117+

120-1

120-3

120-6

120-11*

120-13

128-1

128-3

z
S

128-6|130-1|130-2

131-1

135-1

135-6|137-1|140|162|212|212-1|212-2|219*| 245

273-1

EVMSGI15 1/1.5

EN

EN

EN

IN

EN

IN

-~

IN
w
IN

EN

EN
i
EN

EN

EVMSG15 2/3

EVMSG15 3/5.5

EVMSG15 4/7.5

EVMSG15 5/7.5

EVMSG15 6/11

EVMSG15 7/11

EVMSG15 8/15

EVMSG15 9/15

EVMSG15 10/15

EVMSG15 11/18.5

EVMSG15 12/18.5

~i~lI~|~i=|nvInvIiNvININ

EERIER R I I I I e N R

e S N R IR R R

B I R R R R

It e Bt Bt IR 8 IR0 IR IR (P I

oI IR S S R R IR S I I

BIDMIDDIAMDDDNDDS

BIMIDMDDMDMDDDD~

~ ~l~|~l~|~|~|~=|~|~|»
WWWWWwwlw ww wlw
EERIER IR I P IR S R I I

RirlRIRIR|RIR| R R|R

ABAIBAIBAIDIABADISASDD

[ N P N N (N N N N N N
RiRr|IRIRIRIRRPRRR[~
NINININININININ NN NN
B i I N R I
RiRrIRIRIRRR R RPR R
INFNFNFNFN FN FNENEN FNES
I I

t It I I I NS ENEENT RN RN

NINININININ NN NN NN

EER R R I I e e R

*k%k

* only for Oval flange (N)
h shaft in EN 1.4462 (AISI 329A)

128-6 / 135-6: with Aluminium coupling (see drawing pag.211)

268

ESARA

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

6OHZ



6OHZ VERTICAL MULTISTAGE PUMP S EVMS

PERFORMANCE CURVE

EVMS(L)20
0 USgpm. 20 20 80 80 100 120 140
| | | | | ! | |
| T T T T 1 T
0 Impgpm. 20 40 60 80 100 120
280
- g00
p H
[MPa] [m] H
_| ~— [fi]
24 240 10/1 8.5‘ kW | - 800
>>gl ‘ T \1
18.5 kW___ <4 \\ - 700
20 T ~
200 —
— — ~— o~
8/15kw—_ i \\\
— —
—— ~—— N - 600
75— | B \ \\ \\
S BT I — N
= ~
\“\\ NN \\ L 500
| T6Mw— | T N
T T —— T~
— TN
12 = —5/11m —— N\ 400
120 — ~ \Y
— . \\
5\\\ \\
T T w— ~—— -
T ~§~~~ NN
08 & == —
— 375w —— — [~
L - 200
T—
T —
——2laow——— | ™~
04 40 ——
——1/22w— — __ 1 100
“‘\
0 0 0
0 100 200 300 400 500 Q [lfmin]
| T T T T T T T
0 5 10 15 20 25 30 Q[mn
24 80
P 2 _— n
”
KW 20 ——n% 80 [%
"
18 — ] 4
—
SINGLE IMPELLER kW
1.2 Il Il Il i Il Il Il 20
0 100 200 300 400 500 Q limin]
NPSH 12 NPSH
m g — 0
— 20
4 — 10
0 0
0 100 200 300 400 500 Q [lfmin]

Rotation speed =3500 min-1
Test standard: ISO 9906:2012 - Grade 3B

269
EBARA Pumps Europe g EBARA

EBARA Pumps Europe reserves the right to make changes without prior notice




EVMS

VERTICAL MULTISTAGE PUMP S

Dimensional sketch

Oval flange (N)

2
Lig
D
A G3B8
¢
- - &
-
o m s
130
190
200

4 holes 212 ‘

DIN

EVMS(L)20

250
et
2165

-

4 holes p18

TECHNICAL DATA

Loose round flange (LF) - DN50

G3B

Lol

Round flange (F) - DN50

ek

2165

S

41oles 018
| 7:' I
= e
,

=

Victaulic® connection (V )

Dimensions [mm] and Weights [Kg]

22  4holes 212 TT

et

4 holes 212

250

Loose round flange (LF)

Victaulic® connection (V)

Motor Oval flange (N) Round flange (F) Clamp connection (C)
. Weight . Weight . Weight
Pump Type [PMn;a;; kw - Size A 3 H2 sz:‘ig‘ Pum?a + H2 \AP/EEE‘ Pum?u + H2 \AP/SEII;‘ Pum?u +
B C H3 Motor Motor Motor
EVMS(L)20 1/2.2 16 22 90L | 2140|180 148 267 387 16.9 32.9 387 18.7 347 387 16.8 32.8
EVMS(L)20 2/4.0 16 4.0 112M | 160 | 196 155 306 397 17.3 43.8 397 19.1 45.6 397 17.2 43.7
EVMS(L)20 3/7.5 1.6 75 132 S | 2300 | 225 160 350 534 255 65.9 534 27.4 68 534 255 65.9
EVMS(L)20 4/7.5 1.6 75 132 S | 2300 | 225 160 350 574 26.8 67.2 574 28.6 69 574 26.7 67.1
EVMS(L)20 5/11 1.6 11 160 M | 2350 | 248 194 476 644 36.2 98.7 644 38 100.5 644 36.1 98.6
EVMS(L)20 6/11 1.6 11 160 M | 2350 | 248 194 476 684 36.4 98.9 684 38.3 100.8 684 36.4 98.9
EVMS(L)20 7/15 25 15 160 M | 8350 | 317 238 498 724 41.2 130.1 724 39.3 128.2
EVMS(L)20 8/15 25 15 160 M | 2350 | 317 238 498 764 425 131.4 764 40.6 129.5
EVMS(L)20 9/18.5 25 185 | 160L | 2350 | 317 238 542 804 43.9 147.9 804 42 146
EVMS(L)20 10/18.5 2.5 185 | 160L | 2350 | 317 238 542 844 45.2 149.2 844 43.3 147.3

1.6 MPa=16 bar ; 2.5 MPa=25 bar
- not available model

270

ESARA

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

6OH2



EVMS

120-13

140
107
273-1
75-1
212-1
128-5

- - - o+ -

1206
1283
‘ OQ\ \

EVMS(L)20

SECTIONAL VIEW

Ty

VERTICAL MULTISTAGE PUMP S

6OHZ

\ \ A7 =7
. %‘\m&\lu i

/]|

L IR B I I ¥ - -
gy @ L 4 < q g
N 2 -sco0 o d ow o 0 o ~
] o 6 6 N O e %) P

- = = - - o - - -

= TVTY

with Round flange (F)

EBARA Pumps Europe reserves the right to make changes without prior notice

EBARA Pumps Europe

271



6OH2

VERTICAL MULTISTAGE PUMP S

EVMS

PIPE CONNECTION
EVMS(L)20

2
7

/ R
[ 1/ \
{ |/ { ¢
[ =
{ ,x! ]
\ f T
| 7N
\ \
\ \ Y/
NN o g
NN 2/

_

NS 1‘\/{
.|m_\@ﬂf\d\

P
/ﬁﬂ,

with Loose round flange (LF)

with Oval flange (N)

/
/
Vs /‘ \ S
VAR «»v‘\
[ [/ | QY
| 7 e K
| 1Y/
| L /7% L
VA LHT %
N A\
VALY X7
N\~ /A
/. \ e/\/lv\ y y < A\
A\ —

=
\

with Clamp connection (C)

with Victaulic® connection (V)

272

EBARA Pumps Europe

= EaanA

tice

right to make changes without prior no

the

EBARA Pumps Europe reserves



6OHZ

VERTICAL MULTISTAGE PUMP S

EVMS

SECTIONAL TABLE
EVMS(L)20
N° PART NAME MATERIAL DIMENSIONS | STANDARD
EVMS EVMSL
4 Casing cover EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
5-1 Suction casing EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
5-2 Intermediate Casing EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
5-3 Intermediate casing bearing EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
5-4 Discharge casing EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
6 Bottom casing EN 1.4308 (AISI 304) EN 1.4408 (AISI 316)
7 Outer casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
21 Impeller EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
31 Shaft EN 1.4301 (AISI 304) - EN 1.4404 (AISI 316L) -
EN 1.4462 (AISI 329A) EN 1.4462 (AISI 329A)
32-1 Adjuster Key EN 1.4301 (AISI 304)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
43-4 Shaft sleeve (adjustment) EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
43-6 Washer EN 1.4404 (AISI 316L) D. 26x1.2
44-1 Shaft sleeve bearing Tungsten carbide
45 Flange holder EN 1.4301 (AISI 304)
46 Ring (mechanical seal) EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
47 Ring Holder EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
48 Impeller nut A2-70 UNI 7323 with inox insert A4-70 UNI 7323 with inox insert M10
52-1 Bearing Tungsten carbide
75 O-Ring (plug) EPDM D.12.37x2.62 | OR 3050
75-1 0O-Ring (plug) EPDM
107 Liner ring EN 1.4301 (AISI 304) + PPS [ EN 1.4401 (AISI 316) + PPS
111 Mechanical Seal SiC/Carbon/EPDM
111-3 Mechanical seal seat EN 1.4301 (AISI 304) ‘ EN 1.4401 (AISI 316)
111-4 Seal holder EN 1.4301 (AISI 304)
111-5 |Mechanical seal cartridge EN 1.4301 (AISI 304) ‘ EN 1.4401 (AISI 316)
115-1 |O-Ring (outer casing) EPDM D. 164.46x5.34| OR 6645
115-3 [O-Ring EPDM
115-4 |O-Ring (cartridge sleeve) EPDM D. 15.88x2.62 OR 121
115-5 |O-Ring (seal cover) EPDM D. 37.77x2.62 OR 3150
120-1 |Tie-rod Galvanized steel 6.8 strenght class ISO 898/1 M12
120-3  [Screw A2-70 UNI 7323 M5x12 ISO 4762
up to 4.0 kW M6x25 I1SO 4762
120-6  |Screw for coupling from 5.5 kKW to 7.5 kW Galvanized steel M8x20 1SO 4762
above 11 kW M10x30 I1SO 4762
120-11 |Screw for counterflange A2-70 UNI 7323
MEC 90-100-112 M8x20 1ISO 4017
120-13 |Screw for motor MEC 132 M12x40 ISO 4017
MEC 160 M16x50 1ISO 4017
128-1  [Nut for tie rod Galvanized steel M12 UNI 5588
128-3  |Nut (motor) MEC 132 Galvanized steel M12 IS0 4032
MEC 160 M16 UNI 5588
128-5  [Nut for tie rod Galvanized steel M12 UNI 7474
130-1 |Set screw A2-70 UNI 7323 M5x8 UNI 5923
130-2  |Screw for coupling guard A2-70 UNI 7323 M5x6 UNI 7687
131-1  [Pin for shaft Carbon Steel D. 5x35 UNI 4838
135-1 [Washer Galvanized steel D. 13x24x2.5 UNI 6592
137-1 |Impeller spacer EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
140 Coupling up to 4.0 kW Die cast Aluminium EN AB-AISI11Cu2 (Fe)
above 5.5 kW Cast Iron
160 Base Die cast Aluminium EN AB-AISI11Cu2 (Fe)
162 Motor bracket Cast iron EN-GJL-200-EN 1561
212 Plug EN 1.4301 (AISI 304) \ EN 1.4401 (AISI 316) G 3/8
212-1  |Plug EN 1.4301 (AISI 304) | EN 1.4401 (AISI 316) G 3/8
212-2  [Venting plug EN 1.4404 (AISI 316L)
219 Counter flange EN 1.4301 (AISI 304) \ EN 1.4401 (AISI 316)
245 Coupling guard EN 1.4301 (AISI 304)
273-1 |Plug Washer EN 1.4301 (AISI 304) \ EN 1.4401 (AISI 316)
615 Flange Carbon steel

273

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

EBARA




EVMS

VERTICAL MULTISTAGE PUMP S

QUANTITY FOR MODEL
EVMS(L)20

Pump Type N
415-1|5-2|5-3{5-4| 6| 7| 21|31**|32-1| 43-2[43-3| 43-4|43-6| 44-1| 45**| 46| 47|48[52-1{75|75-1]107{111|111-3|111-4|111-5{115-1|115-3*| 115-4| 115-5

EVMS(L)20 1/2.2 1|1}/ |1}j1})1]1|1 1 1 / 1 1 1 1 4 1211111 2 1 1 1 1 1 2 2 1 1

EVMS(L)20 2/4.0 1|1}/ |1}p1)1]1}|2 1 1 / 1 1 / 1 4 12111 11} 2 2 1 1 1 1 2 2

EVMS(L)20 3/7.5 1f1}1j1{1}1(1}3 1 1 3 1 1 / 1 4 12111 11} 2 3 1 1 1 1 2 2 1 1

EVMS(L)20 4/7.5 {1} 2111|114 1 1 5 1 1 / 1 4 1211}1, 11} 2 4 1 1 1 1 2 2 1 1

EVMS(L)20 5/11 {1} 221|115 1 1 5 2 2 / 2 4 12111 2 1} 2 5 1 1 1 1 2 2 1 1

EVMS(L)20 6/11 1f1]3|2(1|1|1]6 1 1 7 2 2 / 2 4 12111} 2 ]1] 2 6 1 1 1 1 2 2 1 1

EVMS(L)20 7/15 {14 2|1|1|1]7 1 1 9 2 2 / 2 4 12111} 2 1] 2 7 1 1 1 1 2 / 1 1

EVMS(L)20 8/15 1f{1}5|2(1|1|1|8 1 1 1] 2 2 / 2 4 12111 2 1} 2 8 1 1 1 1 2 / 1 1

EVMS(L)20 9/18.5 1f1}6|2{1|1(1}9 1 1 13} 2 2 / 2 4 12111 2 (1} 2 9 1 1 1 1 2 / 1 1

EVMS(L)20 10/18.5 11} 7] 2}1}|1f{1f10f 1 1 15} 2 2 / 2 412111, 2 1} 2 10} 1 1 1 1 2 / 1 1

N°
Pump Type
120-1{120-3| 120-6|120-11*|120-13| 128-1| 128-3|128-5| 128-6|130-1|{130-2| 131-1| 135-1| 135-6| 137-1| 140| 160| 162 |212| 212-1| 212-2| 219*| 245| 273-1| 615**

EVMS(L)20 1/2.2 4 4 4 4 4 4 / 4 4 3 4 1 4 4 1 2 1 1 1 2 1 2 2 2 2
EVMS(L)20 2/4.0 4 4 4 4 4 4 / 4 4 3 4 1 4 4 1 2 1 1 1 2 1 2 2 2 2
EVMS(L)20 3/7.5 4 4 4 4 4 4 4 4 / 3 4 1 4 / 1 2 1 1 1 2 1 2 2 2 2
EVMS(L)20 4/7.5 4 4 4 4 4 4 4 4 / 3 4 1 4 / 1 2 1 1 1 2 1 2 2 2 2
EVMS(L)20 5/11 4 4 4 4 4 4 4 4 / 3 4 1 4 / 1 2 1 1 1 2 1 2 2 2 2
EVMS(L)20 6/11 4 4 4 4 4 4 4 4 / 3 4 1 4 / 1 2 1 1 1 2 1 2 2 2 2
EVMS(L)20 7/15 4 4 4 / 4 4 4 4 / 3 4 1 4 / 1 2 1 1 1 2 1 / 2 2 2
EVMS(L)20 8/15 4 4 4 / 4 4 4 4 / 3 4 1 4 / 1 2 1 1 1 2 1 / 2 2 2
EVMS(L)20 9/18.5 4 4 4 / 4 4 4 4 / 3 4 1 4 / 1 2 1 1 1 2 1 / 2 2 2
EVMS(L)20 10/18.5 4 4 4 / 4 4 4 4 / 3 4 1 4 / 1 2 1 1 1 2 1 / 2 2 2

* only for Oval flange (N)

** only for Loose round flange (LF)

ik é shaft in EN 1.4462 (AISI 329A)

128-6 / 135-6: with Aluminium coupling (see drawing pag.211)

274

ESARA

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

6OHZ



6OHZ VERTICAL MULTISTAGE PUMP S EVMS

PERFORMANCE CURVE

EVMSG20
0 USgpm. 20 20 80 80 100 120 140
| | | | | ! | |
| T T T T 1 T
0 Impgpm. 20 40 60 80 100 120
280
- g00
p H
[MPa] m] H
_| ~— [fi]
24 240 10/1 8.5‘ kW - — 800
>>gl ‘ T \1
18.5 kW___ <4 \\ - 700
20 T ~
200 —
— — ~— o~
8/15kw—_ i \\\
— ‘\
—— ~—— N - 600
75— | B \ \\ \\
L BT I ™~ N
— — <
- \“\\ - ™S \ L 500
Te6Mw—_| —— N
T T —— T~
— TN
12 = —5/11m —— N\ 400
120 — ~ \Y
— . \\
5\\\ \\
T T w— ~—— -
L ~§§“ o~
08 & == —
— 375w —— — [~
L - 200
T—
T —
——2laow——— | ™~
04 40 ——
——1/22w— — __ 1 100
“‘\
0 0 0
0 100 200 300 400 500 Q [lfmin]
| T T T T T T T
0 5 10 15 20 25 30 Q[mn
24 80
P 2 _— n
”
KW 20 —n% 680 [%
"
18 — ] 4
—
SINGLE IMPELLER kW
1.2 Il Il Il i Il Il Il 20
0 100 200 300 400 500 Q limin]
NPSH 12 NPSH
m g — 0
— 20
4 — 10
0 0
0 100 200 300 400 500 Q [limin]

Rotation speed =3500 min-1
Test standard: ISO 9906:2012 - Grade 3B

275
EBARA Pumps Europe g EBARA

EBARA Pumps Europe reserves the right to make changes without prior notice




EVMS

VERTICAL MULTISTAGE PUMP S

Dimensional sketch

TECHNICAL DATA
EVMSG20

Dimensions [mm] and Weights [Kg]

Oval flange (N) DIN Round flange (F) - DN50
c c
e e
? 2
k2 ©
© &
A G38 A 68
g 2 holes M12 ]
L\ k= 4 holes 918
L] ;
- a— . Il Ga’a - =
[T 4
o Uoali=ls  Jl g |
130 4 holes #12 H 100 &
190 215
200 250
Motor Oval flange (N) Round flange (F)
Weight Weight
: 3~ : ) g
Pump Type [F;An;a:] KW Size A H2 V;’S'rih‘ Pump + H2 V";E'nzhl Pump +
B C H3 P P ] Motor
EVMSG20 1/2.2 16 22 | 9oL [e140]|180 148 267| 387 21.2 37.2 387 26.9 429
EVMSG20 2/4.0 16 40 | 112M|g160| 196 155 306| 397 216 48.1 397 27.3 53.8
EVMSG20 3/7.5 16 75 | 1325 | @300]| 225 160 350| 534 29.9 70.3 534 35.6 76
EVMSG20 4/7.5 16 75 | 1325 | @300]| 225 160 350| 574 311 715 574 36.8 77.2
EVMSG20 5/11 16 11 | 160M | 2350|248 194 476| 644 405 103 644 46.2 108.7
EVMSG20 6/11 16 11 | 160M | 2350|248 194 476| 684 40.7 103.2 684 46.4 108.9
EVMSG20 7/15 25 15 | 160 M | 2350|317 238 498 - - 724 49.4 138.3
EVMSG20 8/15 25 15 | 160 M | 2350|317 238 498 - - 764 50.7 139.6
EVMSG20 9/18.5 25 | 185 | 160L | 8350|317 238 542 - - 804 52 156
EVMSG20 10/18.5 25 | 185 | 160L | #350| 317 238 542 - - 844 53.4 157.4

1.6 MPa=16 bar ; 2.5 MPa=25 bar

- not available model

276

ESARA

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

6OH2



EVMS

VERTICAL MULTISTAGE PUMP S

6OHZ

SECTIONAL VIEW
EVMSG20

120-13

140

TRl

130-2
130-1
120-3

245
128-1

135-1
2122
1154
1151
137-1

with Round flange (F)

277

= TVTY

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice



6OH2

VERTICAL MULTISTAGE PUMP S

EVMS

PIPE CONNECTION
EVMSG20

278

EBARA Pumps Europe

1
T
Q
«
o

with Oval flange (N)

)]
-
N

= EaanA

EBARA Pumps Europe reserves the right to make changes without prior notice



60Hz

VERTICAL MULTISTAGE PUMP S

EVMS

SECTIONAL TABLE
EVMSG20
Ne PART NAME MATERIAL DIMENSIONS | STANDARD
EVMSG
4 Casing cover EN 1.4301 (AISI 304)
5-1 Suction casing EN 1.4301 (AISI 304)
5-2 Intermediate Casing EN 1.4301 (AISI 304)
5-3 Intermediate casing bearing EN 1.4301 (AISI 304)
5-4 Discharge casing EN 1.4301 (AISI 304)
6 Bottom casing Cast Iron EN GJL-250-EN1561
7 Outer casing EN 1.4301 (AISI 304)
21 Impeller EN 1.4301 (AISI 304)
EN 1.4301 (AISI 304) -
81 Shatt EN 1.4462 EAISI 329)A)
32-1 Adjuster Key EN 1.4301 (AIS| 304)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304)
43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304)
43-4 Shaft sleeve (adjustment) EN 1.4301 (AISI 304)
43-6 Washer EN 1.4404 (AISI 316L) D. 26x1.2
44-1 Shaft sleeve bearing Tungsten carbide
46 Ring (mechanical seal) EN 1.4301 (AISI 304)
47 Ring Holder EN 1.4301 (AISI 304)
48 Impeller nut A2-70 UNI 7323 with inox insert M10
52-1 Bearing Tungsten carbide
75 O-Ring (plug) EPDM D. 12.37x2.62 OR 3050
75-1 O-Ring (plug) EPDM
107 Liner ring EN 1.4301 (AISI 304) + PPS
111 Mechanical Seal SiC/Carbon/EPDM
111-3 Mechanical seal seat EN 1.4301 (AISI 304)
111-4  [Seal holder EN 1.4301 (AISI 304)
111-5 [Mechanical seal cartridge EN 1.4301 (AISI 304)
115-1 |O-Ring (outer casing) EPDM D. 164.46x5.34 OR 6645
115-4 |O-Ring (cartridge sleeve) EPDM D. 15.88x2.62 OR 121
115-5 |O-Ring (seal cover) EPDM D. 37.77x2.62 OR 3150
117 Flange gasket EPDM
120-1 |Tie-rod Galvanized steel 6.8 strenght class ISO 898/1 M12
120-3 Screw A2-70 UNI 7323 M5x12 ISO 4762
up to 4.0 kW M6x25 1SO 4762
120-6  [Screw for coupling from 5.5 kW to 7.5 kW Galvanized steel 6.8 strenght class ISO 898/1 M8x20 1ISO 4762
above 11 kW M10x30 1SO 4762
120-11 |Screw for counterflange A2-70 UNI 7323
MEC 90-100-112 M8x20 ISO 4017
120-13 [Screw for motor MEC 132 M12x40 1ISO 4017
MEC 160 M16x50 1SO 4017
128-1 Nut for tie rod Galvanized steel M12 UNI 5588
128-3 Nut (motor) MEC 132 Galvanized steel M12 ISO 4032
MEC 160 M16 UNI 5588
130-1 [Set screw A2-70 UNI 7323 M5x8 UNI 5923
130-2 [Screw for coupling guard A2-70 UNI 7323 M5x6 UNI 7687
131-1 Pin for shaft Carbon Steel D. 5x35 UNI 4838
135-1 |Washer Galvanized steel D. 13x24x2.5 UNI 6592
137-1  |Impeller spacer EN 1.4301 (AISI 304)
140 Coupling up to 4.0 kW Die cast Aluminium EN AB-AISI11Cu2 (Fe)
above 5.5 kw Cast Iron
162 Motor bracket Cast iron EN-GJL-200-EN 1561
212 Plug EN 1.4301 (AISI 304) G 3/8
212-1 |Plug EN 1.4301 (AISI 304) G 3/8
212-2  |Venting plug EN 1.4404 (AISI 316L)
219 Counter flange Galvanized steel
245 Coupling guard EN 1.4301 (AISI 304)
273-1  |Plug Washer EN 1.4301 (AISI 304)

279

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

= TVTY




EVMS

VERTICAL MULTISTAGE PUMP S

QUANTITY FOR MODEL

EVMSG20
Pump Type N
415-1|5-2|5-3|5-4| 6| 7|21|31**|32-1|43-2|43-3|43-4|43-6| 44-1{46|47|48]|52-1| 75| 75-1} 107/ 111{111-3|111-4|111-5/115-1| 115-4| 115-5
EVMSG20 1/2.2 1f1}/ 1111711 1 1 / 1 1 1 1 21111} 1 1 4 1 1 1 1 1 2 1 1
EVMSG20 2/4.0 {1}/ 1111712 1 1 / 1 1 / 1 21111} 1 1 4 2 1 1 1 1 2
EVMSG20 3/7.5 11,1112, 1/3}| 1 1 3 1 1 / 1(2j1j1f1 1 4 311 1 1 1 2 1 1
EVMSG20 4/7.5 11, 2(1f(1}1,114} 1 1 5 1 1 / 112j1j1f1 1 4 411 1 1 1 2 1 1
EVMSG20 5/11 111} 2|2]1{111}5 1 1 5 2 2 / 2 21111} 2 1 4 5 1 1 1 1 2 1 1
EVMSG20 6/11 11113 2]1i111,6 1 1 7 2 2 / 2 21111} 2 1 4 6 1 1 1 1 2 1 1
EVMSG20 7/15 1114|2111, 7 1 1 9 2 2 / 2 21111} 2 1 4 7 1 1 1 1 2 1 1
EVMSG20 8/15 1j1/5(2|111,1/8 1 1 (114 2 2 / 2 12|1|1} 2|1} 4 8|1 1 1 1 2 1 1
EVMSG20 9/18.5 1j1/,6(2|111,1/9] 1 1 (13| 2 2 / 2 12|1|1} 2|1} 4 911 1 1 1 2 1 1
EVMSG2010/185 |11} 7|2} 1}(1;1{10f 1 1 (15| 2 2 / 2 12|11} 2 |1} 4 101 1 1 1 2 1 1
N°
Pump Type
117*}120-1{120-3} 120-6| 120-11* | 120-13} 128-1| 128-3| 128-6| 130-1| 130-2| 131-1} 135-1} 135-6| 137-1| 140} 162} 212| 212-1}212-2| 219*| 245} 273-1
EVMSG20 1/2.2 2 4 4 4 4 4 4 / 4 3 4 1 4 4 1 2111 4 1 212 4
EVMSG20 2/4.0 2 4 4 4 4 4 4 / 4 3 4 1 4 4 1 2 1 1 4 1 2 2 4
EVMSG20 3/7.5 2 4 4 4 4 4 4 4 / 3 4 1 4 / 1 2111 4 1 22 4
EVMSG20 4/7.5 2 4 4 4 4 4 4 4 / 3 4 1 4 / 1 2111 4 1 22 4
EVMSG20 5/11 2 4 4 4 4 4 4 4 / 3 4 1 4 / 1 2 1 1 4 1 2 2 4
EVMSG20 6/11 2 4 4 4 4 4 4 4 / 3 4 1 4 / 1 2 1 1 4 1 2 2 4
EVMSG20 7/15 / 4 4 4 / 4 4 4 / 3 4 1 4 / 1 2 1 1 4 1 / 2 4
EVMSG20 8/15 / 4 4 4 / 4 4 4 / 3 4 1 4 / 1 21111 4 1 / 2 4
EVMSG20 9/18.5 / 4 4 4 / 4 4 4 / 3 4 1 4 / 1 21111 4 1 / 2 4
EVMSG20 10/18.5 / 4 4 4 / 4 4 4 / 3 4 1 4 / 1 21111 4 1 / 2 4

* only for Oval flange (N)
ik h shaft in EN 1.4462 (AISI 329A)

128-6 / 135-6: with Aluminium coupling (see drawing pag.211)

280

EBARA

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

6OHZ



6OHZ VERTICAL MULTISTAGE PUMP S EVMS

PACKING DRAWING
EVMS(.)1-3-5-10-15-20

<2g” TYPE 1

|
%VX&

67 TYPE 2

[

TYPE 3

[

281

EBARA Pumps Europe g EBARA

EBARA Pumps Europe reserves the right to make changes without prior notice




EVM S VERTICAL MULTISTAGE PUMP S 60+

PACKING DATA

EVMS(.)1-3-5
Pumps Pumps with motor ~3
) Weight + . Weight +

Pump type Packing [mm] Packing [kgf] Pack Packing [mm] Packing [kgf] Pack

X Y z |ewwsw| evmse | PP x Y z |evmsw)| evmsc | P8
EVMS(.)1 2/0.37 385 | 400 | 385 12.6 19.6 1 385 | 400 | 585 19.2 26.2 1
EVMS()1 3/0.37 385 | 400 | 385 13.1 20.0 1 385 | 400 | 585 19.7 26.6 1
EVMS()1 4/0.37 385 | 400 | 385 13.5 20.5 1 385 | 400 | 770 20.4 274 1
EVMS()1 5/0.37 385 | 400 | 585 14.5 21.4 1 385 | 400 | 770 20.9 27.8 1
EVMS()1 6/0.55 385 | 400 | 585 14.9 21.8 1 385 | 400 [ 770 21.7 28.7 1
EVMS()1 7/0.55 385 | 400 | 585 15.6 225 1 385 | 400 | 770 224 294 1
EVMS()1 8/0.75 385 | 400 | 585 16.0 22.9 1 385 | 400 | 770 26.1 33.1 1
EVMS()1 9/0.75 385 | 400 | 585 16.4 234 1 385 | 400 | 770 26.6 335 1
EVMS()1 10/0.75 385 | 400 | 585 16.9 23.8 1 385 | 400 | 770 27.0 33.9 1
EVMS()1 11/1.1 385 | 400 | 585 17.3 24.3 1 385 | 400 | 970 29.7 36.7 1
1 | EVMS()112/1.1 385 | 400 | 585 17.7 24.7 1 385 | 400 | 970 30.1 37.1 1
EVMS()1 13/1.1 385 | 400 | 585 18.4 25.4 1 385 | 400 [ 970 30.8 37.8 1
EVMS()1 14/1.1 385 | 400 | 770 19.3 26.3 1 385 | 400 | 970 31.2 38.2 1
EVMS()1 16/1.5 385 | 400 | 770 20.3 27.3 1 385 | 400 | 970 33.8 40.8 1
EVMS()1 18/1.5 385 | 400 | 770 21.2 28.2 1 385 | 400 | 970 34.7 41.7 1
EVMS()1 20/1.5 385 | 400 | 770 221 29.1 1 385 | 400 | 1170 | 36.2 43.1 1
EVMS()1 22/2.2 385 | 400 | 970 24.0 30.9 1 385 | 400 | 1170 | 40.9 47.9 1
EVMS()1 24/2.2 385 | 400 | 970 24.9 31.9 1 385 | 400 | 1170 | 41.9 48.8 1
EVMS()1 26/2.2 385 | 400 | 970 25.8 32.8 1 385 | 400 | 1170 | 4238 49.7 1
EVMS()1 27/2.2 385 | 400 | 970 26.3 33.3 1 385 | 400 | 1170 | 433 50.2 1
EVMS()1 29/2.2 385 | 400 | 970 27.2 34.2 1 500 | 525 | 1350 | 64.1 71.0 3
EVMS(.)3 2/0.37 385 | 400 | 385 12.5 17.6 1 385 | 400 | 585 19.1 24.2 1
EVMS(.)3 3/0.55 385 | 400 | 385 12.9 18.0 1 385 | 400 | 585 19.9 25.0 1
EVMS()3 4/0.75 385 | 400 | 385 13.6 18.7 1 385 | 400 | 770 25.3 30.4 1
EVMS()3 5/0.75 385 | 400 | 585 14.5 19.6 1 385 | 400 | 770 25.7 30.8 1
EVMS()3 6/1.1 385 | 400 | 585 14.9 20.0 1 385 | 400 | 770 26.6 31.8 1
EVMS()3 7/1.1 385 | 400 | 585 15.3 20.4 1 385 | 400 | 770 27.1 32.2 1
EVMS()3 8/1.5 385 | 400 | 585 15.8 20.9 1 385 | 400 | 770 20.1 34.2 1
EVMS()3 9/1.5 385 | 400 | 585 16.2 21.3 1 385 | 400 | 970 30.2 35.3 1
EVMS()3 10/1.5 385 | 400 | 585 16.6 21.7 1 385 | 400 | 970 30.6 35.7 1
EVMS()3 11/2.2 385 | 400 | 585 17.0 22.1 1 385 | 400 | 970 343 39.4 1
3 | EVMS()312/2.2 385 | 400 | 585 17.4 225 1 385 | 400 [ 970 34.7 39.8 1
EVMS()3 13/2.2 385 | 400 | 770 18.6 23.7 1 385 | 400 [ 970 35.4 40.5 1
EVMS()3 14/2.2 385 | 400 | 770 19.0 24.1 1 385 | 400 | 970 35.8 41.0 1
EVMS()3 15/3.0 385 | 400 | 770 19.5 24.6 1 385 | 400 | 970 43.2 48.3 1
EVMS()3 16/3.0 385 | 400 | 770 20.5 25.6 1 385 | 400 | 970 44.1 49.2 1
EVMS()3 17/3.0 385 | 400 | 770 21.0 26.1 1 385 | 400 | 1170 | 451 50.0 1

EVMS()3 19/3.0 385 | 400 | 770 21.9 27.0 1 400 | 510 | 1200 | 46.0 601 [1]2

EVMS(.)3 20/3.0 385 | 400 | 770 223 274 1 400 | 510 | 1200 | 465 606 [1]2
EVMS()3 21/4.0 385 | 400 | 770 22.8 27.9 1 400 | 510 | 1200 | 633 68.4 2
EVMS()3 22/4.0 385 | 400 | 970 23.6 28.8 1 400 | 510 | 1200 | 63.8 68.9 2
EVMS()3 23/4.0 385 | 400 | 970 24.1 29.2 1 400 | 510 | 1200 | 64.2 69.3 2
EVMS(.)5 2/0.75 385 | 400 | 385 12.7 17.8 1 385 | 400 | 770 24.4 29.6 1
EVMS()5 3/1.1 385 | 400 | 585 13.7 18.8 1 385 | 400 | 770 25.4 30.5 1
EVMS(.)5 4/1.5 385 | 400 | 585 14.4 19.5 1 385 | 400 | 770 27.8 32.9 1
EVMS()5 5/2.2 385 | 400 | 585 14.9 20.0 1 385 | 400 | 770 315 36.6 1
EVMS(.)5 6/2.2 385 | 400 | 585 15.4 20.5 1 385 | 400 | 770 32.0 37.1 1
EVMS()5 7/3.0 385 | 400 | 585 16.1 21.2 1 385 | 400 | 970 40.2 45.3 1
EVMS(.)5 8/3.0 385 | 400 | 585 16.4 215 1 385 | 400 | 970 40.5 45.6 1
EVMS()5 9/3.0 385 | 400 | 585 16.9 22.0 1 385 | 400 | 970 41.0 46.1 1
5 | EVMS()510/4.0 385 | 400 | 770 17.9 23.0 1 385 | 400 [ 970 48.9 52.9 1
EVMS()5 11/4.0 385 | 400 | 770 18.6 23.7 1 385 | 400 | 970 49.6 53.3 1
EVMS()5 12/4.0 385 | 400 | 770 19.7 24.8 1 385 | 400 | 970 50.7 53.6 1
EVMS()5 13/5.5 385 | 400 | 970 27.2 323 1 400 | 510 | 1200 | 75.8 80.9 2
EVMS()5 14/5.5 385 | 400 | 970 27.7 32.8 1 400 | 510 | 1200 | 76.3 81.4 2
EVMS()5 15/5.5 385 | 400 | 970 28.3 33.4 1 400 | 510 | 1200 | 76.8 81.9 2
EVMS()5 16/5.5 385 | 400 | 970 28.8 33.9 1 500 | 525 | 1350 | 88.2 93.3 3
EVMS()5 17/7.5 385 | 400 | 970 29.4 345 1 500 | 525 | 1350 | 90.7 95.8 3
EVMS()5 19/7.5 385 | 400 | 970 30.4 35.5 1 500 | 525 | 1350 | 91.6 96.7 3

282

% EBARA EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice



6OHZ VERTICAL MULTISTAGE PUMP S EVMS

PACKING DATA
EVMS(.)10-15-20

Pumps Pumps with motor ~3
! Weight + ’ Weight +
Pump type Packing [mm] Packing [kgf] | Pack Packing [mm] Packing [kgf] | Pack
X Y 7z |ewmsw) evmse | PP x Y 7z |ewmsw) evmse | P8
EVMS()10 1/0.75 385 | 400 | 585 | 231 | 266 | 1 | 385 | 400 | 770 | 344 | 378 | 1
EVMS(.)10 2/1.5 385 | 400 | 585 | 233 | 267 | 1 | 385 | 400 | 970 | 373 | 407 | 1
EVMS()10 3/2.2 385 | 400 | 585 | 242 | 276 | 1 | 385 | 400 | 970 | 415 | 449 | 1
EVMS(.)10 4/3.0 385 | 400 | 585 | 251 | 286 | 1 | 400 | 510 | 1200 | 587 | 622 | 2
EVMS(.)10 5/4.0 385 | 400 | 585 | 260 | 294 | 1 | 400 | 510 | 1200 | 67.0 | 705 | 2
EVMS()10 6/4.0 385 | 400 | 585 | 268 | 302 | 1 | 400 | 510 | 1200 | 67.8 | 713 | 2
EVMS()10 7/5.5 385 | 400 | 770 | 352 | 386 | 1 | 400 | 510 | 1200 | 751 | 786 | 2
10 | EVMS()108/5.5 385 | 400 | 770 | 364 | 398 | 1 | 400 | 510 | 1200 | 763 | 79.8 | 2
EVMS()10 9/5.5 385 | 400 | 770 | 372 | 406 | 1 | 400 | 510 | 1200 | 77.2 | 80.6 | 2
EVMS()10 10/7.5 385 | 400 | 770 | 380 | 415 | 1 | 400 | 510 | 1200 | 79.8 | 832 | 2
EVMS()10 11/7.5 385 | 400 | 970 | 404 | 435 | 1 | 400 | 510 | 1200 | 8L4 | 849 | 2
EVMS()10 12/7.5 385 | 400 | 970 | 410 | 445 | 1 | 500 | 525 | 1350 | 933 | 96.7 | 3
EVMS()10 14/11 385 | 400 | 970 | 463 | 498 | 1 | 500 | 525 | 1540 | 136.9 | 1404 | 3
EVMS(.)10 15/11 385 | 400 | 970 | 478 | 508 | 1 | 500 | 525 | 1540 | 137.3 | 140.7 | 3
EVMS()10 16/11 400 | 510 | 1200 | 624 | €58 | 2 | 500 | 525 | 1540 | 138.9 | 1424 | 3
EVMS()15 1/1.5 385 | 400 | 585 | 212 | 293 | 1 | 385 | 400 | 770 | 345 | 427 | 1
EVMS()15 2/3.0 385 | 400 | 585 | 216 | 207 | 1 | 38 | 400 | 770 | 440 | 496 | 1
EVMS()15 3/5.5 385 | 400 | 770 | 303 | 384 | 1 | 400 | 510 | 1200 | 792 | 874 | 2
EVMS()15 4/7.5 385 | 400 | 770 | 315 | 396 | 1 | 400 | 510 | 1200 | 822 | 904 | 2
EVMS(.)15 5/7.5 385 | 400 | 770 | 326 | 407 | 1 | 400 | 510 | 1200 | 834 | 915 | 2
15 | EVMSO15 611 385 | 400 | 770 | 424 | 496 | 1 | 500 | 525 | 1350 | 126.2 | 1343 | 3
EVMS()15 7/11 400 | 510 | 1200 | 543 | 624 | 2 | 500 | 525 | 1350 | 128.1 | 1362 | 3
EVMS()15 8/15 400 | 510 | 1200 | 556 | 637 | 2 | 500 | 525 | 1350 | 157.6 | 1657 | 3
EVMS(.)15 9/15 400 | 510 | 1200 | 56.9 | €50 | 2 | 500 | 525 | 1540 | 160.9 | 1690 | 3
EVMS(.)15 10 /15 400 | 510 | 1200 | 581 | 663 | 2 | 500 | 525 | 1540 | 1629 | 1710 | 3
EVMS()15 11/18.5 400 | 510 | 1200 | 594 | 676 | 2 | 500 | 525 | 1540 | 1840 | 1921 | 3
EVMS()15 12/18.5 400 | 510 | 1200 | 607 | 689 | 2 | 500 | 525 | 1540 | 1853 | 193.4 | 3
EVMS()20 1/2.2 385 | 400 | 585 | 212 | 293 | 1 | 385 | 400 | 770 | 378 | 459 | 1
EVMS(.)20 2/4.0 385 | 400 | 585 | 216 | 297 | 1 | 385 | 400 | 770 | 483 | 537 | 1
EVMS(.)20 3/7.5 385 | 400 | 770 | 303 | 385 | 1 | 400 | 510 | 1200 | 811 | 893 | 2
EVMS()20 4/7.5 385 | 400 | 770 | 315 | 397 | 1 | 400 | 510 | 1200 | 82.8 | 910 | 2
20 | EVMS()20 5711 385 | 400 | 770 | 409 | 491 | 1 | 500 | 525 | 1350 | 1247 | 1329 | 3
EVMS(.)20 6/11 385 | 400 | 970 | 416 | 498 | 1 | 500 | 525 | 1350 | 124.9 | 1331 | 3
EVMS(.)20 7/15 385 | 400 | 1170 | 445 | 500 | 1 | 500 | 525 | 1350 | 156.1 | 1642 | 3
EVMS(.)20 8/15 400 | 510 | 1200 | 459 | 636 |1]2| 500 | 525 | 1540 | 1722 | 1814 | 3
EVMS()20 9/18.5 400 | 510 | 1200 | 472 | 649 |1]2| 500 | 525 | 1540 | 1823 | 1904 | 3
EVMS()2010/185 | 400 | 510 | 1200 | 485 | 662 |1|2| 500 | 525 | 1540 | 182.6 | 190.8 | 3

283
EBARA Pumps Europe g EBARA

EBARA Pumps Europe reserves the right to make changes without prior notice




6OH2

VERTICAL MULTISTAGE PUMP S

A

300

g EBARA EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice




60Hz

VERTICAL MULTISTAGE PUMP S EVM

PRODUCT FEATURES

[General]
1. Pump Type
The EVM is Non-self-priming, vertical multistage in line, centrifugal pumps.
2. Model range
The EVM comes in 32,45 and 64 m3/h flow sizes for the majority market needs.
3.  Maximum operating pressure
The EVM can be operated at 16,25 or 30 bar as maximum.
4. Operating temperature range
The EVM can be operated from - 15 to + 120 °C as the maximum.
5. Material options
AISI 304, AIS| 316 and Cast iron versions are available.
6. Motor

The EVM can be coupled with the commercial motors that are acquired in the markets.

[Main Product Features]

1.

Robust constructions

« Commercial motors can be fitted to all of the pump models with additional ball bearing on the bracket.
« Stainless cast bottom casing to ensure 30 bar working pressure.

« Rolling groove pump shaft for high torque transmissions.

Energy saving
« High efficiency IE2 motor.
» The VFD (Variable frequency drive) can be fitted on the motor for the pressure boosting systems.

Easy maintenance
The cartridge shaft seal enables the plug in replacement of the shaft seal without disassembling the motor bracket.

301

EBARA Pumps Europe g EBARA

EBARA Pumps Europe reserves the right to make changes without prior notice



EVM

VERTICAL MULTISTAGE PUMP S

PRODUCT SPECIFICATIONS

EVM(.)32-45-64

PUMP
Version EVMG EVM EVML
~ [Nominal fiow rate (m*hn ) 22 | 45 | e4 2 | 45 | e4 2 | 45 | e4
Op;g:%t?g Maximum working pressure 1.6/3.0 MPa (16 bar/ 30 bar)
Liquid temperature range -15°C to 120°C
Impeller EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
Intermediate casing EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
Liner ring EVM 32 EN 1.4301 (AISI 304) + PTFE EN 1.4401 (AISI 316) + PTFE
EVM 45-64 EN 1.4401 (AISI 316) + PTFE
Bottom casing Cast Iron ASTMCF8 ASTMCF8M
Casing cover Cast Iron EN lag;tllmn * Cast Iron +
. (AISI 304) EN 1.4401 (AISI 316)
ey Shaft EN 1.4401 (AISI 316) o | o | o o | o | o o | o | o
Components Shaft sleeve bearing Tungstene carbide
Material type Cartridge mechanical seal
Shaft Seal
material Silicon Carbide/Carbon/FPM
O-ring EPDM FPM
Outer casing EN 1.4301 (AISI 304) EN 1.4404 (AIS| 316L)
Motor Bracket Cast Iron
Tie rod Carbon Steel
Coupling Carbon Steel
Base Cast Iron
corpe  [Round Flange (DIN) ° | ° | ° | ° | ° ° | ° | ° | °
Legend: @ Standard
MOTOR
Frequency 60 Hz
Phase Three Phase
Power Rotation speed =~ 3500 min-1
Source Power rating 40237 kW
5.5+50 HP
Voltage 220/380 +10% V (up to 4kW) 265/460 +10% V (up to 4kW)
380/660 +10% V (above 5.5 kW) 460 +10% V (above 5.5 kW)
Type Electric - TEFC
Efficiency Level IE2 to 4.0 KW (220-380V / 265-460V)
IE2 above 5.5 kW (380-660V / 460V)
Type No° of poles 2
Protection degree IP 55
Insulation Class F (temperature rise class B)
Thermal Protection PTC
Others Casing Material Aluminium
Flange mount (IEC motor) III\AMBEél(tl éi?/éosfsk:\\;\)/)

302

E2BARA

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

6OH2



6OHZ VERTICAL MULTISTAGE PUMP S EVM

SHAFT SEAL
EVM(.)32-45-64

1. Shaft Seal

(

3 3 3
— 1 1
3 2 o 5
3 - 3
up to 25 bar from 25 to 30 bar
Cartridge Unbalanced type Cartridge Balanced type
2. Type of Shaft Seal and Dimensions [mm]
Max operating Material
Size pressure d D, L Ly L, Ls S 1 2 3
[mm] [bar] [mm] |[mm] |[mm] |[mm] |[mm] |[mm] |[mm] | Stationary Seal Ring | Rotary Seal Ring | Rubber
25 25 25 | 43 39 | 265]125] 50 | 35 Carbon graphite Silicon carbide FPM
30 50 | 385|115 - -
303
EBARA Pumps Europe g ERARA

EBARA Pumps Europe reserves the right to make changes without prior notice



EVM

VERTICAL MULTISTAGE PUMP S

TYPE KEY
EVM(.)32-45-64

[EVM | |

| [32]]

L1 ]

Lo [LF|[6 ] Lt

(]

i

Jd

Phase motor
null = 3 phase

| Motor in kW _ pag.403

Pole
Null = 2 pole

Frequency
6 = 60Hz

Code for pipe connection
F = Round flange

Number of reduced diameter impellers
0j]1]2]|3

|Dash

| Number of impellers

|Space

Flow rate [m3/h]

32|45 | 64

Code for model series
null = AISI 304 version

L = AISI 316 version
G = Cast Iron version

Example for pump without motor

EVM32 1-0F6

P.IVA 01234660221 c €
v ® (KO
O‘Hmax & |Hrin @m‘@
e @ Imin |H O m
R 5 WH [min (8)
NG N
ME> (12) bl () %

| Series name

Example for pump with motor
EVM32 1-0F6/4.0

NAMEPLATE
1) “TYPE Pump model
2) Q" Indicates upper and lower flow rate limits
3) “H” Indicates head limits corresponding to minimum and maximum flow rate
4)  “Hmax Maximum head
5)  “Hmin Minimum head
6) “P2” Rated power of the motor (output at shaft)
7)  “HP” Rated power of the motor expressed in HP (Horse Power)
8) “Hz" Frequency
9) “min-1 Speed of rotation
10)  “PIN° Pump item number
11) “N” Material code
12) “MEI" Index of the pump’s quality in relation to its efficiency
13) “Hyd. Eff. ” Hydraulic efficiency of the pump

304

B Eaana

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

6OH2



60Hz

VERTICAL MULTISTAGE PUMP S

EVM

4.0
MPa]
MPe] 3.0
2.5

2.0

124
1.0+

0.8
0.6
0.5

0.4

0.3+

0.2

0.15

0.1
0.09
0.08 -
0.07 4

0.06 -

0.05 -

305

[m]

%]

400

250

200

150

120
100

80

60
50

40

30

20

@ ~N @ W o

100

80

60
50

40

30

20

usgpm.

PERFORMANCE RANGE
EVM(.)32-45-64

50 60 70 80 90100 120 140 160180200 250 300 350 400 500 600

Imp.g.p.m.

T 1T T T T T T T T1 L T
40 50 60 70 80 90100 120 140 160180200 250 300 350 400 500

1200

— 1000

900

- 800

700

- 600

40

- 350

300

250

200

e s el el e el el e el el el e i e

|
i
-120-32{ 45| 64

7

—
o
He Tt

50

40

P-4

30

25

—20

30

40

50 60

80

200 250 300

400 500 600 700 800

1000 1200 1500 2000 2500

Q [Vmin]
T 1 T 1
80 70 100 Qi

o
SHH

]

2

30

40

50 60

80

10 120

150

200 250 300

400 500 600 70D 800

1000 1200 1500 2000 2500
Q/min]

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

= TVTY



EVM VERTICAL MULTISTAGE PUMP S

CURVE SPECIFICATIONS

The specifications below qualify the curves shown on the following pages.

Tolerances according to 1ISO 9906:2012 - Grade 3B.

The curves refer to effective speed of asynchronous motors at 60 Hz, 2 poles.

Measurements were carried out with clean water at 20°C of temperature and with a kinematic viscosity
of v=1mm?%s (1 cSt).

The NPSH curve is an average curve obtained in the same conditions of performance curves.

During the pump selection, consider to get a safety margin of at least 0.5 m.

The continuous curves indicate the recommended working range. The dotted curve is only a guide.

In order to avoid the risk of over-heating, the pumps should not be used at a flow rate below 10% of best
efficiency point.

Symbols explanation:

Q = volume flow rate

H = total head

P, = pump power input (shaft power)

n = pump efficiency

NPSH = net positive suction head required by the pump

306

% EBARA EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

6OH2



6OHZ

VERTICAL MULTISTAGE PUMP S

SELECTION CHART

EVM(.)32-45-64

Maximum Q=Capacity
Pump Type Motor working |imin 0| 250 | 450 | 600 | 700 | 8oo | 950 | 1100 | 1200 | 1500 | 1700
Wl | mey | size |PTESSUTE [mem 0 [ 15 27 8 | 42 [ 48 [ 57 ] e6 72 90 102
Three phase [MPa] H=Total manometric head in meters
EVM(.)32 1-0F6/4.0 40 | 55 | 112M 347 31.4 28.3 243 20.6 165 - B - - B
EVM(.)32 2-2F6/5.5 55 | 75 | 132S 56.5 525 435 336 25.7 B - - - - -
EVM(.)32 2-0F6/7 5 75 10 | 132 S 69.5 63 56.6 485 a1 33.1 - - - - -
EVM(.)32 3-3F6/7.5 75 10 | 132S 845 79 65.3 50.5 385 - - - - - -
EVM(.)32 3-0F6/11 11 15 | 160 M 16 104 94 85 725 62 495 - - - - -
EVM()32 4-3F6/11 11 15 | 160 M 119 110 935 745 59 - - - - - -
EVM(.)32 4-0F6/15 15 20 | 160 M 139 125 113 97 825 66 - B - - -
EVM()32 5-3F6/15 15 20 | 160 M 152 143 124 995 795 61.5 - - - - -
EVM(.)32 5-2F6/15 15 20 | 160 M 158 147 130 107 86.5 67.5 - - - - -
20 |_EVM()32 5-0F6/18.5 185 | 25 | 160L 169 157 141 121 100 79.5 - - - - -
EVM(.)32 6-3F6/18.5 185 | 25 | 160L 186 174 152 124 100 775 - - - - -
EVM(.)32 6-0F6/22 22 30 | 180M 203 189 170 145 121 95.5 - - - - -
EVM(.)32 7-3F6/22 22 30 |isoM| 220 205 180 148 120 93 - - - - -
EVM(.)32 7-2F6/22 22 30 | 180M 221 210 186 155 127 99.5 - - - - -
EVM(.)32 7-0F6/30 30 40 | 200L 237 220 198 169 141 112 - - - - -
EVM()32 8-3F6/30 30 40 | 200 L 254 237 209 172 140 109 B B - - B
EVM(.)32 8-0F6/30 30 40 | 200L 271 252 226 194 161 127 - - - - -
EVM(.)32 9-3F6/30 30 40 | 200L 20 288 268 237 196 160 125 - - - - -
EVM()32 9-0F6/30 30 40 | 200 L 305 283 255 218 181 143 B B - - B
EVM()32 10-4F6/30 30 40 | 200L 316 295 259 213 173 135 - - - - -
EVM(.)45 1-1F6/5.5 55 | 75 |132S 31 - 28 26.3 24.6 22.3 17.7 11.9 - - -
EVM(.)45 1-0F6/7 5 75 10 | 132S 39.8 B 36.9 356 34.4 32.7 288 238 20 - B
EVM(.)45 2-2F6/11 11 15 | 160 M 62 - 56.5 535 50.5 46 377 26.9 - - -
EVM()45 2-1F6/11 11 15 | 160 M 71 - 65.5 63 60 56.5 49 38.7 - - -
EVM(.)45 2-0F6/15 15 20 | 160 M 795 - 745 72 70 67 60 50.5 435 - -
EVM(.)45 3-3F6/15 15 20 | 160 M 93 - 85 80.5 76.5 70 575 42 - - -
EVM(.)45 3-2F6/15 15 20 | 160M 16 102 - 94 90 86 80.5 69 53.5 - - -
EVM(.)45 3-1F6/18.5 185 | 25 | 160L 111 - 103 995 96 91 80 65.5 54.5 - -
EVM(.)45 3-0F6/22 22 30 | 180M 119 - 112 109 106 101 91 775 67 - -
45 |_EVM()45 4-3F6/18.5 185 | 25 | 160L 133 - 122 117 112 104 89 68.5 53 - -
EVM(.)45 4-2F6/22 22 30 | 180M 142 - 131 127 122 115 100 80.5 65.5 - -
EVM(.)45 4-1F6/30 30 40 | 200L 150 - 140 136 131 125 111 92.5 78 - -
EVM(.)45 4-0F6/30 30 40 | 200L 159 - 149 145 141 135 122 104 91 - -
EVM(.)45 5-3F6/30 30 40 | 200L 173 - 160 154 148 139 120 95 765 - -
EVM(.)45 5-2F6/30 30 40 | 200L 181 - 169 163 157 149 131 107 89 - -
EVM(.)45 5-1F6/30 30 40 | 200L 190 - 178 172 167 159 142 119 102 - -
EVM(.)45 5-0F6/37 37 50 | 200L 25 199 - 187 182 177 170 153 131 114 - -
EVM(.)45 6-3F6/37 37 50 | 200L 212 - 197 190 183 173 151 122 100 - -
EVM(.)45 6-2F6/37 37 50 | 200L 221 - 206 200 193 183 162 134 113 - -
EVM(.)45 6-1F6/37 37 50 | 200L 230 - 215 209 203 194 173 146 125 - -
EVM(.)64 1-1F6/7.5 75 10 | 132 S 33.9 - - 30.7 29.8 28.9 27.4 253 235 15.6 -
EVM(.)64 1-0F6/11 11 15 | 160 M 425 - - 385 37.7 36.8 35.6 33.9 325 26 19.9
EVM(.)64 2-2F6/15 15 20 | 160 M 68 - - 62 60.5 59 56.5 53 495 35.3 -
EVM(.)64 2-1F6/18.5 185 | 25 | 160L 76.5 - - 70 685 67 64.5 61.5 58.5 455 33.4
EVM(.)64 2-0F6/22 22 30 | 180M 85 - - 775 76 75 73 70 67.5 56 45
64 |_EYM()64 3-3F6/22 22 30 | 180M 16 102 - - 93.5 91 89 85.5 80.5 76 55 -
EVM(.)64 3-2F6/30 30 40 | 200L 110 - - 101 99 97 935 89 84.5 65.5 47
EVM(.)64 3-1F6/30 30 40 | 200L 119 - - 109 107 105 102 97.5 93.5 75.5 58.5
EVM(.)64 3-0F6/30 30 40 | 200L 128 B B 117 115 113 110 106 103 86 70
EVM(.)64 4-3F6/30 30 40 | 200L 144 B B 132 130 127 123 116 111 85 60.5
EVM(.)64 4-2F6/37 37 50 | 200L 153 - - 140 138 135 131 125 120 955 72
EVM(.)64 4-1F6/37 37 50 | 200L 162 - - 148 146 143 139 134 129 106 83.5

1.6 MPa=16 bar ; 2.5 MPa=25 bar ; 3.0 MPa=30 bar

307

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

EBARA




EVM VERTICAL MULTISTAGE PUMP S
PERFORMANCE CURVE
EVM(L)32
0 USgpm. 50 100 150 200 250
| I I I I I
I T T T T
0 Impgpm. 50 100 150 200
0.8 — 80
- 250
p H
MPel |l H
T~ i
T ——
- 200
0.6 — 60 —
— T T \2\~0/75kw
L Y
~ - \\
T~ — 150
NS
\2/56 N
04— 40 % AN
- \\ \\
I e 104 N\ — 100
‘\\kw\
‘\
02- 2 ~
} ~— NPSH
—~ ml M | s
NPSH faa o
] 52
——T | 10
0— 0 0
0 200 400 600 800 Q [iimin]
M T T T T T 1
0 10 20 30 | 50 amh]
8
P2 20 ——
o ° o —T
. T \\ T~
140 — T
2 I
0 200 400 600 800 Q [limin]
80
[°T/:] 70 — 20
_~ S~
_— > Y
60 v 29 10
50
0 200 400 600 800 Q [iimin]
Rotation speed =3500 min-1
Test standard: 1ISO 9906:2012 - Grade 3B
308

5 EBARA EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

6OH2



60+ EVM
VERTICAL MULTISTAGE PUMP S
PERFORMANCE CURVE
EVM(L)32
0 USgpm. 50 100 150 200 250
| | | | | |
| T T T T
0 Impgpm. 50 100 150 200
16— 160
- 500
p H
[MPa] m H
T~ [t
T ——
12+ 120 == — — 400
T~ \\4ﬂ45kw
—— _ \\‘ T\\\
| I — \\@/7, - 300
I —— ~~—— kw
08-{ 80 — 3.0/11\‘\ ™\
~—_ L | kw \\\ \\\
250 \ - 200
N N
04— 40 ~ NPSH
m M 100
NPSH — g
e 5 20
——T | 10
0- 0 0
0 200 400 600 800 Q [imin]
| T T T T T |
0 10 2 30 40 50 Qjmdn)
16 :
P2 410 —
poy 2 43 — T S ——
5 30 T
\ " —
33—
4 L
0 200 400 600 800 Q [imin]
80
n
%] 70 — 40
\‘\\ - - 30
60 e N 43
33
50
0 200 400 600 800 Q [imin]
Rotation speed ~3500 min-1
Test standard: 1ISO 9906:2012 - Grade 3B
309

EBARA Pumps Europe 5 EBARA

EBARA Pumps Europe reserves the right to make changes without prior notice



60+,
EVM VERTICAL MULTISTAGE PUMP S
PERFORMANCE CURVE
EVM(L)32
¢ USgpm. 50 100 150 200 250
| | | l | l
| T T T T
0 Impgpm. 50 100 150 200
20— 200
p H - 600
[MPa] ml H
—— I
54 mp————— L 500
- ‘t \fﬂ/785
O A
P
N 5"{ — 400
5‘?/\\
75 N
&y \
10— 100 N
\\ - 300
\\
N
NPSH | 500
i
05 50 [m] If]
10
30
_~ 100
NPSH _— 5 ¥
—T 10
0 0 0
0 200 400 600 800 Q [imin]
| T T T T T |
0 10 20 30 40 50 Q[m]
20
P2 . 50
w1 57 [ —
12 L™ —
53 — |
8 ‘
0 200 400 600 800 Q i/min]
80
[2} 70 50
" \
-~ 52
60 " |
50
0 200 400 600 800 Q [imin]
Rotation speed ~3500 min-1
Test standard: ISO 9906:2012 - Grade 3B
310

5 EBARA EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice



6OHZ

VERTICAL MULTISTAGE PUMP S

EVM

PERFORMANCE CURVE

EVM(L)32
0 USgpm 50 100 150 200 250
| I I I I I
[ T T T T
0  Impg.p.m. 50 100 150 200
3.2 320
— 1000
p H
[MPa] ml H
[ft]
24- 240 — 800
. \:::l\ . - 600
l\\\ [ — ~0/22k
16— 180 6-3 /M
e
N N
\\ — 400
N
N
0.8 - 80 ™ NPSH
m M |20
NPSH _— R
e 5 20
e — 10
0~ 0 0
0 200 400 600 800 Q [min]
] T T T T T 1
0 10 20 30 40 50 Q[min
2
P2 6-0
U —
/ "
14 ]
6-3
10
0 200 400 600 800 Q [min]
80
n
%] 70 &0
0] / \
60
/ ~ 6-3
50
0 200 400 600 800 Q [min]
Rotation speed ~3500 min-1
Test standard: ISO 9906:2012 - Grade 3B
311

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

= TVTY



EVM

VERTICAL MULTISTAGE PUMP S

PERFORMANCE CURVE

EVM(L)32
0 USgpm. 50 100 150 200 250
| I I I I I
[ T T T T
0 Impgpm. 50 100 150 200
24 40 ———
p T T
[MPa] [m] T —1= ~— 700 H
\\ > 04’[4,
18- 180 %, i~ 600
ZG/{’ N \
NN\
— 500
N
N
NN\ — 400
12— 120
NN
N
N — 300
NPSH
0.6 - 60 m {20
10
30
" — 100
NPSH ',/ .
0— 0 0
0 200 400 600 800 Q [lfmin]
I T T T T T 1
0 10 2 30 40 50 Qmin]
24
P2 20 7-0 —_
[KW] \ PP
7-2 — —~ =
16 I —
7-3 —
12
0 200 400 600 800 Q [lmin]
80
[2] 70 70
60 / ( ‘
/ ~ 7-3
50
0 200 400 600 800 Q [lfmin]
Rotation speed =3500 min-1
Test standard: 1ISO 9906:2012 - Grade 3B
312

B Eaana

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

6OH2



6OHZ

VERTICAL MULTISTAGE PUMP S

EVM

32 320

[MPa] [m]

24 — 240

1.6 160

0.8 — 80

28
P2
kw]

20
16

80
[%] 70
60

50

313

PERFORMANCE CURVE

EVM(L)32
0 USgpm. 50 100 150 200 250
| | ! | | |
[ [ [ [ [
0 Impgpm. 50 100 150 200
- 1000
H
—— I
[T~ - 800
\\\&2{30\%
8.
\\3/‘?‘7/@ ~_
N
N \ — 600
N
\
N
\\
\\ NPSH | 40
[m] ]
> 0 4
- - 200
" — 20
NPSH - 5
— - 10
0
0 200 400 600 800 Q [limin]
| T T T T T |
0 10 20 30 40 50 Q[m]
83 T
\ \ -~
~—
0 200 400 600 800 Q [limin]
— y
/ — "~ — 8}0
/ — 8-3
0 200 400 600 800 Q limin]

Rotation speed ~3500 min-1
Test standard: ISO 9906:2012 - Grade 3B

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

= TVTY



EVM

VERTICAL MULTISTAGE PUMPS

PERFORMANCE CURVE

EVM(L)32
0 USgpm 50 100 150 200 250
| 1 1 1 1 1
I T T T T
0 Impgp.m. 50 100 150 200
324 320 —
L T — 1000
p H | T — — 1 \“\
[MPa] [m] — - —~ H
T~ TN/ f
~—— Ny - 800
24 — 240 S “0/30\
X2
NI
NN
\\ — 600
16— 160 \\
“
NPsH | 400
[m] [
0.8 — 80 10— -
/,/ - 200
20
NPSH /,/ 5—
— - 10
0-— 0 0
0 200 400 600 800 Q[l/min]
I T T T T T 1
0 10 20 30 40 50 Q[mdn]
31
P2 104
(kW] 9\_0 ~
9'3 — \/
19 | —
0 200 400 600 800 Q [/min]
80
n }
— 9-0
[%] 70 —
60 / ( ‘
v ™~ 93
50
0 200 400 600 800 Q [Umin]
Rotation speed =3500 min-1
Test standard: 1ISO 9906:2012 - Grade 3B
314

B Eaana

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

6OH2



60Hz

VERTICAL MULTISTAGE PUMP S

Dimensional sketch

TECHNICAL DATA
EVM(L)32

Round flange (F) - DN65
B
\
\
© -
T Q
E
N
L. -
A
| GaB
o
I
N° SN holes 218
g; G38
mlD<= =182 g 4{1{) L
‘91 8 :K\,& =
N 4holesota| |8 |23 o145
170 240
210
320 280
Dimensions [mm] and Weights [Kg]
Motor Round flange (F)
Pmax | ww  Size A 3~ H2 | sn | Weight Weight
Pump Type [MPa] B c H3 Pump | Pump + Motor
EVM(L)32 1-0F6/4.0 16 | 40 | 112m [ 160 [196 155 306] 503 | 4 56 #RIF!
EVM(L)32 2-2F6/5.5 16 | 55 | 1325 | 300 | 225 160 328| 524 | 4 58 96.6
EVM(L)32 2-0F6/7.5 16 | 75 | 1325 | 300 | 225 160 350| 524 | 4 58 98.4
EVM(L)32 3-3F6/7.5 16 | 75 | 1325 | 300 | 225 160 350| 572 | 4 74 114.4
EVM(L)32 3-0F6/11 16 11 | 160M | 350 | 248 194 476| 703 | 4 74 1365
EVM(L)32 4-3F6/11 16 11 | 160M | 350 | 248 194 476| 751 | 4 77 1395
EVM(L)32 4-0F6/15 16 15 | 160M | 350 | 317 238 498| 751 | 4 77 165.9
EVM(L)32 5-3F6/15 16 15 | 160M | 350 | 317 238 498| 799 | 4 96 184.9
EVM(L)32 5-2F6/15 16 15 | 160M | 350 [ 317 238 498| 799 | 4 96 184.9
EVM(L)32 5-0F6/18.5 16 | 185 | 160L | 350 |317 238 542| 799 | 4 96 200
EVM(L)32 6-3F6/18.5 25 | 185 | 160L | 350 | 317 238 542| 847 | 8 929 203
EVM(L)32 6-0F6/22 25 22 | 180M | 350 [ 360 268 577| 847 | 8 99 262
EVM(L)32 7-3F6/22 25 22 | 180M | 350 [ 360 268 577| 895 | 8 102 265
EVM(L)32 7-2F6/22 25 22 | 180M | 350 [ 360 268 577| 895 | 8 102 265
EVM(L)32 7-0F6/30 25 30 | 200L | 400 |399 300 658 910 | 8 105 333
EVM(L)32 8-3F6/30 25 30 | 200L | 400 |399 300 658| 958 | 8 105 333
EVM(L)32 8-0F6/30 3.0 30 | 200L | 400 [399 300 658| 958 | 8 105 333
EVM(L)32 9-3F6/30 3.0 30 | 200L | 400 |399 300 658|1006| 8 108 336
EVM(L)32 9-0F6/30 3.0 30 | 200L | 400 [399 300 658| 1006| 8 108 336
EVM(L)32 10-4F6/30 3.0 30 | 200L | 400 | 399 300 658)1054| 8 108 336

1.6 MPa=16 bar ; 2.5 MPa=25 bar; 3.0 MPa=30 bar

315

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice




EVM

VERTICAL MULTISTAGE PUMP S

75-1
2731
e 212-1
/ -
\
\
! : [
J Lol

SECTIONAL VIEW
EVM(L)32

|

|

Pump without ball bearing

316

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

6OH2



6OHZ

M

VM

VERTICAL MULTISTAGE PUMP S

SECTIONAL VIEW

EVM(L)32
2742
120-13 150
140 T | 2743
- ! T
131-1 e =\ — =¢//w—'1/ / i | 56
1304 % Q R 51
1114 \ - T jj\
q 120-8
130-1 U Yt
S~ L 245
120-3 N
P 1302
128-1 @
W 120-6
135-1
1112 \ ih
- \:\ \
274-1 LN
\\ \
435 ~ g
\\\\\

12044 —— |

43-2

433 — | J

821 — |
“t—  F
34— |
137-1 ==

1 — il
48 A ==
751 3

2731 6 \

_

- 2121 45— / J L A
S| N O

\ 613

|

i
VAN

Pump with single ball bearing

317
EBARA Pumps Europe 5 EBARA

EBARA Pumps Europe reserves the right to make changes without prior notice




EVM

VERTICAL MULTISTAGE PUMP S

SECTIONAL VIEW
EVM(L)32
1207 2742
1354 150
120-13 ————] ||
=N
51 /L \‘ l} . ‘
128-3 AZT | .' D Q
N |
120-8 \L:J
245 N 701
140-2 i i N 56
131-1 e [‘% . 162
130-2 “ wiit) T ! 140-1
1304 " ! 39-1
| |
1114 | & ; 135-3
130-1 '- ) q' 1205
120-3 ‘n‘ as:.r—%: | 120-6
128-1 L e J‘ 1204
- T [T
135-1 H ] 273
i ~ v 75
‘f *T = 212
( ‘ o | G 1
| : i~ Q\ 115-1
. \\ 1155
111-5 /i,/(nfz: %(7 > !‘\\111-3
1154 ?I/; B f \\111-1
43-1 / ] \ 5-4
47 /’f/ ] \ 111-2
2741 | \ 1303
| 043-5
! i
{ ] -l
} QQ -
1204 — | |
33— | ‘ _J R
52-1 \\T\
444 \F‘E\ -
43-4 \:_I =
137-1 —F km =
48— TNy
751 \
2731 \.\
2124 A
NN

Pump with single ball bearing

B Eaana

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

6OH2



6OHZ VERTICAL MULTISTAGE PUMP S EVM
SECTIONAL VIEW
EVM(L)32
1207 — 4 129
1354 } Ie 136

| 70-1

12013 ——— 1 | § I

NSRS
1 ?\;:z \ |
1283 R |

|
1
|
N\ . ‘. i
1208 3y | | /
245 NN ==
140-2 il | 56

O

n
)

ans iy H
131-1 ( [‘+f HE = ) 162
| K -
130-2 '. T [T i 1401
1304 '. ; 394
|
1114 ‘n & I“ 135-3
130-1 | 7 | 120-5
120-3 | — i 120-6
| B + ]
128-1 \ J 1204
135-1 \ WL\:T T 273
i ® 75
(1 N — U 212

li

|
—
—
1mea—— Ll | \\
431 o =~ r&\ 1113
4 —— %;J a \\ 1141

2741 /T \ 1112
H \ 54
\ 130-3
435
J -
| J R
|
| J -
|
{ J -
\
| J -
1200 —— |
| J -l
52-1 \T
1
L

48
Sy — \
75-1 31 \
2731 6— | \
B - S
221 45— / AN
613 il PN

.
[T
1N
UV
)
N/
N
UV

,r;:
o —

Pump with double ball bearing

319
EBARA Pumps Europe g EBARA

EBARA Pumps Europe reserves the right to make changes without prior notice




EVM

VERTICAL MULTISTAGE PUMPS

SECTIONAL TABLE

EVM(L)32
N° PART NAME MATERIAL DIMENSIONS | STANDARD
EVM | EVML

5-1 Suction casing EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
5-2 Intermediate Casing EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
5-3 Intermediate casing bearing EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
5-4 Discharge casing EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
6 Bottom casing EN 1.4308 (ASTMCF8) | EN 1.4408 (ASTM CF8M)
7 Outer casing EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
11 Casing cover Cast iron+ Castiron +

EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
21 Impeller EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
21-1 Reduced impeller
31 Shaft EN 1.4401 (AISI 316)
39-1 Key Carbon Steel 12X8X90 UNI 6604
43-1 Shaft sleeve (mechanical seal) EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
43-4 Shaft sleeve (adjustment) EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
43-5 Shaft sleeve (last stage) EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
44-1 Shaft sleeve bearing Tungsten carbide
45 Flange holder EN 1.402 (AISI 420)
a7 Ring Holder EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
48 Impeller nut A2.'79 UN! 7323 A4f79 UN! 7323 M16

with inox insert with inox insert

51 Motor adapter Cast iron EN-GJL-200-EN 1561
52-1 Bearing Tungsten carbide
56 Ball bearing see table page 322
70-1 Ring for bearing EN 1.4301 (AISI 304)
75 O-Ring (plug) EPDM FPM
75-1 O-Ring (plug) EPDM FPM
107 Liner ring PTFE/EN 1.4301 (AISI 304) PTFE/EN 1.4401 (AISI 316)
111-1  |Mechanical seal Silicon carbide / Carbon / FPM
111-2  |Mechanical seal cartridge EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
111-3 Mechanical seal seat EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
111-4 |Seal holder Brass OT 58 UNI 5705 EN 1.4401 (AISI 316)
111-5 |Adjusting ring EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
115-1 |O-Ring (outer casing) EPDM FPM D.208.91 X5.34
115-4 |O-Ring (cartridge sleeve) EPDM FPM D. 24.99X3.53
115-5 |O-Ring (seal cover) EPDM FPM D.44.04X3.53
120-1 |Tie-rod Galvanized steel 6.8 strenght class ISO 898/1

320

B Eaana

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

6OH2



60Hz

VERTICAL MULTISTAGE PUMP S

EVM

SECTIONAL TABLE

EVM(L)32
MATERIAL
N° PART NAME DIMENSIONS | STANDARD
EVM | EVML
120-3  |Screw (mechanical seal) A2-70 UNI 7323 M5X10 UNI 5731
120-4 |Screw (casing cover) Galvanized steel 8.8 strenght class ISO 898/1 M10X25 UNI 5793
120-5 |Screw for coupling Evms2l | Galvanized steel 8.8 strenght class ISO 898/1 M8X20 UNI 5931
EVM32 3to 10 M10X30 UNI 5739
120-6  |Screw for coupling EvM321t033 | Galvanized steel 8.8 strenght class ISO 898/1 M8X20 UNI 5931
EVM32 3-0 to 10-3 M12X30 UNI 5931
120-7 |Screw (bearing) Galvanized steel 8.8 strenght class ISO 898/1 M6X10 UNI 5739
120-8 |Screw (bearing housing) EVM323-010 10-3 | Galvanized steel 8.8 strenght class ISO 898/1 M10X30 UNI 5739
EVM32 2-0 to 3-3 M12X25 UNI 5739
120-10 |Screw (base plate) Galvanized steel 8.8 strenght class ISO 898/1 M12X40 UNI 5739
EVM32 1 M8X20 UNI 5739
120-13 |Screw for motor EVM32 2-0 to 3-3 Galvanized steel 8.8 strenght class I1SO 898/1 M12X30 UNI 5739
EVM32 3-0 to 10-3 M16X65 UNI 5739
128-1  |Nut for tie rod Galvanized steel M 16 UNI 5588
128-3  |Nut (motor) Galvanized steel M16 UNI 5588
129 Lock nut Carbon Steel
130-1 |Set screw A2-70 UNI 7323 M6X8 UNI 5923
130-2 |Screw for coupling guard A2-70 UNI 7323 M5X6 UNI 7687
130-3 |Set screw (mechanical seal) A2-70 UNI 7323 M6X6 UNI 5923
130-4 |Set screw (coupling pin) Carbon steel M 10X10 UNI 5923
131-1 |Pin for shaft Carbon Steel
135-1 |Washer (Tie rod) Galvanized steel 17X30X3 UNI 6592
135-3  |Washer (coupling) Galvanized steel 10.5X17.5X2.2 UNI 1751
135-4  |Washer (bearing) Carbon steel 6.4 UNI 1751
136 Locking washer (coupling) Carbon steel
137-1  |Impeller spacer EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
140 Coupling Brass OT 58 UNI 5705
140-1 |Coupling (motor side) Carbon steel
140-2  |Coupling (pump side) Carbon steel
150 Spacer carbon steel
160 Base Cast iron EN-GJL-200-EN 1561
162 Motor bracket Cast iron EN-GJL-200-EN 1561
212 Plug EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
212-1 |Plug EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
245 Coupling guard EN 1.4301 (AISI 304)
273 Plug Washer EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
273-1 |Plug Washer EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
274-1 |C-type snap ring (mechanical seal) EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) 26 UNI 7435
274-2  |C-type snap ring (coupling) Carbon Steel TC 80
274-3  |C-type snap ring (bracket) Carbon Steel TC 80
613 Flange Carbon steel

321

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

= TVTY



VERTICAL MULTISTAGE PUMP S

QUANTITY FOR MODEL
EVM(L)32

Pump Type N
5-2|5-3/11|21|21-1|39-1| 43-2| 43-3| 43-4| 44-1| 51| 52-1| 56| 70-1| 107| 111-5| 120-4| 120-5| 120-7| 120-8| 128-3| 129| 135-3| 135-4| 136| 140| 140-1| 140-2| 150| 274-2| 274-3
EVM(L)32 1-0F6/4.0 BAESEAEYN / / 1 1 11/ 1|7/ 1 1 / 2 / / / / / / / 1 / / / / /
EVM(L)32 2-2F6/5.5 I /7| 2 / / 1 1 1 |11 (1| / 2 1 / / / 4 / / / / / 1 / / 1 1 1
EVM(L)32 2-0F6/7.5 I/ 2f 1/ / / 1 1 1 |11 (1| / 2 1 / / / 4 / / / / / 1 / / 1 1 1
EVM(L)32 3-3F6/7.5 111 /|/7] 3 / 1 1 1 1 |1 1 (1| / 3 1 / / / 4 / / / / / 1 / / 1 1 1
EVM(L)32 3-0F6/11 11113 / 1 1 1 1 1|11 (1] 1 3 1 4 4 3 4 4 / 4 3 / / 1 1 1 1 /
EVM(L)32 4-3F6/11 21111 3 1 2 1 1 1|11 (1] 1 4 1 4 4 3 4 4 / 4 3 / / 1 1 1 1 /
EVM(L)32 4-0F6/15 211)1(4] / 1 2 1 1 1|11 (1] 1 4 1 4 4 3 4 4 / 4 3 / / 1 1 1 1 /
EVM(L)32 5-3F6/15 31112 3 1 3 1 1 1)1 1 (1] 1 5 1 4 4 3 4 4 / 4 3 / / 1 1 1 1 /
EVM(L)32 5-2F6/15 31|13 2 1 3 1 1 1)1 1 (1] 1 5 1 4 4 3 4 4 / 4 3 / / 1 1 1 1 /
EVM(L)32 5-0F6/18.5 3|11]|1|5]| / 1 3 1 1 1)1 1 (1] 1 5 1 4 4 3 4 4 / 4 3 / / 1 1 1 1 /
EVM(L)32 6-3F6/18.5 41111]3] 3 1 4 1 1 1 {11 f1]1 6 1 4 4 3 4 4 / 4 3 / / 1 1 1 1 /
EVM(L)32 6-0F6/22 41 1]11]5] 1 1 4 1 1 1)1 1 (1] 1 6 1 4 4 3 4 4 / 4 3 / / 1 1 1 1 /
EVM(L)32 7-3F6/22 51114 3 1 5 1 1 1 (11 1|1 7 1 4 4 3 4 4 / 4 3 / / 1 1 1 1 /
EVM(L)32 7-2F6/22 51115 2 1 5 1 1 1 (11 1|1 7 1 4 4 3 4 4 / 4 3 / / 1 1 1 1 /
EVM(L)32 7-0F6/30 5|1|1|7]| [/ 1 5 1 1 1 {11 f1]1 7 1 4 4 3 4 4 1 4 3 1 / 1 1 / / /
EVM(L)32 8-3F6/30 61|15 3 1 6 1 1 1 (11 1|1 8 1 4 4 3 4 4 1 4 3 1 / 1 1 / / /
EVM(L)32 8-0F6/30 6|1]|1|8]| / 1 6 1 1 1 (11 1|1 8 / 4 4 3 4 4 1 4 3 1 / 1 1 / / /
EVM(L)32 9-3F6/30 711)1[6| 3 1 7 1 1 1 {11 (1] 1 9 / 4 4 3 4 4 1 4 3 1 / 1 1 / / /
EVM(L)32 9-0F6/30 71111]9]| / 1 7 1 1 1 {11 (1]1 9 / 4 4 3 4 4 1 4 3 1 / 1 1 / / /
EVM(L)32 10-4F6/30 712)1[6] 4 1 7 2 2 2 (1| 2 (1] 110 / 4 4 3 4 4 1 4 3 1 / 1 1 / / /
BEARINGS
EVM(L)32
N°
Pump Type
56

EVM(L)32 1-0F6/4.0 /

EVM(L)32 2-2F6/5.5 6310 ZZ C3

EVM(L)32 2-0F6/7.5 6310 ZZ C3

EVM(L)32 3-3F6/7.5 6310 ZZ C3

EVM(L)32 3-0F6/11 6313 ZZ C3

EVM(L)32 4-3F6/11 6313 ZZ C3

EVM(L)32 4-0F6/15 6313 2Z C3

EVM(L)32 5-3F6/15 6313 2Z C3

EVM(L)32 5-2F6/15 6313 ZZ C3

EVM(L)32 5-0F6/18.5 6313 ZZ C3

EVM(L)32 6-3F6/18.5 6313 ZZ C3

EVM(L)32 6-0F6/22 6315 ZZ C3

EVM(L)32 7-3F6/22 6315 ZZ C3

EVM(L)32 7-2F6/22 6315 ZZ C3

EVM(L)32 7-0F6/30 6315 ZZDT C3*

EVM(L)32 8-3F6/30 6315 ZZDT C3*

EVM(L)32 8-0F6/30 6315 ZZDT C3*

EVM(L)32 9-3F6/30 6315 ZZDT C3*

EVM(L)32 9-0F6/30 6315 ZZDT C3*

EVM(L)32 10-4F6/30 6315 ZZDT C3*

*DT=Two single row deep groove ball bearings matched for paired mounting in a tandem arrangement.

322

E2BARA

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

6OH2



6OHZ

VERTICAL MULTISTAGE PUMP S

EVM

0.8 80
p H
[MPa] [m]
0.6 - 60
0.4 40
0.2 - 20
0- 0
8
P2
o ©
4
2
80
n
[%] 70
60
50
323

PERFORMANCE CURVE

EVMG32
0 USgpm. 50 100 150 200 250
| | l l | |
[ [ [ [ [
0 Impgpm. 50 100 150 200
- 250
S - .
R ——— | \2\“0/25M
\ \
T~ — 150
N ?~e/
L N \\
T T — 1-0/4, \ - 100
‘\
~ ~ NPSH
—~ ml (0 | s
NPSH b o
] 5
—— 10
0
0 200 400 600 800 Q [Umin]
[ [ [ [ [ [ 1
0 10 20 30 40 50 Qmy
2-0 —_—
[ —— =
272 S
10 — T
\_—_—-
0 200 400 600 800 Q [Umin]
20
/ \\
_— > Y
e 2-2 1-0
0 200 400 600 800 Q [Umin]

Rotation speed =3500 min-1
Test standard: ISO 9906:2012 - Grade 3B

i

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

= TVTY



EVM

VERTICAL MULTISTAGE PUMP S

1.6

[MPa]

1.2

0.8 1

04 —

160

[m]

120

80

40

80

%] 70

60

50

PERFORMANCE CURVE

EVMG32
0 USgpm. 50 100 150 200 250
| 1 1 1 1 1
I T T T T
0 Impgpm. 50 100 150 200
— 500
= H
T — il
i —— ] — 400
T~ J{_ \\4‘0/7 '5.(11,
—— a \\‘ T\\\
T —— \@/77 a0
I — \\ &w
— 3‘0/11W§ \\
\3/7 5{ \ - 0
~ NPSH
M M 100
NPSH — s
4/ 5 20
T | 10
0
0 200 400 600 800 Q [limin]
I T T T T T 1
0 10 2 30 40 50 Qjmdn)
40
\ —_—
4-3 —T
i ~— — —_—
3_0 // /’
\ —
0 200 400 600 800 Q [limin]
—— 4-0
X ~~ 30
0 200 400 600 800 Q [limin]
Rotation speed ~3500 min-1
Test standard: ISO 9906:2012 - Grade 3B
324

B Eaana

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

6OH2



6OHZ VERTICAL MULTISTAGE PUMP S EVM

PERFORMANCE CURVE

EVMG32
0 USgpm. 50 100 150 200 250
| | | l | l
| T T T T
0 Impgpm. 50 100 150 200
20— 200
p H - 600
[MPa] ml H
—— I
TS QT S — L 500
— ‘t \ fﬂ /785
O A
5~\2/,5\W
N "{ — 400
5‘?/\\
75 N
&y \
10— 100 N
\\ - 300
\\
N
NPSH | 500
i
05 50 [m] If]
10
30
7 100
NPSH _— 512
I — 10
0 0 0
0 200 400 600 800 Q [Vimin]
| T T T T T |
0 10 20 30 40 50 Q[m]
20
P2 " 50
kW] 5o =
T ~ l/ - —
12 <~
53 — | —~~
8 ‘
0 200 400 600 800 Q i/min]
80
n
% 70 50
> 52
60 — |
50
0 200 400 600 800 Q [Vmin]
Rotation speed ~3500 min-1
Test standard: ISO 9906:2012 - Grade 3B

EBARA Pumps Europe 5 EBARA

EBARA Pumps Europe reserves the right to make changes without prior notice



EVM

VERTICAL MULTISTAGE PUMPS

32

[MPa]

24—

0.8 -

[%]

320

[m]

240

160

80

80

70

60

50

PERFORMANCE CURVE

EVMG32
0 USgpm 50 100 150 200 250
| 1 1 1 1 1
I T T T T
0 Impg.p.m. 50 100 150 200
— 1000
H
Ift
— 800
I : ::'\ 6 - 600
- — \6 ~O/22k{
\3/7Q\5kw \\
N N
\\ — 400
N
N\
™ NPSH
M ® 200
NPSH 07w
’- = 10
0
0 200 400 600 800 Q min]
I T T T T T 1
0 10 20 30 40 50 Q[m]
6-0
L
; /,
6-3
0 200 400 600 800 Q [/min]
60
" ~
/'/ ~_ 63
0 200 400 600 800 Q [min]
Rotation speed ~3500 min-1
Test standard: ISO 9906:2012 - Grade 3B
326

B Eaana

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

6OH2



6OHZ VERTICAL MULTISTAGE PUMP S EVM

PERFORMANCE CURVE

EVMG32
0 USgpm. 50 100 150 200 250
| I I I I I
I T T T T
0 Impgpm. 50 100 150 200
24— 240 ——
p H E=o—=— T
[MPa] ml T —1= S~ —700 H
:| \\ 7. o [
i P D
18- 180 %, — 600
- ‘,'4/ \
ka/& \ \
NN N\
— 500
N
N
| NN\ L 400
12 120 < \
N
N — 300
NPSH
0.6 — 60 m @ 20
10
0
— 100
NPSH ',/ 52
—_— 10
0- 0 0
0 200 400 600 800 Q [l/min]
M T T T T T 1
0 10 2 30 40 50 Q[m¥]
2%
P2 70 —
20 :
[kW] P e
7-2 < —
16 I
7-3 —
12
0 200 400 600 800 Q [l/min]
80
[3] 70 70
] — \\ 7l2
§0 / ( ‘
e ~ 73
50
0 200 400 600 800 Q [l/min]
Rotation speed =3500 min-1
Test standard: 1ISO 9906:2012 - Grade 3B

EBARA Pumps Europe 5 EBARA

EBARA Pumps Europe reserves the right to make changes without prior notice



60+
EVM VERTICAL MULTISTAGE PUMPS
PERFORMANCE CURVE
EVMG32
0 USgpm 50 100 150 200 250
| | | | | |
| T | | |
0 Impgpm. 50 100 150 200
32— 320
— 1000
p H
[MPa] [m H
—— [ft]
——— T~
24— 240 — — 800
\%\
N
N\ \ — 600
\\
16— 160 N
\\
\\ NPSH | 40
[m] ]
08— 8 P 0 4
- L 200
- 20
NPSH /,// 5-
| — - 10
0 0 0
0 200 400 600 800 Q [/min]
| T T T T T |
0 10 20 30 40 50 Q[m]
28
P2
kW] 4 870 < __—
83 T
~—
16
0 200 400 600 800 Q [l/min]
80
n
[%] 70 — ¥
~ — "~ — 8}0
60 / — 83
50
0 200 400 600 800 Q [/min]
Rotation speed ~3500 min-1
Test standard: ISO 9906:2012 - Grade 3B
328

5 EBARA EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice



6OHZ VERTICAL MULTISTAGE PUMP S EVM

PERFORMANCE CURVE

EVMG32
0 USgpm 50 100 150 200 250
| 1 1 1 1 1
I T T T T
0 Impgp.m. 50 100 150 200
32 30—
L T — ] — 1000
p H | T — 1 \“\ H
[MPa] [m] ——— L -~
- \||\\\\ 70 il
. 2
24 240 ~. 99 i - 800
. - /30‘—\
IPNI
PN
NN
\\ — 600
\\
16— 160 \\
“
NPsH | 400
[m] [
0.8 — 80 10 -
e - 200
NPSH _— s 2
L _
I — L 10
0 0 0
0 200 400 600 800 Q [l/min]
I T T T T T 1
0 10 20 30 40 50 Q[mdn]
31
P2 104
(kW] 9\_0 ~
9'3 — \/
19 | —
0 200 400 600 800 Q [/min]
80
'r] }
— 9-0
[%] 70 —
60 / (
v ™~ 93
50
0 200 400 600 800 Q [Umin]
Rotation speed =3500 min-1
Test standard: 1ISO 9906:2012 - Grade 3B

EBARA Pumps Europe 5 EBARA

EBARA Pumps Europe reserves the right to make changes without prior notice



6OH2

VERTICAL MULTISTAGE PUMP S

TECHNICAL DATA
EVMG32

Dimensional sketch

Round flange (F) - DN65
c
B
[ [
I I
| s
T 0
E
N
L. o
A % ;
‘ 'I =1 Gag
o
I
N° SN holes 218
Do i o E G 38
g | =s18E 2 {{ji;}ti
= | N
N'4holesats| (B |1 23 o145
170 240
210
320 280
Dimensions [mm] and Weights  [Kg]
Motor Round flange (F)
Pmax | size A 3~ H2 | sn | Weight Weight
Pump Type [MPa] Pump | Pump + Motor
B C H3
EVMG32 1-0F6/4.0 16 | 40 | 112m [ 160 [196 155 306] 503 | 4 56 82.5
EVMG32 2-2F6/5.5 16 | 55 | 1325 | 300 | 225 160 328| 524 | 4 58 96.6
EVMG32 2-0F6/7.5 16 | 75 | 1325 | 300 | 225 160 350| 524 | 4 58 98.4
EVMG32 3-3F6/7.5 16 | 75 | 1325 | 300 | 225 160 350| 572 | 4 74 114.4
EVMG32 3-0F6/11 16 11 | 160M | 350 | 248 194 476| 703 | 4 74 1365
EVMG32 4-3F6/11 16 11 | 160M | 350 | 248 194 476| 751 | 4 77 1395
EVMG32 4-0F6/15 16 15 | 160M | 350 [ 317 238 498| 751 | 4 77 165.9
EVMG32 5-3F6/15 16 15 | 160M | 350 | 317 238 498| 799 | 4 96 184.9
EVMG32 5-2F6/15 16 15 | 160M | 350 [ 317 238 498| 799 | 4 96 184.9
EVMG32 5-0F6/18.5 16 | 185 | 160L | 350 |317 238 542| 799 | 4 96 200
EVMG32 6-3F6/18.5 25 | 185 | 160L | 350 | 317 238 542| 847 | 8 929 203
EVMG32 6-0F6/22 25 22 | 180M | 350 [ 360 268 577| 847 | 8 99 262
EVMG32 7-3F6/22 25 22 | 180M | 350 [ 360 268 577| 895 | 8 102 265
EVMG32 7-2F6/22 25 22 | 180M | 350 [ 360 268 577| 895 | 8 102 265
EVMG32 7-0F6/30 25 30 | 200L | 400 |399 300 658 910 | 8 105 333
EVMG32 8-3F6/30 25 30 | 200L | 400 |399 300 658| 958 | 8 105 333
EVMG32 8-0F6/30 3.0 30 | 200L | 400 [399 300 658| 958 | 8 105 333
EVMG32 9-3F6/30 3.0 30 | 200L | 400 |399 300 658|1006| 8 108 336
EVMG32 9-0F6/30 3.0 30 | 200L | 400 [399 300 658| 1006]| 8 108 336
EVMG32 10-4F6/30 3.0 30 | 200L | 400 | 399 300 658)1054| 8 108 336

1.6 MPa=16 bar ; 2.5 MPa=25 bar ; 3.0 MPa=30 bar

330
EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

E2BARA



6OHZ

M

VM

VERTICAL MULTISTAGE PUMP S

SECTIONAL VIEW
EVMG32

Pump without ball bearing

331
EBARA Pumps Europe 5 EBARA

EBARA Pumps Europe reserves the right to make changes without prior notice




EVM

VERTICAL MULTISTAGE PUMP S

75-1
27341
21241

SECTIONAL VIEW
EVMG32

2742
120-13 150
140 W , 274-3
- ! T
131-1 = A — i 56
1304 Q H 51
1114 \ — T jJ\
q 120-8
130-1 U Y
S~ 245
120-3 5
B 1302
128-1 &
W 120-6
135-1
111-2\ ih
47 |
274-1

1201 ——— |

43-2

433 —
52-1

44-1
434
137-1

48

31
6

45—

613

Pump with single ball bearing

332

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

6OH2



6OHZ VERTICAL MULTISTAGE PUMP S EVM

SECTIONAL VIEW

EVMG32
120-7 2742
1354 — 150
120-13 ————_ 70-1
51 - L{\\
T H
+H 1
1283 —/ﬂq;\. !
N\, |
120-8 N
e \l\_..
- \\ 56
1311 162
130-2 140-1
1304 39-1
1114 135-3
130-1 120-5
120-3 120-6
1281 1204
135-1 x 273
] 75
i[ 212
L 1
115-1
i 1155
1115 — ||| 1113
1154 /}E« 1111
431 —— 14 1112
Ll .
274-1 130-3
435
12041 — |
433 — |
52-1 \‘1#‘ .
w1 ——HL
A 52
434 — i1}
S 432
137-1
— 53
48
5-1
75-1 3 ——] o1
273-1 6 ——
21241 45 107
i T~ 120-10
613 m
\ 160

Pump with single ball bearing

333
EBARA Pumps Europe 5 EBARA

EBARA Pumps Europe reserves the right to make changes without prior notice




EVM VERTICAL MULTISTAGE PUMP S 6OHZ

SECTIONAL VIEW
EVMG32
1207 ——— 129
RN
1354 e 136
12013 —— 1 | | Ty ] 70-1
51 NSBSAN i . e
*“I\ \ | | / ys
128-3 N | ;I Iy
120-8 \l\‘\»ﬁ:u}) .\»774///
245 N ===
140-2 il f ! , 56
131-1 ( [\# 3 L] : 162
1 - 4
130-2 ' T it | 140-1
1304 '1 “ 361
1114 .l €y j 135-3
1301 | _J\ l,' 120-5
120-3 | — ] 120-6
a B .
1281 L ; J 1204
135-1 L gm T 273
\ T 1 [
IREN| B i 75
|‘r } | — U 212
il J'E— ! 15/ @ 1
:\ 1151
M4 —— Ll | \\ 1155
431 s§ \ 1113
47 /,#::@ J - \ 1111
27441 /T 112
\ 130-3
435
) -
‘ J R
\
\ it
\
} J -
\
‘ ) -
1200 ——— ||
433 \ B 11|
52-1 \j\
44-1 \pjﬁ\
34— I
1371 : —= ka
a8 TN
_— | \
75-1 31 \
27341 86— | \F
2121 45 — A *?E‘iﬁ
613 M 82 Sey

LY
1IN
Q: Uy
)
N
D
g

Pump with double ball bearing

334
5 EBARA EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice




60Hz

VERTICAL MULTISTAGE PUMP S

EVM

SECTIONAL TABLE

EVMG32
N° PART NAME MATERIAL DIMENSIONS [ STANDARD

EVMG
5-1 Suction casing EN 1.4301 (AISI 304)
5-2 Intermediate Casing EN 1.4301 (AISI 304)
5-3 Intermediate casing bearing EN 1.4301 (AISI 304)
5-4 Discharge casing EN 1.4301 (AISI 304)
6 Bottom casing Cast Iron EN GJL-250-EN1561
7 Outer casing EN 1.4301 (AISI 304)
11 Casing cover Cast Iron EN GJL-250-EN1561
21 Impeller _ EN 1.4301 (AISI 304)
21-1 Reduced impeller
31 Shaft EN 1.4401 (AISI 316)
39-1 Key Carbon Steel 12X8X90 UNI 6604
43-1 Shaft sleeve (mechanical seal) EN 1.4301 (AISI 304)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304)
43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304)
43-4 Shaft sleeve (adjustment) EN 1.4301 (AISI 304)
43-5 Shaft sleeve (last stage) EN 1.4301 (AISI 304)
44-1 Shaft sleeve bearing Tungsten carbide
45 Flange holder EN 1.402 (AISI 420)
47 Ring Holder EN 1.4301 (AISI 304)
48 Impeller nut A2-70 UNI 7323 M16

with inox insert

51 Motor adapter Cast iron EN-GJL-200-EN 1561
52-1 Bearing Tungsten carbide
56 Ball bearing see table page 337
70-1 Ring for bearing EN 1.4301 (AISI 304)
75 O-Ring (plug) EPDM
75-1 O-Ring (plug) EPDM
107 Liner ring PTFE / EN 1.4301 (AISI 304)
111-1  [Mechanical seal Silicon carbide / Carbon / FPM
111-2 |Mechanical seal cartridge EN 1.4301 (AISI 304)
111-3 |Mechanical seal seat EN 1.4301 (AISI 304)
111-4  |Seal holder Brass OT 58 UNI 5705
111-5 |Adjusting ring EN 1.4301 (AISI 304)
115-1 |O-Ring (outer casing) EPDM D.208.91 X5.34
115-4 |O-Ring (cartridge sleeve) EPDM D. 24.99X3.53
115-5 |O-Ring (seal cover) EPDM D.44.04X3.53
120-1 |Tie-rod Galvanized steel 6.8 strenght class 1ISO 898/1

335

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

= TVTY




EVM

VERTICAL MULTISTAGE PUMPS

SECTIONAL TABLE

EVMG32
N° PART NAME MATERIAL DIMENSIONS [ STANDARD
EVMG

120-3  [Screw (mechanical seal) A2-70 UNI 7323 M5X10 UNI 5731

120-4 |Screw (casing cover) Galvanized steel 8.8 strenght class ISO 898/1 M10X25 UNI 5793

120-5 [Screw for coupling Evms21 | Galvanized steel 8.8 strenght class 1ISO 898/1 M8X20 UNI 5931
EVM32 3 to 10 M10X30 UNI 5739

120-6  [Screw for coupling EVM321t033 | Galvanized steel 8.8 strenght class 1ISO 898/1 M&x20 UNI 5931
EVM32 3-0 to 10-3 M12X30 UNI 5931

120-7 |Screw (bearing) Galvanized steel 8.8 strenght class ISO 898/1 M6X10 UNI 5739

120-8 [Screw (bearing housing) EVM323-010 10-3 | Galvanized steel 8.8 strenght class ISO 898/1 M10X30 UNI 5739
EVM32 2-0 to 3-3 M12X25 UNI 5739

120-10 |Screw (base plate) Galvanized steel 8.8 strenght class ISO 898/1 M12X40 UNI 5739
EVM32 1 M8X20 UNI 5739

120-13 |Screw for motor EVM32 2-0 to 3-3 Galvanized steel 8.8 strenght class ISO 898/1 M12X30 UNI 5739
EVM32 3-0 to 10-3 M16X65 UNI 5739

128-1  [Nut for tie rod Galvanized steel M 16 UNI 5588

128-3  |Nut (motor) Galvanized steel M16 UNI 5588

129 Lock nut Carbon Steel

130-1 [Setscrew A2-70 UNI 7323 M6X8 UNI 5923

130-2 |Screw for coupling guard A2-70 UNI 7323 M5X6 UNI 7687

130-3 [Set screw (mechanical seal) A2-70 UNI 7323 M6X6 UNI 5923

130-4 |Set screw (coupling pin) Carbon steel M 10X10 UNI 5923

131-1 [Pin for shaft Carbon Steel

135-1 |Washer (Tie rod) Galvanized steel 17X30X3 UNI 6592

135-3 |Washer (coupling) Galvanized steel 10.5X17.5X2.2 | UNI 1751

135-4 |Washer (bearing) Carbon steel 6.5 UNI 1751

136 Locking washer (coupling) Carbon steel

137-1 |Impeller spacer EN 1.4301 (AISI 304)

140 Coupling Brass OT 58 UNI 5705

140-1 |Coupling (motor side) Carbon steel

140-2  |Coupling (pump side) Carbon steel

150 Spacer carbon steel

160 Base Cast iron EN-GJL-200-EN 1561

162 Motor bracket Cast iron EN-GJL-200-EN 1561

212 Plug EN 1.4301 (AISI 304)

212-1 |Plug EN 1.4301 (AISI 304)

245 Coupling guard EN 1.4301 (AISI 304)

273 Plug Washer EN 1.4301 (AISI 304)

273-1 |Plug Washer EN 1.4301 (AISI 304)

274-1 |C-type snap ring (mechanical seal) EN 1.4301 (AISI 304) 2 26 UNI 7435

274-2  |C-type snap ring (coupling) Carbon Steel TC 80

274-3 |C-type snap ring (bracket) Carbon Steel TC 80

613 Flange Carbon steel

336

B Eaana

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

6OH2



6OHZ

VERTICAL MULTISTAGE PUMP S

QUANTITY FOR MODEL
EVMG32

EVMG32 7-0F6/30

6315 ZZDT C3*

EVMG32 8-3F6/30

6315 ZZDT C3*

EVMG32 8-0F6/30

6315 ZZDT C3*

EVMG32 9-3F6/30

6315 ZZDT C3*

EVMG32 9-0F6/30

6315 ZZDT C3*

EVMG32 10-4F6/30

6315 ZZDT C3*

Pump Type N
5-2|5-3| 11|21|21-1|39-1|43-2(43-3| 43-4| 44-1| 51| 52-1| 56| 70-1| 107| 111-5| 120-4| 120-5| 120-7| 120-8| 128-3| 129| 135-3| 135-4| 136| 140| 140-1| 140-2| 150| 274-2| 274-3
EVMG32 1-0F6/4.0 rlaypsyag s / / 1 1 1 (/127 / 1 1 / 2 / / / / / / /11 / / / / /
EVMG32 2-2F6/5.5 Iy 2 / / 1 1 1111 /]2 1 / / / 4 / / / / /11 / / 1 1 1
EVMG32 2-0F6/7.5 A IArAN / / 1 1 1111 /]2 1 / / / 4 / / / / /] 1 / / 1 1 1
EVMG32 3-3F6/7.5 1{1)/]/] 3 / 1 1 1 1111/ ]3 1 / / / 4 / / / / /11 / / 1 1 1
EVMG32 3-0F6/11 1{1f1]18) / 1 1 1 1 1|11 1)1 1]3 1 4 4 3 4 4 / 4 3 1]/ 1 1 1 1 /
EVMG32 4-3F6/11 211]1f1] 3 1 2 1 1 1 (1] 1]1]1]4 1 4 4 3 4 4 / 4 3 11 1 1 1 1 /
EVMG32 4-0F6/15 211]1f4] / 1 2 1 1 1 (1] 1]1]1]4 1 4 4 3 4 4 / 4 3 1]/ 1 1 1 1 /
EVMG32 5-3F6/15 3|11]1]2] 3 1 3 1 1 1 (1] 1]1]1]5 1 4 4 3 4 4 / 4 3 1]/ 1 1 1 1 /
EVMG32 5-2F6/15 3|11]1|3] 2 1 3 1 1 1 (1] 1]1]1]5 1 4 4 3 4 4 / 4 3 1]/ 1 1 1 1 /
EVMG32 5-0F6/18.5 3|11]1f5] / 1 3 1 1 1|11 1]1]1]5 1 4 4 3 4 4 / 4 3 1]/ 1 1 1 1 /
EVMG32 6-3F6/18.5 411]1[3] 3 1 4 1 1 1)1 11116 1 4 4 3 4 4 / 4 3 I 11 1 1 1 1 /
EVMG32 6-0F6/22 4111|511 1 4 1 1 1|1l 1]1]1]6 1 4 4 3 4 4 / 4 3 1]/ 1 1 1 1 /
EVMG32 7-3F6/22 5]1]1]4] 3 1 5 1 1 1)1 1117 1 4 4 3 4 4 / 4 3 I/ 1 1 1 1 /
EVMG32 7-2F6/22 5]1]1|5] 2 1 5 1 1 1)1 1117 1 4 4 3 4 4 / 4 3 I 11 1 1 1 1 /
EVMG32 7-0F6/30 S511]1f7] / 1 5 1 1 1)1 1]1)1]7 1 4 4 3 4 4 1 4 3 117/ 1 1 / / /
EVMG32 8-3F6/30 6]1]1]5] 3 1 6 1 1 1)1 1]1) 118 1 4 4 3 4 4 1 4 3 1]/ 1 1 / / /
EVMG32 8-0F6/30 6|11]1[8] / 1 6 1 1 1)1 1]1)1]s8 / 4 4 3 4 4 1 4 3 1]/ 1 1 / / /
EVMG32 9-3F6/30 7]11]1]6] 3 1 7 1 1 1)1 1]1)1]09 / 4 4 3 4 4 1 4 3 1]/ 1 1 / / /
EVMG32 9-0F6/30 711])1f9] / 1 7 1 1 1)1 111109 / 4 4 3 4 4 1 4 3 1]/ 1 1 / / /
EVMG32 10-4F6/30 7]12]1]6] 4 1 7 2 2 2 |1 2 1] 1 10f / 4 4 3 4 4 1 4 3 1]/ 1 1 / / /
BEARINGS
EVMG32
N°
Pump Type
56

EVMG32 1-0F6/4.0 /

EVMG32 2-2F6/5.5 6310 ZZ C3

EVMG32 2-0F6/7.5 6310 ZZ C3

EVMG32 3-3F6/7.5 6310 ZZ C3

EVMG32 3-0F6/11 6313 ZZ C3

EVMG32 4-3F6/11 6313 ZZ C3

EVMG32 4-0F6/15 6313 ZZ C3

EVMG32 5-3F6/15 6313 ZZ C3

EVMG32 5-2F6/15 6313 ZZ C3

EVMG32 5-0F6/18.5 6313 ZZ C3

EVMG32 6-3F6/18.5 6313 ZZ C3

EVMG32 6-0F6/22 6315 ZZ C3

EVMG32 7-3F6/22 6315 ZZ C3

EVMG32 7-2F6/22 6315 ZZ C3

*DT=Two single row deep groove ball bearings matched for paired mounting in a tandem arrangement.

337

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

EBARA




VERTICAL MULTISTAGE PUMP S

PERFORMANCE CURVE

EVM(L)45
0 50 100 150 200 250 300 350
| | | | | | | |
| T | | | T
0 100 150 200 250 300
04— 40 —
p H B . - 120
[MPa] [m] ~0/
N )
\\
034 a-— ™ — 100
— 1 _] \\\
\\\ 7~7/ \
\stw \ — 80
T~
\\
02 2 NG
N\ - 60
NPSH | 4
m] [f
0.1 10 [m] [
8
NPSH L — 4 202
|| 10
0 0 0
0 200 400 600 800 1000 1200 Q [Vmin]
| | T T T T T T T
0 10 20 30 40 50 60 70 am]
7
P2 =
W 1-0 — |
141 S~—""
~
\//’——-
3
0 200 400 600 800 1000 1200 Q [Vmin]
80
[:/]] 70 — 10
A ~.|
. 7 \\
N\
1-1 //\\
50 |
0 200 400 600 800 1000 1200 Q [Vmin]
Rotation speed ~3500 min-1
Test standard: ISO 9906:2012 - Grade 3B

B Eaana

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

6OHZ



6OHZ VERTICAL MULTISTAGE PUMP S EVM

PERFORMANCE CURVE

EVM(L)45
0 USgpm. 50 100 150 200 250 300 350
| l | l | l | l
[ [ [ [ [ [ [
0 Impgpm. 50 100 150 200 250 300
084 80 ———
! T L 250
p T —— 2.,
[MPa] m = — ~< 54y, H
- | i
~ 2. |
06 B ———-= . ~T/11,, - 200
~22 [N\
N \; N\ L 150
04— a0 N\ N
\\ N
N
\ NPSH | 100
[m] [
024 20 8—
— 620 |- 50
NPSH A
p— 4 —]
I ”/ 10
2 p—
0 0 0
0 200 400 600 800 1000 1200 Q [Vmin]
| T T T T l T l T
0 10 20 30 4 50 80 70 Q]
14
P2 20
-
W 2‘1 h — |
T \\ ////”
2-2 .y ~——
6 \\q//’—_
0 200 400 600 800 1000 1200 Q [imin]
8 |
n — 20
&% 70
N
2-1 \
60 \
-
2-2
50 ‘
0 200 400 600 800 1000 1200 Q [Vmin]

Rotation speed ~3500 min-1
Test standard: ISO 9906:2012 - Grade 3B

339
EBARA Pumps Europe 5 EBARA

EBARA Pumps Europe reserves the right to make changes without prior notice




VERTICAL MULTISTAGE PUMP S

PERFORMANCE CURVE

EVM(L)45
0 USgpm. 50 100 150 200 250 300 350
| | | | ! | !
| T T T T | T
0  Impgpm. 50 100 150 200 250 300
129 1= ‘
p H T I — 3,
Ml | m T 24, —3%0 H
— J \“5\‘ 3 N [ﬂ]
—t+—_ ~ 7/13.51( \\
L ~—_ w N 300
094 @ == —— 32 ™ -
T~ 2w | TN \\
\\ - 3\3 ‘ \\
o4y, N AN — 250
NG \
N
\\ N
06— 60 \\ ‘\ - 200
NPSH
N
m] [R
\\ mmw |
8 p—
03 a0 — — 620 100
L
NPSH . .
// - -
L — | 10 |50
0 0 0
0 200 400 600 800 1000 1200 Q [limin]
| T T T T T T T T
0 10 20 30 40 50 60 70 Qim¥n]
2
P2 30 L
[kw] " 31 ]
32 - \\<// "
33 *\\‘//’
8
0 200 400 600 800 1000 1200 Q [limin]
80
n :\
fe— ~ N
[% ~ N !
" AN NN
/ 32 \\\ 31
3_3 | N
60 |
0 200 400 800 800 1000 1200 Q limin]
Rotation speed ~3500 min-1
Test standard: ISO 9906:2012 - Grade 3B
340

B Eaana

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

6OH2



6OHZ VERTICAL MULTISTAGE PUMP S EVM

PERFORMANCE CURVE

EVM(L)45
0 USgpm. 50 100 150 200 250 300 350
| l l l l l | l
[ T T T T T T
0 Impgp.m. 50 100 150 200 250 300
16 160 =T
T L 500
p H T — T— 4.
—_—— e~/
[MPe] m e—— — — T%rw\ H
- i ~L,, T~ i
S=— — » N
1.2 < 120 T \\:\2,/12% \\\\ L 400
~3.3/.
NG \\
N N \\ - 300
08 — 80 ™ AN
) N
\ \
N
\ NesH |20
[m] [fi
0.4 — 40 8 —
_— 6—20 100
NPSH e .
Iy ”/ —10
2 —
0- 0 0
0 200 400 600 800 1000 1200 Q [/min]
[ I I I I I I [ I
0 10 20 30 40 50 60 70 Q [mqh]
30
P2 40 [
kW] 2 4-1 < — | —
g ——
10
0 200 400 600 800 1000 1200 Q [/min]
80
1 = |
o 70 ~ NS — 40
~ \Q\ — 41
&0 \ 4-2
43
50
0 200 400 600 800 1000 1200 Q [i/min]
Rotation speed =3500 min-1
Test standard: 1SO 9906:2012 - Grade 3B

EBARA Pumps Europe 5 EBARA

EBARA Pumps Europe reserves the right to make changes without prior notice



EVM

VERTICAL MULTISTAGE PUMP S

204

[MPa]

05

P2
[kw]

[%]

200

[m]

150

100

50

35

25

80

70

60

PERFORMANCE CURVE

EVM(L)45
0 USgpm 50 100 150 200 250 300 350
| 1 1 1 1 | 1
I T T T T ] T
0 Impg.p.m. 50 100 150 200 250 300
— —4 1 ] \“ﬁ\\‘ 5~0/ — 600
T — 5. 3w H
B T T = \: 1 ~—1_5 ;1/ 30k ~_ [f]
— ] 2Lt
\\\:32?\ N - 500
y \\\\ N
\\\\ \\\
\\\\ \ - 400
VW
\\\\‘
\\ — 300
AN
N
NPSH | 500
[m] [f]
8
NPSH — 6—20 [~ 100
-
pum— | 4
0
0 200 400 600 800 1000 1200 Q min]
f T T T T T T T T
0 10 20 30 40 50 60 70 Qlmdn]
50 =
5'1 ~ //:”
& ~Nee—,———
0 200 400 600 800 1000 1200 Q [Vmin]
§\ ‘
570
p NN
/ NN\ 52
5-‘3
0 200 400 600 800 1000 1200 Q Vfmin]
Rotation speed ~3500 min-1
Test standard: ISO 9906:2012 - Grade 3B

B Eaana

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

6OHZ



6OHZ VERTICAL MULTISTAGE PUMPS EVM

PERFORMANCE CURVE

EVM(L)45
0 USgpm. 50 100 150 200 250 300 350
| | | | | | | |
| T | T | 1 |
0 Impgpm. 50 100 150 200 250 300
24— 240
p H e T ——
T — T T —— —700 H
MP — - ~—
WPl trl T T —— ] \'H\\\%kw\ If
— > /37’\'W \
~&3
18- 180 Q‘W\\\ <~ — 600
N\
\\\ — 500
\; NN\
NN
124 120 \\\\ — 400
NPSH
m I
— 300
8 -
06 60 — — 620 200
NPSH =
— —] 4
—
// - -
L . 10 — 100
0- 0 0
0 200 400 600 800 1000 1200 Q [limin]
| | T T | T T T T
0 10 2 30 40 50 60 70 Q[m]
40
P2 6-1
[KW] " 6‘2 - //::
RN ——
63 — ~—
20
0 200 400 600 800 1000 1200 Q [limin]
80
! = 6
[%] \\ ‘
70 /’/ AN\ N 6-2
N
\_— 63
60
0 200 400 600 800 1000 1200 Q [limin]
Rotation speed ~3500 min-1
Test standard: 1ISO 9906:2012 - Grade 3B

EBARA Pumps Europe 5 EBARA

EBARA Pumps Europe reserves the right to make changes without prior notice



EVM VERTICAL MULTISTAGE PUMP S 6OHZ

TECHNICAL DATA
EVM(L)45

Dimensional sketch

Round flange (F) - DN80
c
B
[ [
@ s
T g
E
N
L. -
A
‘ 1 G3/8
o
I
N° 8 holes 218
De § {) G318
= 7 5]
Sillrs S
N dholesota| || |[LL20 2160
190 266
251
365 L8t |
Dimensions [mm] and Weights [K(g]
Motor Round flange (F)
Pump Type [PMn:DZ); kw Size A 3~ H2 V;/E:ggt Pumvgiithtotor
B C H3
EVM(L)45 1-1F6/5.5 1.6 55 | 1325 | 300 [225 160 328| 546 56 94.6
EVM(L)45 1-0F6/7.5 1.6 75 | 132s | 300 [225 160 350| 546 56 96.4
EVM(L)45 2-2F6/11 1.6 11 | 160M | 350 | 248 194 476| 749 58 120.5
EVM(L)45 2-1F6/11 1.6 11 | 160M | 350 | 248 194 476| 749 58 120.5
EVM(L)45 2-0F6/15 1.6 15 | 160M | 350 | 317 238 498| 749 58 146.9
EVM(L)45 3-3F6/15 1.6 15 | 160M | 350 | 317 238 498| 822 74 162.9
EVM(L)45 3-2F6/15 1.6 15 | 160M | 350 | 317 238 498| 822 74 162.9
EVM(L)45 3-1F6/18.5 16 | 185 | 160L | 350 | 317 238 542| 822 74 178
EVM(L)45 3-0F6/22 1.6 22 | 180M | 350 [360 268 577| 822 74 237
EVM(L)45 4-3F6/18.5 16 | 185 | 160L | 350 | 317 238 542| 894 77 181
EVM(L)45 4-2F6/22 1.6 22 | 180M | 350 [ 360 268 577 894 77 240
EVM(L)45 4-1F6/30 1.6 30 200L | 400 [399 300 658| 909 77 305
EVM(L)45 4-0F6/30 1.6 30 200L | 400 [399 300 658| 909 77 305
EVM(L)45 5-3F6/30 2.5 30 200L | 400 [399 300 658 981 9 324
EVM(L)45 5-2F6/30 2.5 30 200L | 400 [399 300 658 981 96 324
EVM(L)45 5-1F6/30 2.5 30 200L | 400 [399 300 658 981 9 324
EVM(L)45 5-0F6/37 2.5 37 200L | 400 [399 300 658 981 96 338
EVM(L)45 6-3F6/37 2.5 37 200L | 400 [399 300 658 1053| 99 341
EVM(L)45 6-2F6/37 2.5 37 200L | 400 [399 300 658 1053| 99 341
EVM(L)45 6-1F6/37 2.5 37 200L | 400 [399 300 658f 1053 99 341

1.6 MPa=16 bar ; 2.5 MPa=25 bar ; 3.0 MPa=30 bar

344
EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

E2BARA



6OHZ

VERTICAL MULTISTAGE PUMP S

EVM

345

SECTIONAL VIEW

EVM(L)45

4]
gmi

4
él//ﬁz

rmF A==

=)
N

UK
X

i

/

/Ij_lj/ 162
3 % 245-
/
; /

431

e R

Pump with single ball bearing

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

= TVTY



EVM VERTICAL MULTISTAGE PUMP S 6OHZ
SECTIONAL VIEW
EVM(L)45
1207
1354 it 274-2
120': _/\ Il _E] ;1 2 150
128-3 N b d 72-1
\\} N J 5
12:;: \\‘\IJ { 1401
140-2 \\NJ _ h I ;ZZ1
1311 : -E: NN 13-5-3
130-2 I -+ ™ i
1304 ! 1205
I e
130-1
120-3 ll \%:lﬁxq;‘/ ll
s \ L ‘ | 273

( 11
1155 H_ i 7 .y
1308 —__ —
7
47 ~] P —
\‘V‘\ ~ N 54
2741 — [T N
43-5\JL~‘_\ \\111-2
43-3 T — i ™~ § 1115
4y q
21 i~
:4-1 T/ | \ 1154
- ~]
434 >\\ ™~ \ 43
~ n ) \ 136-1
438
7 Y
432 — |1
1201 — |
36— 1] | i
1371 —_|
48— j’:\ ‘
31 — =]
437 ?
751 522 —— 1]
273-1 442 1
1
2121 6 —1 \
45 \‘ :
613 ;_“_J -
1312 — 7 [
— (
| i
LTI

Pump with single ball bearing

346
5 EBARA EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice




6OHZ VERTICAL MULTISTAGE PUMP S EVM

1207
1354 aana
120-13 /”i ‘ N
1 —— Lt 136
NI T il =
L 129
1283 /\kf \ 1 7
N I.‘ “ > 70-1
120-8 \\‘{\ )l "\ / S 56
N — ]
245 \ \\H/) >y’ 140-1
1402
182
1314 T . 391
130-2 i) Bl i
1304 | rt;J Y i 1353
‘ ;‘ 1205
i 3
g | | 120-4
1203 .. 55:‘ ‘
1113 ‘. =R |
- ; | 273
128-1 N 5 5
1351 3 NN ]
1155 4 N il M2
B s ‘te—=H1 "
130-3 1 e 1] -
¢ g 115-1
; \ | \ L1
L NfF——" ,
274-1 \\\ | i \
e | 54
435 B e
e 1 1111
433 | \\
‘ 112

751
2731
|-—— 21241

Pump with double ball bearing

347

EBARA Pumps Europe g EBARA

EBARA Pumps Europe reserves the right to make changes without prior notice




VERTICAL MULTISTAGE PUMP S

SECTIONAL TABLE
EVM(L)45

MATERIAL
N° PART NAME DIMENSIONS | STANDARD
EVM EVML
5-2 Intermediate casing EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
5-4 Discharge casing EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
6 Bottom casing EN. 1.4308 (ASTM CF8) EN. 1.4408 (ASTM CF8M)
7 Outer casing EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
11 Casing cover Castiron + EN 1.4301 (AISI 304) Cast iron + EN 1.4401 (AISI 316)
12 Suction cover EN. 1.1301 (AISI304) EN 1.4401 (AISI 316)
21 Impeller
EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
21-1 Reduced impeller
31 Shaft EN 1.4401 (AISI 316)
39-1 Key Carbon steel 12X8X90 UNI 6604
43-1 Shaft sleeve (mechanical seal) EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
43-2 Shatft sleeve (intermediate) EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
433 Shaft sleeve (bearing) EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
434 Shaft sleeve (adjustment) EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
43-5 Shaft sleeve (last stage) EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
43-6 Shaft sleeve (adjustment) EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
43-7 Shatft sleeve EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
43-8 Shaft sleeve (discharge-lower) EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
44-1 Shaft sleeve bearing Tungsten carbide
44-2 Bearing sleeve (bottom bearing) Tungsten carbide
45 Flange holder EN 1.402 (AISI 420)
47 Ring holder EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
48 Impeller nut A2-70 UNI 7323 with inox insert A4-70 UNI 7323 with inox insert M16
51 Motor adapter Cast iron EN-GJL-200-EN 1561
52-1 Bearing Tungsten carbide
52-2 Bearing Tungsten carbide
53 Bush holder EN 1.4301 (AISI 304) \ EN 1.4401 (AISI 316)
56 Ball bearing see table page 349
70-1 Ring for bearing EN 1.4301 (AISI 304)
70-2 Ring for bearing EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
75 O-Ring (plug) EPDM FPM
75-1 O-Ring (plug) EPDM FPM
81 Bush PTFE
107 Liner ring PTFE /EN 1.4401 (AISI316)
111-1 Mechanical seal Silicon carbide/Carbon/FPM
111-2 Mechanical seal cartridge EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
111-3 Mechanical seal seat EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
1114 Seal holder Brass OT 58 UNI 5705 EN 1.4401 (AISI 316)
111-5  |Adjusting ring EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
115-1 O-Ring (outer casing) EPDM FPM D.240.66X5.34
115-4 O-Ring (cartridege sleeve) EPDM FPM D.24.99X3.53
115-5 O-Ring (seal cover) EPDM FPM D.44.04X3.53
120-1 Tie Rod Galvanized steel 6.8 strenght class 1SO 898/1
120-2 Tie Rod EN 1.4301 (AISI 304) ‘ EN 1.4401 (AISI 316)
120-3 Screw A2-70 UNI 7323 M5X10 UNI 5931
120-4 Screw Galvanized steel 8.8 strenght class ISO 898/1 M10X25 UNI 5739
120-5 Screw for coupling Galvanized steel 8.8 strenght class ISO 898/1 M10X30 UNI 5739
120-6 Screw for coupling Evmast Galvanized steel 8.8 strenght class 1SO 898/1 MBX20 UNI 5931
EVM45 2106 M12X30 UNI 5931
120-7 Screw Galvanized steel 8.8 strenght class 1SO 898/1 M6X10 UNI 5739
EVM45 1 M12X25 UNI 5739
- B | | . h I
120-8 Screw EVM45 2106 Galvanized steel 8.8 strenght class 1SO 898/1 MLOX30 UNI 5739
EVML UNI 5737
120-9 Screw EVM, EVMG EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) M5X8 UNI'5739
120-12 |Screw EN 1.4301 (AISI 304) ‘ EN 1.4401 (AISI 316) M6X20 UNI 5931
EVM451-0, 1-1 M12X30 UNI 5739
120-13  |Screw for motor EVM45 6 Galvanized steel 8.8 strenght class ISO 898/1 M16X55 UNI 5737
EVM45 2 t0 5-3 M16X65 UNI 5739
128-1 Nut for tie rod Galvanized steel M16 UNI 5588
128-2 Nut Carbon steel ‘ EN 1.4401 (AISI 316) M5 UNI 5588
128-3 Nut Gal d steel M16 UNI 5588
129 Lock nut Carbon steel M75X2
130-1 Set screw A2- 70 UNI 7323 M6X8 UNI 5923
130-2 Screw for coupling guard A2-70 UNI 7323 M5X6 UNI 7687
130-3 Set screw A2- 70 UNI 7323 M6X6 UNI 5923
130-4 Set screw Carbon steel M10X10 UNI 5923
131-1 Pin for shaft Carbon steel
131-2 Elastic pin Gal d steel 6X25 UNI 6873
135-1 Washer Galvanized steel 17X30X3 UNI 6592
135-3 Washer Galvanized steel 10.5X17.5X2.2 | UNI 1751
135-4 Washer Plated carbon steel 6.4 UNI 1751
1355 |Washer EN 1.4301 (AISI 304) | EN 1.4401 (AISI 316)
136 Bearing washer Carbon steel
136-1 |Stopper ring EN 1.4301 (AISI 304) | EN 1.4401 (AISI 316)
137-1 _ |impeller spacer EN 1.4301 (AISI 304) | EN 1.4401 (AISI 316)
137-2 Shaft spacer EN 1.4301 (AISI 304) ‘ EN 1.4401 (AISI 316)
140 Coupling Brass OT 58 UNI 5705
140-1  |Motor coupling Carbon steel
140-2 Coupling (pump side) Carbon steel
150 Spacer Carbon steel
160 |Base Cast iron EN-GJL-200 EN1561
162 Mator bracket Cast iron EN-GJL-200 EN1561
212 Plug EN 1.4301 (AISI 304) | EN 1.4401 (AISI 316)
2121 |Plug EN 1.4301 (AISI 304) | EN 1.4401 (AISI 316)
245 Coupling guard EN 1.4301 (AISI 304)
273 Plug washer EN 1.4301 (AISI 304) | EN 1.4401 (AISI 316)
273-1 _ |Plug washer EN 1.4301 (AISI 304) | EN 1.4401 (AISI 316)
2741 |C-type snap ring EN 1.4301 (AISI 304) | EN 1.4401 (AISI 316) D.26 UNI 7435
EVM451-0,1-1 D.50 UNI 7435
274-2 C-Typr snap ring EVMA45 2 to 4-3 Carbon steel TC80 D.65 UNI 7435
EVM45 4-2 D.75 UNI 7535
2743 |C-Typr snap ring Carbon steel TC80 D.110 UNI 7437
613 Flange Carbon steel

348

E2BARA

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

6OH2



6OHZ

VERTICAL MULTISTAGE PUMP S

EVM

QUANTITY FOR MODEL

EVM(L)45
Pump Type N
5-2|11|21|21-1|39-1|43-2| 43-3|43-4|44-1|52-1|53| 56| 70-1| 81| 107| 120-4| 120-5| 120-7| 128-3| 129| 135-3| 135-4| 136| 140| 140-1| 140-2| 150| 274-2| 274-3
EVM(L)45 1-1F6/5.5 1)/71/11 / / / / / P S A Y / / / / / / / /{1 / / 1 1 1
EVM(L)45 1-0F6/7.5 1)/711f 7/ / / / / / /J1f1) /11 / / / / / / / /{1 / / 1 1 1
EVM(L)45 2-2F6/11 211/ 2 1 1 / / / /12f1] 1]2]2 4 4 3 4 / 4 3 / / 1 1 1 1 /
EVM(L)45 2-1F6/11 2111 1 1 1 / / / [ l2f1] 1]2]2 4 4 3 4 / 4 3 / / 1 1 1 1 /
EVM(L)45 2-0F6/15 211(2] / 1 1 / / / /12f1] 1]2]2 4 4 3 4 / 4 3 / / 1 1 1 1 /
EVM(L)45 3-3F6/15 3|11[/] 3 1 2 / / / / 13f1] 11]3]3 4 4 3 4 / 4 3 / / 1 1 1 1 /
EVM(L)45 3-2F6/15 3]1[1] 2 1 2 / / / / 13f1] 11]3]3 4 4 3 4 / 4 3 / / 1 1 1 1 /
EVM(L)45 3-1F6/18.5 3{1)2] 1 1 2 / / / / 13f1] 11]3]3 4 4 3 4 / 4 3 / / 1 1 1 1 /
EVM(L)45 3-0F6/22 3]11(3] / 1 2 / / / / 13f1] 11]3]3 4 4 3 4 / 4 3 / / 1 1 1 1 /
EVM(L)45 4-3F6/18.5 41111] 3 1 2 1 1 1 11411 13| 4 4 4 3 4 / 4 3 / / 1 1 1 1 /
EVM(L)45 4-2F6/22 41112 2 1 2 1 1 1 11411 13| 4 4 4 3 4 / 4 3 / / 1 1 1 1 /
EVM(L)45 4-1F6/30 4113 1 1 2 1 1 1 1(4]1]11(3] 4 4 4 3 4 1 4 3 117/ 1 1 / / /
EVM(L)45 4-0F6/30 411(4] / 1 2 1 1 1 11411 13| 4 4 4 3 4 1 4 3 1|/ 1 1 / / /
EVM(L)45 5-3F6/30 5]11[2] 3 1 3 1 1 1 1 ]5]1f 114|5 4 4 3 4 1 4 3 111/ 1 1 / / /
EVM(L)45 5-2F6/30 5[1|3] 2 1 3 1 1 1 1 |5]1[ 145 4 4 3 4 1 4 3 1|/ 1 1 / / /
EVM(L)45 5-1F6/30 S5[{1|4] 1 1 3 1 1 1 1 ]5]1f 1(4|5 4 4 3 4 1 4 3 111/ 1 1 / / /
EVM(L)45 5-0F6/37 5]11[5] / 1 3 1 1 1 1 ]5]1f 1145 4 4 3 4 1 4 3 1(7/ 1 1 / / /
EVM(L)45 6-3F6/37 6]11[3] 3 1 4 1 1 1 1(6]1] 1([5]6 4 4 3 4 1 4 3 111/ 1 1 / / /
EVM(L)45 6-2F6/37 614 2 1 4 1 1 1 1]6]1f 15| 6 4 4 3 4 1 4 3 1(7/ 1 1 / / /
EVM(L)45 6-1F6/37 6]1[5] 1 1 4 1 1 1 1/6]1] 1(f5]6 4 4 3 4 1 4 3 111/ 1 1 / / /
BEARINGS
EVM(L)45
N°
Pump Type
56

EVM(L)45 1-1F6/5.5 6310 ZZ C3

EVM(L)45 1-0F6/7.5 6310 ZZ C3

EVM(L)45 2-2F6/11 6313 ZZ C3

EVM(L)45 2-1F6/11 6313 ZZ C3

EVM(L)45 2-0F6/15 6313 ZZ C3

EVM(L)45 3-3F6/15 6313 ZZ C3

EVM(L)45 3-2F6/15 6313 ZZ C3

EVM(L)45 3-1F6/18.5 6313 ZZ C3

EVM(L)45 3-0F6/22 6313 ZZ C3

EVM(L)45 4-3F6/18.5 6313 ZZ C3

EVM(L)45 4-2F6/22 6315 ZZ C3

EVM(L)45 4-1F6/30

6315 ZZDT C3 *

EVM(L)45 4-0F6/30

6315 ZZDT C3 *

EVM(L)45 5-3F6/30

6315 ZZDT C3 *

EVM(L)45 5-2F6/30

6315 ZZDT C3 *

EVM(L)45 5-1F6/30

6315 ZZDT C3 *

EVM(L)45 5-0F6/37

6315 ZZDT C3 *

EVM(L)45 6-3F6/37

6315 ZZDT C3 *

EVM(L)45 6-2F6/37

6315 ZZDT C3 *

EVM(L)45 6-1F6/37

6315 ZZDT C3 *

*DT=Two single row deep groove ball bearings matched for paired mounting in a tandem arrangement.

349

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

EBARA




EVM

VERTICAL MULTISTAGE PUMP S

6OHZ

0.4 —
p H
[MPa [m
0.3 30
02— 20
01— 10
0- 0
7
K
[kwW] 5
3
80
70
60
50

PERFORMANCE CURVE

EVMGA45
0 USgpm 50 100 150 200 250 300 350
| | | | | | |
I T T T I T
0 Impgp.m. 50 100 150 200 250 300
T , L 120
e~ .0/
BN )
\\
—— N\ - 100
— 1 _] \\\
\\\ 7~7/ \
\stw \ — 80
T~
N
\\\
N\ - 60
NPSH | 4
[m] [f]
8
NPSH L — 4 202
| 10
0
0 200 400 600 800 1000 1200 Q [I/min]
I T T T T T T T T
0 10 20 30 40 50 60 70 am
—
141 S~—""
~
\//’——-
0 200 400 600 800 1000 1200 Q [I/min]
— 10
\ =
A N
o \\\
11N
| N\
0 200 400 600 800 1000 1200 Q [/min]
Rotation speed ~3500 min-1
Test standard: ISO 9906:2012 - Grade 3B

B Eaana

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice



6OHZ

VERTICAL MULTISTAGE PUMP S

EVM

PERFORMANCE CURVE

08—
P H
[MPa] [m]
0.6 — 60
04— 40
02— 20
0- 0
14
P2
K
kW] 10
6
80
n
[% 70
60
50
351

EVMGA45
0 USgpm. 50 100 150 200 250 300 350
| l | l | l | l
[ [ [ [ [ [ [
0 Impgpm. 50 100 150 200 250 300
T L 250
T— ),
— ~ 015 w H
-— i
~ 2. |
——_ _ _— 1/17kw L 200
N L N\ L 150
Q N\
\\ N
N
\ NPSH | 100
[m] [
8 p—
— 620 |- 50
NPSH A
p— 4 —]
I ”/ 10
2 p—
0
0 200 400 600 800 1000 1200 Q [Vmin]
| T T T T l T l T
0 10 20 30 4 50 80 70 Q]
210 N ////
22— |
0 200 400 800 800 1000 1200 Q [imin]
2‘0
P— o »
211N\
N\
-
2-2
|
0 200 400 600 800 1000 1200 Q [Vmin]

Rotation speed ~3500 min-1
Test standard: ISO 9906:2012 - Grade 3B

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

= TVTY



EVM VERTICAL MULTISTAGE PUMP S
PERFORMANCE CURVE
EVMGA45
0 USgpm. 50 100 150 200 250 300 350
| | | | | | | |
| T T T T | T
0 Imp.g.pm. 50 100 150 200 250 300
129 D= ‘
P H 4 N — 3
—— 1 ~3-0/>, - 350
MP. —_ K
[MPa] [m] N ~ s W g
T __ - S — ~7/18 N
N T —— S \\ 300
09w —_— i Nl N i
T T~ <
~ e \\
0 N AN — 250
. \
NG NEANh
06 60 N N - 200
. \ N
\\ \ NPSH
f
\\ mw |
8 p—
03 a0 — — 620 100
/
NPSH || o .
] - -
0— 0 0
0 200 400 600 800 1000 1200 Q limin]
| T T T T T T T T
0 10 20 30 40 50 60 70 Qjmin]
2
P2 30 L
32 - \\<// "
33 *\\‘//’
8
0 200 400 600 800 1000 1200 Q limin]
80
n — :‘\\
[% N0 y
. \>\ x‘\>\‘ L 3}0
/ 32 \\\ 31
33 | N\
60 |
0 200 400 800 800 1000 1200 Q|limin]
Rotation speed ~3500 min-1
Test standard: ISO 9906:2012 - Grade 3B
352

5 EBARA EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

6OH2

H
i



6OHZ VERTICAL MULTISTAGE PUMP S EVM

PERFORMANCE CURVE

EVMGA45
0 USgpm. 50 100 150 200 250 300 350
| l l l l l | l
[ T T T T T T
0 Impgp.m. 50 100 150 200 250 300
16 180 =———
H T L 500
p T -+ — T — 4.,
[MPa] m [~ N ~— ] - \\Q@O kw H
T — - \\ 4~1/\ If
T —— B — TfiQ,VV\\‘\
1.2 4 120 i \\ﬁ{gﬁkw\ \\\\ L 400
~33
\/&Q‘ w \\
N
NG \\
NN\ \\ - 300
N\ \\
08 — 80 \\
\ \
N
\ NesH [ 200
[m] [fi
0.4 40 8 —
_— 620 [~ 100
NPSH e .
Iy ”/ —10
2 —
0- 0 0
0 200 400 600 800 1000 1200 Q [/min]
[ I I I I I I [ I
0 10 20 30 40 50 60 70 Q [mgh]
30
P2 40 ——
kW] 20 4-1 < — | —
g ——
10
0 200 400 600 800 1000 1200 Q [/min]
80
n = |
~ \§§\ ~ 40
[%] 70 > \\ 41
S N s
@ N\ 42
43
50
0 200 400 600 800 1000 1200 Q [i/min]
Rotation speed =3500 min-1
Test standard: 1SO 9906:2012 - Grade 3B

EBARA Pumps Europe 5 EBARA

EBARA Pumps Europe reserves the right to make changes without prior notice



EVM

VERTICAL MULTISTAGE PUMP S

204

[MPa]

05

[kw]

150

100

50

35

25

80

70

60

PERFORMANCE CURVE

EVMGA45
0 USgpm 50 100 150 200 250 300 350
| | | | | | | |
I T T T T I T
0 Impg.p.m. 50 100 150 200 250 300
:: :\ 4~ ] \“ﬁ\\‘ 5~0/37k — 600
T = — — 4
— - 37/
I D) SOkW\ N\
_ ] 2000
—
\\‘%\ N N - 500
\\\\ \\
\\\\ \ - 400
VW
\\\\‘
\\ — 300
AN
N
NPSH | 500
[m] [l
8
NPSH L — 46 20 |~ 100
0
0 200 400 600 800 1000 1200 Q [/min]
I T T T T T T T T
0 10 20 30 40 50 60 70 Q[mh]
50 =
5_1 N //:”
o ~Nee—,———
0 200 400 600 800 1000 1200 Q [/imin]
§\ ‘
570
) NN 541
/ NN\ 5.2
|
5-‘3
0 200 400 600 800 1000 1200 Q [/min]
Rotation speed ~3500 min-1
Test standard: ISO 9906:2012 - Grade 3B

B Eaana

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

6OHZ

[



6OHZ VERTICAL MULTISTAGE PUMP S EVM

PERFORMANCE CURVE

EVMGA45
0 USgpm 50 100 150 200 250 300 350
| | | | | | | |
| T | T | 1 |
0 Impgpm. 50 100 150 200 250 300
24— 240
p H T +——
T ——1 —~ —— —700 H
MP —_ - — n -
e m T —— \'H\\\%kw\ f
T~ 3 /37’\'W NG
~&3/5,
154 10 & aw S — 600
\\; \\
\\\ — 500
\; N\
\Q\\\
124 120 \\\\ — 400
NPSH
m I
— 300
8 -
06 60 — — 620 200
NPSH =
- — 4
—
— 10 [~ 100
_—-/// 2 —
0- 0 0
0 200 400 600 800 1000 1200 Q [/min]
| | T T | T T T T
0 10 2 30 40 50 60 70 Q[mn)
40
P2 6-1 —
kW] " 6‘2 T
RN ——
63 —~—
20
0 200 400 600 800 1000 1200 Q [/min]
80
! = 6
[ NN |
70 /’/ AN\ N 6-2
N
N—" 6-3
60
0 200 400 600 800 1000 1200 Q{[/min]
Rotation speed ~3500 min-1
Test standard: ISO 9906:2012 - Grade 3B

EBARA Pumps Europe 5 EBARA

EBARA Pumps Europe reserves the right to make changes without prior notice



EVM VERTICAL MULTISTAGE PUMP S 6OHZ

TECHNICAL DATA
EVMG45

Dimensional sketch

Round flange (F) - DN80
c
B
[ [
I I
| -
T g
E
N
L. N
A
‘ 1 G3/8
o
I
N° 8 holes 218
De § {) G318
= 7 5]
Sillirs N
N dholesota| || |[LL20 2160
| 190 | 266
251
265 L 831 |
Dimensions [mm] and Weights [Kg]
Motor Round flange (F)
Pump Type [PMn:’Z); KW sz A > w2 VI;/EEN Pumwiithtotor
B C H3 P P
EVMG45 1-1F6/5.5 1.6 55 | 132S | 300 [225 160 328[ 546 56 94.6
EVMG45 1-0F6/7.5 1.6 75 | 132s | 300 [225 160 350| 546 56 96.4
EVMG45 2-2F6/11 1.6 11 | 160M | 350 | 248 194 476| 749 58 1205
EVMG45 2-1F6/11 1.6 11 | 160M | 350 | 248 194 476 749 58 1205
EVMG45 2-0F6/15 1.6 15 | 160M | 350 | 317 238 498| 749 58 146.9
EVMG45 3-3F6/15 1.6 15 | 160M | 350 | 317 238 498| 822 74 162.9
EVMG45 3-2F6/15 1.6 15 | 160M | 350 | 317 238 498| 822 74 162.9
EVMG45 3-1F6/18.5 16 | 185 | 160L | 350 317 238 542| 822 74 178
EVMG45 3-0F6/22 1.6 22 | 180M | 350 | 360 268 577| 822 74 237
EVMG45 4-3F6/18.5 16 | 185 | 160L | 350 317 238 542| 894 77 181
EVMG45 4-2F6/22 1.6 22 | 180M | 350 | 360 268 577| 894 77 240
EVMG45 4-1F6/30 1.6 30 | 200L | 400 [399 300 658| 909 77 305
EVMG45 4-0F6/30 1.6 30 | 200L | 400 [ 399 300 658| 909 77 305
EVMG45 5-3F6/30 25 30 | 200L | 400 [399 300 658| 981 9 324
EVMG45 5-2F6/30 2.5 30 | 200L | 400 [399 300 658| 981 9 324
EVMG45 5-1F6/30 25 30 | 200L | 400 [399 300 658| 981 9 324
EVMG45 5-0F6/37 2.5 37 | 200L | 400 [ 399 300 658| 981 9 338
EVMG45 6-3F6/37 25 37 | 200L | 400 [399 300 658 1053| 99 341
EVMG45 6-2F6/37 25 37 | 200L | 400 [399 300 658 1053| 99 341
EVMG45 6-1F6/37 2.5 37 | 200L | 400 [399 300 658] 1053| 99 341

1.6 MPa=16 bar ; 2.5 MPa=25 bar ; 3.0 MPa=30 bar

356
EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

E2BARA



6OHZ

VERTICAL MULTISTAGE PUMP S

EVM

SECTIONAL VIEW
EVMG45

LT

_;_\_\_\
N = N W
P PQ
RIS T RN

_‘_\_;
- = W
= o
(LR RN
|
.;;

o
X

[ ] ]

|

1

e emEe

[=]
w
pury

(=]
B
[$,]
| S

, ||

Pump with single ball bearing

357

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice



EVM

VERTICAL MULTISTAGE PUMPS

SECTIONAL VIEW

EVMGA45
2742
1207
1354 T 17?1
120-13 j/ N 6-
5
51 /q%_r] }
1 -
128-3 \&-\ {l ,i 1401
120-8 \li\" |
245 i
131-1 ; 1 ' | 391
1302 ! P ix !
! ] 1353
1304 | ! -
+
1114
l. ) ! 120-6
130-1 |
1203 \ R 1204
) L | | 273
1118 e I s
128-1
] Ay 212
135-1 | — »
y | >
Mo ——  1lllg) — T 115-1
130-3 — . NfF—
47— L 1 T
24— T T
435— i T
- ~|rl|5 T 111-5
43-3 i e iy
521\\\ I \\\111-2
T ﬂl]:‘ I \ 1154
sl S
\][\ :lILLL — \ 136-1
I 438
i
Il
I
= =
i
T
432 |||.
e — =
436 — |1 | —:Jllr i
1371 —— [ il H

31— oL o
43-7 Vi
75-1 52.2 —— —’jf: . M \. \ 1202
2731 2 ——+HH i
e Railii 7~, \
2121 6 W | ,I > 1209
\ 2 -
45 \;JJ—J i i - ) ™~ 702
il 7§*§
= 135-5
r \ 120-12
Lt |
Pump with single ball bearing
358

B Eaana

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

6OHZ



6OHZ

VERTICAL MULTISTAGE PUMP S EVM

SECTIONAL VIEW
EVMG45

Hrf

T
I

i

[ [ ]

32— | ‘
1201 — | I L\\
g \ iy 81
Ll i 53
1974 — | \i:f\
i | ! - 21
48— 1T 1 i
M — N i~ 52
3 — 7 g\\
437 T h X\ il < \ 12
_&__ / N = \ 128-2
2731 522 —— T[T X ‘ >
| \ M 120-2
75-1 442 — o 0 | ] 107
Y i r;‘ X Vil
212_1 G —_— I 1 \ / \Y |
45 1N SR | s 120-9
j \ 70-2

=y
w
1/4_1
Y
|
b4
VAR
o o
& N
&N

i
il
In
[ YT
)
| I
[ /1
L]

Pump with double ball bearing

359

EBARA Pumps Europe g EBARA

EBARA Pumps Europe reserves the right to make changes without prior notice



VERTICAL MULTISTAGE PUMP S

SECTIONAL TABLE

EVMGA45

N° PART NAME MATERIAL DIMENSIONS |STANDARD]
EVMG

5-2 Intermediate casing EN 1.4301 (AISI 304)

5-4 Discharge casing EN 1.4301 (AISI 304)

6 Bottom casing Cast iron EN GJL 250 EN 1561

7 Outer casing EN 1.4301 (AISI 304)

11 Casing cover Cast iron EN GJL 250 EN 1561

12 Suction cover EN. 1.1301 (AISI304)

2 Impeller EN 1.4301 (AISI 304)

21-1 Reduced impeller

31 Shaft EN 1.4401 (AISI 316)

39-1 Key Carbon steel 12X8X90 UNI 6604

43-1 Shaft sleeve (mechanical seal) EN 1.4301 (AISI 304)

43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304)

43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304)

43-4 Shaft sleeve (adjustment) EN 1.4301 (AISI 304)

43-5 Shaft sleeve (last stage) EN 1.4301 (AISI 304)

43-6 Shaft sleeve (adjustment) EN 1.4301 (AISI 304)

43-7 Shaft sleeve EN 1.4301 (AISI 304)

43-8 Shaft sleeve (discharge-lower) EN 1.4301 (AISI 304)

44-1 Shaft sleeve bearing Tungsten carbide

44-2 Bearing sleeve (bottom bearing) Tungsten carbide

45 Flange holder EN 1.402 (AISI 420)

47 Ring holder EN 1.4301 (AISI 304)

48 Impeller nut A2-70 UNI 7323 with inox insert M16

51 Motor adapter Cast iron EN-GJL-200-EN 1561

52-1 Bearing Tungsten carbide

52-2 Bearing Tungsten carbide

53 Bush holder EN 1.4301 (AISI 304)

56 Ball bearing see table page 361

70-1 Ring for bearing EN 1.4301 (AISI 304)

70-2 Ring for bearing EN 1.4301 (AISI 304)

75 0O-Ring (plug) EPDM

75-1 O-Ring (plug) EPDM

81 Bush PTFE

107 Liner ring PTFE /EN 1.4401 (AISI316)

111-1  |Mechanical seal Silicon carbide /Carbon/FPM

111-2  |Mechanical seal cartridge EN 1.4301 (AISI 304)

111-3  |Mechanical seal seat EN 1.4301 (AISI 304)

111-4  |Seal holder Brass OT 58 UNI 5705

111-5  |Adjusting ring EN 1.4301 (AISI 304)

115-1  |O-Ring (outer casing) EPDM D.240.66X5.34

115-4 |O-Ring (cartridege sleeve) EPDM D.24.99X3.53

115-5 |O-Ring (seal cover) EPDM D.44.04X3.53

120-1 |Tie Rod Galvanized steel 6.8 strenght class 1SO 898/1

120-2  [Tie Rod EN 1.4301 (AISI 304)

120-3  [Screw A2-70 UNI 7323 M5X10 UNI 5931

120-4  |Screw Galvanized steel 8.8 strenght class ISO 898/1 M10X25 UNI 5739

120-5  |Screw for coupling Galvanized steel 8.8 strenght class ISO 898/1 M10X30 UNI 5739

120-6  |Screw for coupling % Galvanized steel 8.8 strenght class 1SO 898/1 M’\/:Iééég Bz: ggii

120-7 _ |Screw Galvanized steel 8.8 strenght class ISO 898/1 M6X10 UNI 5739

120-8  |Screw % Galvanized steel 8.8 strenght class 1SO 898/1 mié;gg Bz: g;ig
EVML UNI 5737

120-9  [Screw EVM.EVMG | EN 1.4301 (AISI 304) M5X8 UNI 5739

120-12 [Screw EN 1.4301 (AISI 304) M6X20 UNI 5931
EVM451-0,1-1 | M12X30 UNI 5739

120-13 [Screw for motor EVM45 6 Galvanized steel 8.8 strenght class ISO 898/1 M16X55 UNI 5737
EVM45 2 to 5-3 M16X65 UNI 5739

128-1 _ |Nut for tie rod Galvanized steel M16 UNI 5588

128-2  |Nut Carbon steel M5 UNI 5588

128-3  |Nut Galvanized steel M16 UNI 5588

129 Lock nut Carbon steel M75X2

130-1 _ |Set screw A2- 70 UNI 7323 M6X8 UNI 5923

130-2 _|Screw for coupling guard A2-70 UNI 7323 M5X6 UNI 7687

130-3 _ |Set screw A2- 70 UNI 7323 M6X6 UNI 5923

130-4  |Set screw Carbon steel M10X10 UNI 5923

131-1  |Pin for shaft Carbon steel

131-2 Elastic pin - 6X25 UNI 6873

135-1 |Washer Galvanized steel 17X30X3 UNI 6592

135-3  |Washer Galvanized steel 10.5X17.5X2.2 UNI 1751

135-4  |Washer Plated carbon steel 6.4 UNI 1751

135-5 [Washer EN 1.4301 (AISI 304)

136 Bearing washer Carbon steel

136-1  |Stopper ring EN 1.4301 (AISI 304)

137-1 _ |Impeller spacer EN 1.4301 (AISI 304)

137-2  [Shaft spacer EN 1.4301 (AISI 304)

140 Coupling Brass OT 58 UNI 5705

140-1 _ |Motor coupling Carbon steel

140-2_ |Coupling (pump side) Carbon steel

150 Spacer Carbon steel

160 Base -

162 Mator bracket Cast iron EN-GJL-200 EN1561

212 Plug EN 1.4301 (AISI 304)

212-1 |Plug EN 1.4301 (AISI 304)

245 Coupling guard EN 1.4301 (AISI 304)

273 Plug washer EN 1.4301 (AISI 304)

273-1 _|Plug washer EN 1.4301 (AISI 304)

274-1 |C-type snap ring EN 1.4301 (AISI 304) D.26 UNI 7435
EVM45 1-0, 1-1 D.50 UNI 7435

274-2  [C-Typr snap ring EVM45 2 to 4-3 Carbon steel TC80 D.65 UNI 7435
EVM45 4-2 D.75 UNI 7535

274-3 _|C-Typr snap ring Carbon steel TC80 D.110 UNI 7437

613 Flange Carbon steel

360

E2BARA

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

6OH2



60Hz

VERTICAL MULTISTAGE PUMP S

QUANTITY FOR MODEL
EVMG45

Pump Type N
5-211|21|21-1{39-1|43-2|43-3|43-4|44-1|52-1| 53| 56| 70-1| 81| 107| 120-4| 120-5| 120-7| 128-3| 129| 135-3| 135-4| 136 | 140| 140-1| 140-2| 150 274-2| 274-3
EVMG45 1-1F6/5.5 1)1/71/711 / / / / / /J1f1) /7 J1f1 / / / / / / / / 1 / / 1 1 1
EVMG45 1-0F6/7.5 10711 7/ / / / / / A S A Y / / / / / / / / 1 / / 1 1 1
EVMG45 2-2F6/11 211[/7] 2 1 1 / / / /12f1] 1]2]2 4 4 3 4 / 4 3 / / 1 1 1 1 /
EVMG45 2-1F6/11 21111 1 1 1 / / / / l2f1] 1]2]2 4 4 3 4 / 4 3 / / 1 1 1 1 /
EVMG45 2-0F6/15 211(2] / 1 1 / / / /12f1] 1]2]2 4 4 3 4 / 4 3 / / 1 1 1 1 /
EVMG45 3-3F6/15 3|11[/] 3 1 2 / / / / 13f1] 11]3]3 4 4 3 4 / 4 3 / / 1 1 1 1 /
EVMG45 3-2F6/15 3]1[1] 2 1 2 / / / / 13f1] 11]3]3 4 4 3 4 / 4 3 / / 1 1 1 1 /
EVMG45 3-1F6/18.5 3f{1)2] 1 1 2 / / / / 13f1] 11]3]3 4 4 3 4 / 4 3 / / 1 1 1 1 /
EVMG45 3-0F6/22 3|11(3] / 1 2 / / / / 13[1] 1]3]3 4 4 3 4 / 4 3 / / 1 1 1 1 /
EVMG45 4-3F6/18.5 411[1] 3 1 2 1 1 1 1(4]1]11(3] 4 4 4 3 4 / 4 3 / / 1 1 1 1 /
EVMGA45 4-2F6/22 41112 2 1 2 1 1 1 11411 1134 4 4 3 4 / 4 3 / / 1 1 1 1 /
EVMG45 4-1F6/30 411[3] 1 1 2 1 1 1 1(4]1]11(3] 4 4 4 3 4 1 4 3 1 / 1 1 / / /
EVMGA45 4-0F6/30 411(4] / 1 2 1 1 1 11411 13| 4 4 4 3 4 1 4 3 1 / 1 1 / / /
EVMG45 5-3F6/30 5(1]2] 3 1 3 1 1 1 1 |5]1[ 145 4 4 3 4 1 4 3 1 / 1 1 / / /
EVMG45 5-2F6/30 5]11[3] 2 1 3 1 1 1 1 ]5]1f 1(4|5 4 4 3 4 1 4 3 1 / 1 1 / / /
EVMGA45 5-1F6/30 5(114] 1 1 3 1 1 1 1 ]5]1f 1145 4 4 3 4 1 4 3 1 / 1 1 / / /
EVMG45 5-0F6/37 5]11[5] / 1 3 1 1 1 1 ]5]1f 1145 4 4 3 4 1 4 3 1 / 1 1 / / /
EVMGA45 6-3F6/37 6[1|3] 3 1 4 1 1 1 1]6]1f 15| 6 4 4 3 4 1 4 3 1 / 1 1 / / /
EVMG45 6-2F6/37 611[4] 2 1 4 1 1 1 1(6]1] 1(|5]6 4 4 3 4 1 4 3 1 / 1 1 / / /
EVMG45 6-1F6/37 6]1[5] 1 1 4 1 1 1 1/6]1] 1([5]6 4 4 3 4 1 4 3 1 / 1 1 / / /
BEARINGS
EVMGA45
N°
Pump Type 6

EVMG45 1-1F6/5.5 6310 ZZ C3

EVMG45 1-0F6/7.5 6310 ZZ C3

EVMG45 2-2F6/11 6313 ZZC3

EVMG45 2-1F6/11 6313 ZZC3

EVMG45 2-0F6/15 6313 ZZ C3

EVMG45 3-3F6/15 6313 ZZ C3

EVMG45 3-2F6/15 6313 ZZ C3

EVMG45 3-1F6/18.5 6313 ZZ C3

EVMG45 3-0F6/22 6313 ZZ C3

EVMGA45 4-3F6/18.5 6313 ZZ C3

EVMGA45 4-2F6/22 6315 ZZ C3

EVMGA45 4-1F6/30

6315 ZZDT C3 *

EVMGA45 4-0F6/30

6315 ZZDT C3 *

EVMG45 5-3F6/30

6315 ZZDT C3 *

EVMG45 5-2F6/30

6315 ZZDT C3 *

EVMG45 5-1F6/30

6315 ZZDT C3 *

EVMG45 5-0F6/37

6315 ZZDT C3 *

EVMG45 6-3F6/37

6315 ZZDT C3 *

EVMG45 6-2F6/37

6315 ZZDT C3 *

EVMGA45 6-1F6/37

6315 ZZDT C3 *

*DT=Two single row deep groove ball bearings matched for paired mounting in a tandem arrangement.

361

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

EBARA



EVM VERTICAL MULTISTAGE PUMP S
PERFORMANCE CURVE
EVM(L)64
0 USgpm. 100 200 300 400 500
| 1 1 1 1 1
I T T T T
0 Impgpm. 100 200 300 400
05— 50
160
p H
[MPa] mi H
F—— -4
04 —| 40 ——— 3
— -0/, ” — 120
m—— L -1 \\
03— 30 — \\ — 100
~——— 7~7/7
\\ \ — 80
N\
0.2 20
N - 60
NPSH
[m] [
40
0.1 10 104 4
—
NPSH - s FBE
_/// 10
0- 0 0
0 500 1000 1500 Q [I/min]
I T T T T T 1
0 20 40 80 80 100 Q[min]
10
P2 —
kW] 00—
6 i
19— —_—
2
0 500 1000 1500 Q [I/min]
80
n — \
% 70 = ~. 10
,/,/
60 ,/ — N
1-1
50
0 500 1000 1500 Q [I/min]
Rotation speed ~3500 min-1
Test standard: ISO 9906:2012 - Grade 3B
362

5 EBARA EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

6OH2



6OHZ

VERTICAL MULTISTAGE PUMPS

EVM

1.0 —

[MPa]

0.8

0.6

04—

0.2 —

P2
[kw]

[%]

363

100

[m]

80

60

40

20

20

14

80

60

50

PERFORMANCE CURVE

EVM(L)64
0 USgpm. 100 200 300 400 500
| | | | | l
[ [ [ [ [
0 Impgpm. 100 200 300 400
— 300
H
I~ — _ [ft
L T — B
—_ —L \\ 2_0 /22 ” 250
- |
i — X
——— | ~~2:1/185 kw N
n — 2.5 ~ — 200
R
[m] [f]
104
— - 50
NPSH - e
I ~
" 10
0
0 500 1000 1500 Q [Imin]
[ [ [ [ [ [ |
0 20 | 60 80 100 Qmdn
|
2'0 -
\ — ——
NS/
22 | —
‘ T
0 500 1000 1500 Q [Imin]
[ ———— ‘
// % G . 20
7z SIS
- 241
2 22 AN
0 500 1000 1500 Q [I/min]

Rotation speed ~3500 min-1
Test standard: 1ISO 9906:2012 - Grade 3B

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

= TVTY



VERTICAL MULTISTAGE PUMPS

PERFORMANCE CURVE

EVM(L)64
0 USgpm 100 200 300 400 500
| 1 1 1 1 1
I T T T T
0 Impg.p.m. 100 200 300 400
16— 160
- 500
p H
[MPa] i H
I
= - 400
124 120
T — \“\_
— I f— \&O/ 30 kw
o “\\‘\\\ — -\‘Z‘*/‘?O%\\\
T — \3*2@\“1\\‘\\ - 300
08 & ~\\\ N
\\\\t NPsH | 20
[m] ]
™
0.4 40 0
— 100
NPSH _— s 2
-~
L 10
0- 0 0
0 500 1000 1500 Q [/min]
T T T T T T 1
0 20 40 60 80 100 Qfmh]
30 ‘
P2 3]0 —
32 | ~———
I
33—
10 .
0 500 1000 1500 Q{l/min]
85
N A%\ |
%] 75 \\\‘ >~ 30
\\\ \ 31
65 / ) \\
Z 33 N\ 32
N~
55
0 500 1000 1500 Q /min]
Rotation speed ~3500 min-1
Test standard: 1ISO 9906:2012 - Grade 3B
364

B Eaana

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

6OH2



6OHZ VERTICAL MULTISTAGE PUMP S EVM

PERFORMANCE CURVE

EVM(L)64
0 USgpm. 100 200 300 400 500
| | | | | |
| T T T T
0 Impgpm. 100 200 300 400
20— 200
p H - 600
[MPg] [ H
[
15- 10 fF—————— - 500
T T E— 4-1/5,
— K
\% \\\ - 400
\\\\\
10 100 \\\\\\
\\\ \\ - 300
N
N\
NPSH | 209
(i
05— 5 [m] [T
104
- 100
NPSH T 52
__— 10
0 0 0
0 500 1000 1500 Q [Umin]
| T T T T | |
0 20 40 60 80 100 Q[min
|
P2 41
L. 4‘ " —
. —
3 —
-3~ — —
20 \\</ —
0 500 1000 1500 Q [Umin]
85
n
w7 \\\ 41
0.
RN 42
NN
65 NOON
N 4-3
N~
55
0 500 1000 1500 Q [Umin]
Rotation speed ~3500 min-1
Test standard: ISO 9906:2012 - Grade 3B
365

EBARA Pumps Europe 5 EBARA

EBARA Pumps Europe reserves the right to make changes without prior notice



EVM VERTICAL MULTISTAGE PUMP S 6OHZ

TECHNICAL DATA
EVM(L)64

Dimensional sketch

Round flange (F) - DN100
o]
B
i i
I I
) 4
T 0
E
N
L -
N
f G3B
o
I
N° 8 holes 218
3 G38
ST
=8
g — £
N 4hoesota |9 |l-20 2180
180 266
251
1
365 33
Dimensions [mm] and Weights [KQ]
Motor Round flange (F)
Pmax | w size A 3~ H2 | Weight Weight
Pump Type [MPa] B c H3 Pump Pump + Motor
EVM(L)64 1-1F6/7.5 1.6 75 | 132s | 300 | 225 160 350( 546 70 110.4
EVM(L)64 1-0F6/11 1.6 11 160M | 350 | 248 194 476 677 7 139.5
EVM(L)64 2-2F6/15 1.6 15 160 M | 350 | 317 238 498 749 81 169.9
EVM(L)64 2-1F6/18.5 16 | 185 | 160L | 350 | 317 238 542 749 94 198
EVM(L)64 2-0F6/22 1.6 22 180M | 350 | 360 268 577 749 94 257
EVM(L)64 3-3F6/22 1.6 22 180M | 350 | 360 268 577 821 99 262
EVM(L)64 3-2F6/30 1.6 30 200 L 400 | 399 300 658| 837 99 327
EVM(L)64 3-1F6/30 1.6 30 200 L 400 | 399 300 658| 837 99 327
EVM(L)64 3-0F6/30 1.6 30 200 L 400 | 399 300 658| 837 99 327
EVM(L)64 4-3F6/30 1.6 30 200 L 400 | 399 300 658| 909 108 336
EVM(L)64 4-2F6/37 1.6 37 200 L 400 | 399 300 658| 909 108 350
EVM(L)64 4-1F6/37 1.6 37 200 L 400 | 399 300 658| 909 108 350

1.6 MPa=16 bar ; 2.5 MPa=25 bar

366

E2ARA EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice



6OHZ

VERTICAL MULTISTAGE PUMP S

EVM

367

2731
751
2121

SECTIONAL VIEW

EVM(L)64

1@
jﬂg\

i

43-5
120-1 — [~

436 — T

137-1
48 —|

31—

._E_.__._E__.-

#
( ,%/.Hiﬂl~
& U

F\A

522 — |
42— |
P

45 —

=
r

613 — [ 7

e e

- i
131-2 i I’,

Pump with single ball bearing

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice



EVM

VERTICAL MULTISTAGE PUMP S

751
2731
2121

SECTIONAL VIEW
EVM(L)64
120-7
1354 ———F 2742
120-13 j/’ TN 150
51 7
\1%\_ I | 70-1
128-3 N 56
120-8 N
\\\,__, 140-1
245 i
~ 162
140-2 H h | T 501
( 1 N -
131-1 | |
; | o
130-2 1
1 | 120-5
1304 | ! 120.6
114 {‘ Y | 1204
I ]
130-1 , '
| | 273
120-3 \ |
\ L 75
111-3
128-1
y |
156 —— L 1[Il

M5 — |
1303 — |

47— !

2741 — |

B I

I
T

AW Y | A 4

o ——

Pump with single ball bearing

368

B Eaana

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

6OHZ



6OHZ

VERTICAL MULTISTAGE PUMP S EVM

SECTIONAL VIEW
EVM(L)64

T 136
12013 —— ] X - 5 , 129
g’ ﬁ\« N = 2 10
AU \ i | / 7 -
128-3 A &\ { /o
\\\\ ! Yays 56
!

// 140-1

f
IZ.

(Ve —— 162

39-1

[J
E

A —_—

—
-

Pump with double ball bearing

369

EBARA Pumps Europe 5 EBARA

EBARA Pumps Europe reserves the right to make changes without prior notice



VERTICAL MULTISTAGE PUMP S

SECTIONAL TABLE

EVM(L

)64

N°® PART NAME MATERIAL DIMENSIONS [ STANDARD
EVM EVML

5-2 Intermediate casing EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)

5-4 Discharge casing EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)

6 Bottom casing EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)

7 Outer casing EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)

1 Casing cover Cast iron + Cast iron +

EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)

12 Suction cover EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)

2L Impeller _ EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)

21-1 Reduced impeller

31 Shaft EN 1.4401 (AISI 316)

39-1 Key Carbon steel 12X8X90 UNI 6604

43-1 Shaft sleeve (mechanical seal) EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)

43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)

43-3  [Shatt sleeve (bearing) EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)

43-4  |Shaft sleeve (adjustment) EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)

43-5  |Shaft sleeve (last stage) EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)

43-6  |Shaftsleeve (adjustment) EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)

43-7  [Shaft sleeve (bottom bearing) EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)

43-8 Shaft sleeve (discharge/lower) EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)

44-1 Shaft sleeve bearing Tungsten carbide

44-2 Bearing sleeve Tungsten carbide

45 Flange holder EN 1.402 (AISI 420)

47 Ring holder EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)

48 Impeller nut A2.-7l.) UN! 7323 A4.>7(.) UN! 7323 M16

with inox insert with inox insert

51 Motor adapter Cast iron EN-GJL-200-EN 1561

52-1 Bearing Tungsten carbide

52-2 Bearing Tungsten carbide

53 Bush holder EN 1.4301 (AISI 304) ‘ EN 1.4401 (AISI 316)

56 Ball bearing see table page 371

70-1 Ring for bearing EN 1.4301 (AISI 304)

70-2 Ring for bearing EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)

75 0O-Ring (plug) EPDM FPM

75-1 O-Ring (plug) EPDM FPM

81 Bush PTFE

107 Liner ring PTFE / EN 1.4401 (AISI 316)

111-1  [Mechanical seal Silicon carbide / Carbon /FPM

111-2  |Mechanical seal cartridge EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)

111-3 Mechanical seal seat EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)

111-4  [Seal holder Brass OT 58 UNI 5705 EN 1.4401 (AISI 316)

111-5  |Adjusting ring EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)

115-1 |O-Ring (outer casing) EPDM FPM D.240,66X5,34

115-4  |O-Ring (cartridge sleeve) EPDM FPM D.24,99X3,53

115-5 [O-Ring (seal cover) EPDM FPM D.44,04X3,53

120-1  (Tie-rod Galvanized steel 6.8 Strenght class I1SO 898/1

120-2  |Tie-rod EN 1.4301 (AISI 304) ‘ EN 1.4401 (AISI 316)

120-3  [Screw (mechanical seal) A2-70 UNI 7323 ‘ M5X10 UNI 5931

120-4  |Screw (casing cover) Galvanized steel 8.8 Strenght class ISO 898/1 M10X25 UNI 5739

120-5 [Screw for coupling Galvanized steel 8.8 Strenght class ISO 898/1 M10X30 UNI 5739

120-6  |Screw for coupling mw Galvanized steel 8.8 Strenght class 1SO 898/1 MM12;§g HE: gggi

120-7 _|Screw Galvanized steel M 6X10 UNI 5739

120-8 |Screw Exm::lllo 043 Galvanized steel 8.8 Strenght class ISO 898/1 mig;gg Hm g;gg
EVML .

1209 |Screw M BTG EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) m:ig 3“: g;g;

120-12 |Screw EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) M 6X20 UNI 5931
EVM 64 1-1 M12X30 UNI 5739

120-13 [Screw EVM 64 4-1, 4-2 Galvanized steel 8.8 Strenght class 1ISO 898/1 M16X55 UNI 5737
EVM 64 1-0 to 4-3 M16X65 UNI 5739

128-1  [Nut for tie rod Galvanized steel M16 UNI 5588

128-2 Nut Carbon steel [ EN 1.4401 (AISI 316) M5 UNI 5588

128-3  |Nut Galvanized steel M16 UNI 5588

129 Lock nut Carbon steel

130-1 |Set screw A2-70 UNI 7323 M6X8 UNI 5923

130-2  |Screw for coupling guard A2-70 UNI 7323 M5X6 UNI 7687

130-3  |Set screw EN 1.4301 (AISI 304) [ EN 1.4401 (AISI 316) M6X6 UNI 5923

130-4 _|Set screw Galvanized steel M10X10 UNI 5923

131-1 |Pin for shaft Carbon steel

131-2  |Elastic pin Galvanized steel 6X25 UNI 6873

135-1 |Washer Galvanized steel 17x30x3 UNI 6592

135-3 |Washer Galvanized steel 10,5X17,5X2,2 | UNI 1751

135-4  |Washer Plated carbon steel 6.4 UNI 1751

135-5 |Washer EN 1.4301 (AISI 304) [ EN 1.4401 (AISI 316) D.6

136 Bearing washer Carbon steel

136-1 _|Stopper ring EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)

137-1 _|Impeller spacer EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)

137-2 _ |Shaft spacer EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)

140 Coupling Brass OT 58 UNI 5705

140-1 Motor coupling Carbon steel

140-2  |Coupling (pump side) Carbon steel

150 Spacer Carbon steel

160 Base Cast iron EN-GJL-200 EN 1561

162 Motor bracket Cast iron EN-GJL-200-EN 1561

212 Plug EN 1.4301 (AISI 304) | EN 1.4401 (AISI 316)

212-1 Plug EN 1.4301 (AISI 304) | EN 1.4401 (AISI 316)

245 Coupling guard EN 1.4301 (AISI 304)

273 Plug washer EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)

273-1 Plug washer EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)

274-1 _|C-Type snap ring EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) D.26 UNI 7435
EVM64 1-1 D.50 UNI 7435

274-2  |C-Type snap ring EVM64 1-0to2-2 Carbon steel TC80 D.65 UNI 7435
EVM64 2-0, 3-3 D.75 UNI 7535

274-3  |C-Type snap ring Carbon steel TC80 D.110 UNI 7437

613 Flange Carbon steel

370

E2BARA

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

6OH2



6OHZ

VERTICAL MULTISTAGE PUMP S

EVM

QUANTITY FOR MODEL

EVM(L)64
Pump Type N
5-2|11|21|21-1|39-1|43-2|43-3|43-4|44-1|52-1| 53| 56| 70-1| 81| 107 | 120-4| 120-5| 120-7| 128-3| 129 | 135-3| 135-4| 136| 140| 140-1| 140-2| 150| 274-2| 274-3
EVM(L)64 1-1F6/7.5 1)/71/711 / / / / / L1 1)1 / / / / / / / /11 / / 1 1 1
EVM(L)64 1-0F6/11 1)1 / 1 / / / / /1111 f1]1 4 4 3 4 / 4 3 / / 1 1 1 1 /
EVM(L)64 2-2F6/15 211)/] 2 1 1 / / / /1211 1f2]2 4 4 3 4 / 4 3 / / 1 1 1 1 /
EVM(L)64 2-1F6/18.5 2f11f1] 1 1 1 / / / /121 1f2]2 4 4 3 4 / 4 3 / / 1 1 1 1 /
EVM(L)64 2-0F6/22 211(2] / 1 1 / / / /12111 1f2]2 4 4 3 4 / 4 3 / / 1 1 1 1 /
EVM(L)64 3-3F6/22 3|11]/] 3 1 2 / / / / 13|11 11]3]3 4 4 3 4 / 4 3 / / 1 1 1 1 /
EVM(L)64 3-2F6/30 311]1) 2 1 2 / / / / 1311 11]3]3 4 4 3 4 1 4 3 1)1/ 1 1 / / /
EVM(L)64 3-1F6/30 3(1f2] 1 1 2 / / / / 13|11 11]3]3 4 4 3 4 1 4 3 1)1/ 1 1 / / /
EVM(L)64 3-0F6/30 311(3] / 1 2 / / / / 1311 11]3]3 4 4 3 4 1 4 3 1)/ 1 1 / / /
EVM(L)64 4-3F6/30 411(1] 3 1 2 1 1 1 1141111 1]3)]| 4 4 4 3 4 1 4 3 1)1/ 1 1 / / /
EVM(L)64 4-2F6/37 41112) 2 1 2 1 1 1 1(4f1] 1134 4 4 3 4 1 4 3 1]/ 1 1 / / /
EVM(L)64 4-1F6/37 411(3] 1 1 2 1 1 1 1141111 1]3] 4 4 4 3 4 1 4 3 1]/ 1 1 / / /
BEARINGS
EVM(L)64
N°
Pump Type 6

EVM(L)64 1-1F6/7.5 6310 ZZ C3

EVM(L)64 1-0F6/11 6313 ZZ C3

EVM(L)64 2-2F6/15 6313 ZZ C3

EVM(L)64 2-1F6/18.5 6313 ZZ C3

EVM(L)64 2-0F6/22 6315 ZZ C3

EVM(L)64 3-3F6/22 6315 ZZ C3

EVM(L)64 3-2F6/30

6315 ZZDT C3*

EVM(L)64 3-1F6/30

6315 ZZDT C3*

EVM(L)64 3-0F6/30

6315 ZZDT C3*

EVM(L)64 4-3F6/30

6315 ZZDT C3*

EVM(L)64 4-2F6/37

6315 ZZDT C3*

EVM(L)64 4-1F6/37

6315 ZZDT C3*

*DT=Two single row deep groove ball bearings matched for paired mounting in a tandem arrangement.

371

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

EBARA




EVM VERTICAL MULTISTAGE PUMP S 6OHZ

PERFORMANCE CURVE

EVMG64
0 USgpm. 100 200 300 400 500
| 1 1 1 1 1
I T T T T
0 Impgpm. 100 200 300 400
05— 50
— 160
p H
[MPa] mi H
F—— -4
04 | 40 ——— 3
— -0/, » — 120
m— — \\
03— 30 — . 100
~——— 7. 1 1/ \
NS "
ey N
\\ \ 80
N\
0.2 20
N - 60
NPSH
[m] [
40
0.1 10 - 104 4
NPSH R s DD
—— =
B 10
0- 0 0
0 500 1000 1500 Q [I/min]
I T T T T T 1
0 20 40 60 80 100 Q[min]
10
P2 I
LU — ——
M—"
2
0 500 1000 1500 Q [I/min]
80
n — o~
% 70 = 1-0
P
60 ,/ — N
1-1
50
0 500 1000 1500 Q [imin]
Rotation speed ~3500 min-1
Test standard: ISO 9906:2012 - Grade 3B
372

5 EBARA EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice



6OHZ

VERTICAL MULTISTAGE PUMP S

EVM

PERFORMANCE CURVE

EVMG64
0 USgpm. 100 200 300 400 500
| I I I I I
I T T T T
0 Impg.p.m. 100 200 300 400
10— 100
p H — 300
[MPa] iml H
I~ — [ft
08— 80 ——— 3
m—— — 1 ‘\\ 2_0 /22 ” - 250
L - |
— _ \\2.1/18-5kw N
06 » 4 oy ~— \ - 200
\ 150
04— 40 \~\
[m] [f]
0.2 - 20 10 4
— - 50
NPSH 4// 5 %
- =
e 10
0- 0 0
0 500 1000 1500 Q [I/min]
I T T T T T 1
0 20 40 60 80 100 Qmdn
20 |
P2 2-0 —
W 2-1 | —
14 ‘- \/: T
22— —
‘ T
8
0 500 1000 1500 Q [I/min]
® ——— |
n }
ol 70 ,/2/ LN 20
Z SN
60 7 2-2 \\ r 21
50
0 500 1000 1500 Q [I/min]
Rotation speed ~3500 min-1
Test standard: 1ISO 9906:2012 - Grade 3B

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

= TVTY



EVM VERTICAL MULTISTAGE PUMP S 6OHZ

PERFORMANCE CURVE

EVMG64
0 USgpm. 100 200 300 400 500
| 1 1 1 1 1
I T T T T
0 Impg.p.m. 100 200 300 400
16— 160
— 500
p H
[MPa] [ H
Ift
= - 400
124 120—=
T —_— — \“\
| —_ — \\&0/ 30 kw
o “\\‘\\\ — -\‘Z‘*/‘?O%\\\
T — \3*2@\*1\\‘\\ - 300
0.8 80 \\ N
\\\\
\\\\t NesH [ 200
[m] ]
N
0.4 - 40 0
— 100
NPSH _— s 2
——
L 10
0- 0 0
0 500 1000 1500 Q [Vmin]
I T T T T T 1
0 20 40 60 80 100 Qm]
30 ‘
[kw] 2 31 —T
39 | ~————
I
33—
10 ‘
0 500 1000 1500 Q Vmin]
85
N A%\ |
%l 75 SN 30
\\\ \ 31
65 / ) \\
7 33 N\ 32
N~
55
0 500 1000 1500 Q [Vmin]
Rotation speed ~3500 min-1
Test standard: ISO 9906:2012 - Grade 3B
374

5 EBARA EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice



6OHZ VERTICAL MULTISTAGE PUMPS EVM

PERFORMANCE CURVE

EVMG64
0 USgpm. 100 200 300 400 500
| | | | | |
[ [ [ [ [
0 Impgpm. 100 200 300 400
20— 200
p H - 600
MPe] [ H
[
15- 180 fF————— - 500
T T E— 4-1/5,
— Ky
\% \\\ - 400
\\\\\
10 100 \\\\\\
\\\ \\ - 300
N
N\
NPSH | o0
i
05— 5 [m] [T
04
— 100
NPSH i 52
__— 10
g 0 0
0 500 1000 1500 Q [Umin]
| T T T T T |
0 20 40 60 80 100 Q[min
40
P2 41
L. 4‘ " —
Ny —
3 —
AN — ——
20 \\</ —
0 500 1000 1500 Q [Umin]
85
n
w7 \\\ 41
0.
\\\\ 42
AR
65 NON
N 4-3
N~
55
0 500 1000 1500 Q [Vmin]
Rotation speed ~3500 min-1
Test standard: ISO 9906:2012 - Grade 3B
375

EBARA Pumps Europe 5 EBARA

EBARA Pumps Europe reserves the right to make changes without prior notice



6OH2

VERTICAL MULTISTAGE PUMP S

TECHNICAL DATA
EVMG64

Dimensional sketch

Round flange (F) - DN100
o]
B
] i
[ [
) -
208
@)
N
L =
A % g
f G3/8
o
I
N° 8 holes 218
A G3/8
- ey Lo
=) SRR
31 | —;rk&i/% =
N 4hoesota |9 |l-20 2180
;9;: £
331
365
Dimensions [mm] and Weights [Kg]
Motor Round flange (F)
Pmax : 3~ Weight Weight
Pump Type kw Size A H2
+
[MPa] B T Pump | Pump + Motor
EVMG64 1-1F6/7.5 1.6 75 | 132s | 300 [ 225 160 350( 546 70 110.4
EVMG64 1-0F6/11 1.6 11 160M | 350 [248 194 476| 677 77 139.5
EVMG64 2-2F6/15 1.6 15 160 M | 350 | 317 238 498| 749 81 169.9
EVMG64 2-1F6/18.5 1.6 185 160 L 350 | 317 238 542 749 94 198
EVMG64 2-0F6/22 1.6 22 180M | 350 | 360 268 577| 749 94 257
EVMG64 3-3F6/22 1.6 22 180M | 350 | 360 268 577| 821 99 262
EVMG64 3-2F6/30 1.6 30 200L | 400 | 399 300 658 837 99 327
EVMG64 3-1F6/30 1.6 30 200L | 400 | 399 300 658 837 99 327
EVMG64 3-0F6/30 1.6 30 200L | 400 | 399 300 658 837 99 327
EVMG64 4-3F6/30 1.6 30 200 L 400 [ 399 300 658 909 108 336
EVMG64 4-2F6/37 1.6 37 200 L 400 [ 399 300 658 909 108 350
EVMG64 4-1F6/37 1.6 37 200 L 400 [ 399 300 658| 909 108 350

1.6 MPa=16 bar ; 2.5 MPa=25 bar

376

E2ARA EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice



6OHZ

VERTICAL MULTISTAGE PUMP S

EVM

L

377

SECTIONAL VIEW
EVMG64

oy
=
()
/T
/1

=11

2741
43-5

120-1 ——

%‘
\
N

43-6
137-1

/?/“

WO Y W |
D

i
il

Pump with single ball bearing

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice



6OHZ

EVM VERTICAL MULTISTAGE PUMP S

SECTIONAL VIEW
EVMG64

120-7

1354
120-13 —

[ ] 274-2
{ 150

70-1
128-3 AR
\. 56
120-8 N
Ny 140-1
245
i 162
. .

!
|

.

140-2 any - - 301
( 1 Y -
1311 ‘ i T T 1353
! Ty S ! -
130-2 ! ]
| ! 120-5
1304 1 I
& | 120-6
114 l N f 1204

75-1
27341
2121

|
o
—_—

Pump with single ball bearing

378
5 EBARA EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice




6OHZ

VERTICAL MULTISTAGE PUMP S

EVM

SECTIONAL VIEW
EVMG64
120-7
1354 _/J/:ﬁ
120-13
. N 136
51 _/_/\{I J ' s 129
AN \
128-3 S \ i Q 70-1
1208 NN f 56
A\
N\
245 \\Zﬁ-j b 140-1
140-2 ¥ 162
131-1 b -
: = ! 39-1
Ezj Ty T SENEET 135-3
l % : 120-5
1 I
e & | 1206
i l} N ," 1204
1301 ) % !
| —
120-3 | \;:: o i
L i 273
1113 —— — / i
128-1 L
: 212
135-1 \I-[ [_/I ma—
f | 1
s l ] N 1151
T H . > I —
1303 — | .,
4 \ﬂ’-: T 111
74— i T
I - Tm'\\ 1112
43-5 !i! : I i 1154
wa— T | |
52-1 \TF “ﬂr : I \ 13-6 1
sa— [T \:ll- g : = 38
] . i ———————— 21
43-2 \T ‘ﬂr — ! — !h
120-1 \+\ % I III
we— Il | #p\ "
137-1 \—T\ i 1 I I
751
273-1
| 2121
|
|
i
_—— |

379

Pump with double ball bearing

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice



VERTICAL MULTISTAGE PUMP S

SECTIONAL TABLE

EVMG64

N° PART NAME MATERIAL DIMENSIONS | STANDARD
EVMG

5-2 Intermediate casing EN 1.4301 (AISI 304)

5-4 Discharge casing EN 1.4301 (AISI 304)

6 Bottom casing Cast iron EN GJL-250- EN 1561

7 Outer casing EN 1.4301 (AISI 304)

11 Casing cover Cast iron EN GJL-250- EN 1561

12 Suction cover EN 1.4301 (AISI 304)

2 Impeller_ EN 1.4301 (AISI 304)

21-1 Reduced impeller

31 Shaft EN 1.4401 (AISI 316)

39-1 Key Carbon steel 12X8X90 UNI 6604

43-1 Shaft sleeve (mechanical seal) EN 1.4301 (AISI 304)

43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304)

43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304)

43-4 Shaft sleeve (adjustment) EN 1.4301 (AISI 304)

43-5 Shaft sleeve (last stage) EN 1.4301 (AISI 304)

43-6 Shaft sleeve (adjustment) EN 1.4301 (AISI 304)

43-7 Shaft sleeve (bottom bearing) EN 1.4301 (AISI 304)

43-8 Shaft sleeve (discharge/lower) EN 1.4301 (AISI 304)

44-1 Shaft sleeve bearing Tungsten carbide

44-2 Bearing sleeve Tungsten carbide

45 Flange holder EN 1.402 (AISI 420)

47 Ring holder EN 1.4301 (AISI 304)

48 Impeller nut A2-70 UNI 7323 with inox insert M16

51 Motor adapter Cast iron EN-GJL-200-EN 1561

52-1 Bearing Tungsten carbide

52-2 Bearing Tungsten carbide

53 Bush holder EN 1.4301 (AISI 304)

56 Ball bearing see table page 381

70-1 Ring for bearing EN 1.4301 (AISI 304)

70-2 Ring for bearing EN 1.4301 (AISI 304)

75 O-Ring (plug) EPDM

75-1 O-Ring (plug) EPDM

81 Bush PTFE

107 Liner ring PTFE / EN 1.4401 (AIS| 316)

111-1  |Mechanical seal Silicon carbide / Carbon /FPM

111-2  [Mechanical seal cartridge EN 1.4301 (AISI 304)

111-3  [Mechanical seal seat EN 1.4301 (AISI 304)

111-4  |Seal holder Brass OT 58 UNI 5705

111-5  |Adjusting ring EN 1.4301 (AISI 304)

115-1 [O-Ring (outer casing) EPDM D.240,66X5,34

115-4  |O-Ring (cartridge sleeve) EPDM D.24,99X3,53

115-5 [O-Ring (seal cover) EPDM D.44,04X3,53

120-1  [Tie-rod Galvanized steel 6.8 Strenght class 1SO 898/1

120-2 |Tie-rod EN 1.4301 (AISI 304)

120-3  [Screw (mechanical seal) A2-70 UNI 7323 M5X10 UNI 5931

120-4  [Screw (casing cover) Galvanized steel 8.8 Strenght class 1SO 898/1 M10X25 UNI 5739

120-5 [Screw for coupling Galvanized steel 8.8 Strenght class 1SO 898/1 M10X30 UNI 5739

120-6  [Screw for coupling Exmgj ié and igher Galvanized steel 8.8 Strenght class 1SO 898/1 r\;ﬂéigg Bm: gggi

120-7  |Screw Galvanized steel M 6X10 UNI 5739

120-8  |Screw Exm:flllo 043 Galvanized steel 8.8 Strenght class ISO 898/1 migiig Bz: g;gg
EVML M5X8 UNI 5737

120-9  |Screw VM, EVVG EN 1.4301 (AISI 304) VEXE ONIS736

120-12 |[Screw EN 1.4301 (AISI 304) M 6X20 UNI 5931
EVM 64 1-1 M12X30 UNI 5739

120-13 |Screw EVM 64 4-1, Galvanized steel 8.8 Strenght class 1SO 898/1 M16X55 UNI 5737
EVM 64 1-0to 4-3 M16X65 UNI 5739

128-1 _ |Nut for tie rod Galvanized steel M16 UNI 5588

128-2  |Nut Carbon steel M5 UNI 5588

128-3  |Nut Galvanized steel M16 UNI 5588

129 Lock nut Carbon steel

130-1 [Set screw A2-70 UNI 7323 M6X8 UNI 5923

130-2 _ |Screw for coupling guard A2-70 UNI 7323 M5X6 UNI 7687

130-3  [Set screw EN 1.4301 (AISI 304) M6X6 UNI 5923

130-4  |Set screw Galvanized steel M10X10 UNI 5923

131-1 _|Pin for shaft Carbon steel

131-2  [Elastic pin - 6X25 UNI 6873

135-1 |Washer Galvanized steel 17x30x3 UNI 6592

135-3 |Washer Galvanized steel 10,5X17,5X2,2 [ UNI 1751

1354  |Washer Plated carbon steel 6,4 UNI 1751

135-5 |Washer EN 1.4301 (AISI 304) D.6

136 Bearing washer Carbon steel

136-1 |Stopper ring EN 1.4301 (AISI 304)

137-1 _ [Impeller spacer EN 1.4301 (AISI 304)

137-2  |Shaft spacer EN 1.4301 (AISI 304)

140 Coupling Brass OT 58 UNI 5705

140-1 _|Motor coupling Carbon steel

140-2  [Coupling (pump side) Carbon steel

150 Spacer Carbon steel

160 Base -

162 Motor bracket Cast iron EN-GJL-200-EN 1561

212 Plug EN 1.4301 (AISI 304)

212-1  [Plug EN 1.4301 (AISI 304)

245 Coupling guard EN 1.4301 (AISI 304)

273 Plug washer EN 1.4301 (AISI 304)

273-1  [Plug washer EN 1.4301 (AISI 304)

274-1__|C-Type shap ring EN 1.4301 (AISI 304) D.26 UNI 7435
EVM64 1-1 D.50 UNI 7435

274-2  [C-Type snap ring EVM64 1-0to 2-2 Carbon steel TC80 D.65 UNI 7435
EVM64 2-0, 3-3 D.75 UNI 7535

274-3 _|C-Type snap ring Carbon steel TC80 D.110 UNI 7437

613 Flange Carbon steel

380

E2BARA

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

6OH2



6OHZ

VERTICAL MULTISTAGE PUMPS

EVM

QUANTITY FOR MODEL

EVMG64 3-2F6/30

6315 ZZDT C3*

EVMG64 3-1F6/30

6315 ZZDT C3*

EVMG64 3-0F6/30

6315 ZZDT C3*

EVMG64 4-3F6/30

6315 ZZDT C3*

EVMG64 4-2F6/37

6315 ZZDT C3*

EVMG64 4-1F6/37

6315 ZZDT C3*

EVMG64
N°
Pump Type 5-2111|21|21-1|39-1|43-2|43-3| 43-4| 44-1|52-1| 53| 56| 70-1| 81| 107| 120-4| 120-5| 120-7| 128-3| 129| 135-3| 135-4| 136| 140| 140-1| 140-2| 150| 274-2| 274-3
EVMG64 1-1F6/7.5 1)1/71/7]1 1 / / / / / /i 7/ 1f1 / / / / / / / / 1 / / 1 1 1
EVMG64 1-0F6/11 O S S 1 / / / / /jijif1jif1 4 4 3 4 / 4 3 / / 1 1 1 1 /
EVMG64 2-2F6/15 211171 2 1 1 / / / /121 1122 4 4 3 4 / 4 3 / / 1 1 1 1 /
EVMG64 2-1F6/18.5 211]1] 1 1 1 / / / /I l2]1f 1122 4 4 3 4 / 4 3 / / 1 1 1 1 /
EVMG64 2-0F6/22 21112 / 1 1 / / / /I 12]1f 1122 4 4 3 4 / 4 3 / / 1 1 1 1 /
EVMG64 3-3F6/22 3|11]1/] 8 1 2 / / / / 13|11 ]33 4 4 3 4 / 4 3 / / 1 1 1 1 /
EVMG64 3-2F6/30 311]1] 2 1 2 / / / /13|11 ]33 4 4 3 4 1 4 3 117/ 1 1 / / /
EVMG64 3-1F6/30 311121 1 2 / / / /1311 1133 4 4 3 4 1 4 3 117/ 1 1 / / /
EVMG64 3-0F6/30 31113/ 1 2 / / / / 13|11 1|33 4 4 3 4 1 4 3 1]/ 1 1 / / /
EVMG64 4-3F6/30 411]1] 3 1 2 1 1 1 1(4]1]11)3]4 4 4 3 4 1 4 3 117/ 1 1 / / /
EVMG64 4-2F6/37 411]12] 2 1 2 1 1 1 1(4]1]11()3]4 4 4 3 4 1 4 3 1]/ 1 1 / / /
EVMG64 4-1F6/37 41113] 1 1 2 1 1 1 1]14]11] 1 13] 4 4 4 3 4 1 4 3 1]/ 1 1 / / /
BEARINGS
EVMG64
N°
Pump Type
56

EVMG64 1-1F6/7.5 6310 ZZ C3

EVMG64 1-0F6/11 6313 ZZ C3

EVMG64 2-2F6/15 6313 ZZC3

EVMG64 2-1F6/18.5 6313 ZZC3

EVMG64 2-0F6/22 6315 2Z C3

EVMG64 3-3F6/22 6315 ZZ C3

*DT=Two single row deep groove ball bearings matched for paired mounting in a tandem arrangement.

381

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

EBARA




EVM VERTICAL MULTISTAGE PUMP S

PACKING DRAWING
EVM(.)32-45-64

L é%% TYPE 1

TYPE 2

Ly a—4

382

5 EBARA EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

6OH2



60Hz

VERTICAL MULTISTAGE PUMP S

EVM

PACKING DATA
EVM(.)32-45-64

Pumps Pumps with motor ~3
] Weight + ] Weight +
Pump type Packing [mm] Packing [kg] | Pack Packing [mm] Packing [kg] | Pack
X z vy |ewe) evmiy | PP x z vy |ewme) | evmu | P8
EVM()32 1-0F6/4.0 200 | 780 | 400 61 66 1 | 400 | 1047 | 400 97 02 | 1
EVM(.)32 2-2F6/5.5 400 | 780 | 400 65 71 1 | 400 | 1047 | 400 | 106 | 111 | 1
EVM()32 2-0F6/7.5 400 | 780 | 400 68 73 1 | 400 | 1047 | 400 | 109 | 115 | 1
EVM(.)32 3-3F6/7.5 400 | 780 | 400 72 79 1 | 400 | 1047 | 400 | 113 | 121 | 1
EVM(.)32 3-0F6/11 1047 | 400 | 400 84 91 1 | 500 | 545 | 1350 | 154 | 161 | 2
EVM()32 4-3F6/11 1047 | 400 | 400 87 94 1 | 500 | 545 | 1350 | 157 | 164 | 2
EVM(.)32 4-OF6/15 1047 | 400 | 400 87 94 1 | 500 | 545 | 1350 | 182 | 189 | 2
EVM()32 5-3F6/15 1047 | 400 | 400 94 103 | 1 | 500 | 540 | 1540 | 189 | 198 | 2
EVM(.)32 5-2F6/15 1047 | 400 | 400 94 103 | 1 | 500 | 540 | 1540 | 189 | 198 | 2
a5 | EVM()32 5-0F6/185 1047 | 400 | 400 97 103 | 1 | 500 | 540 | 1540 | 199 | 208 | 2
EVM()32 6-3F6/18.5 1047 | 400 | 400 97 106 | 1 | 500 | 540 | 1540 | 202 | 211 | 2
EVM(.)32 6-0F6/22 1047 | 400 | 400 97 106 | 1 | 610 | 593 | 1750 | 249 | 258 | 2
EVM()32 7-3F6/22 1047 | 400 | 400 | 110 | 119 | 1 | 610 | 593 | 1750 | 262 | 271 | 2
EVM()32 7-2F6/22 1047 | 400 | 400 | 110 | 119 | 1 | 610 | 593 | 1750 | 262 | 271 | 2
EVM(.)32 7-0F6/30 1147 | 480 | 480 | 116 | 125 | 1 | 610 | 593 | 1750 | 315 | 324 | 2
EVM(.)32 8-3F6/30 1147 | 480 | 480 | 115 | 125 | 1 | 610 | 593 | 1750 | 314 | 324 | 2
EVM(.)32 8-0F6/30 1147 | 480 | 480 | 115 | 125 | 1 | 610 | 593 | 1750 | 314 | 324 | 2
EVM(.)32 9-3F6/30 1297 | 480 | 480 | 125 | 135 | 1 | 610 | 593 | 1750 | 317 | 327 | 2
EVM(.)32 9-0F6/30 1297 | 480 | 480 | 125 | 135 | 1 | 610 | 593 | 1750 | 317 | 327 | 2
EVM(.)32 10-4F6/30 1297 | 480 | 480 | 124 | 135 | 1 | 635 | 607 | 2130 | 377 | 388 | 2
EVM()45 1-1F6/5.5 200 | 780 | 400 62 69 1 | 400 | 1047 | 400 | 102 95 1
EVM(.)45 1-OF6/7.5 400 | 780 | 400 64 71 1 | 400 | 1047 | 400 | 106 | 109 | 1
EVM(.)45 2-2F6/11 1047 | 400 | 400 68 75 1 | 500 | 545 | 1350 | 138 | 134 | 2
EVM(.)45 2-1F6/11 1047 | 400 | 400 68 75 1 | 500 | 545 | 1350 | 138 | 134 | 2
EVM(.)45 2-OF6/15 1047 | 400 | 400 68 75 1 | 500 | 545 | 1350 | 163 | 170 | 2
EVM(.)45 3-3F6/15 1047 | 400 | 400 72 81 1 | 500 | 540 | 1540 | 167 | 176 | 2
EVM(.)45 3-2F6/15 1047 | 400 | 400 72 81 1 | 500 | 540 | 1540 | 167 | 176 | 2
EVM(.)45 3-1F6/18.5 1047 | 400 | 400 72 81 1 | 500 | 540 | 1540 | 177 | 186 | 2
EVM(.)45 3-0F6/22 1047 | 400 | 400 82 91 1 | 500 | 540 | 1540 | 227 | 236 | 2
45 | EVM()45 4-3F6/18.5 1047 | 400 | 400 74 84 1 | 500 | 540 | 1540 | 179 | 189 | 2
EVM(.)45 4-2F6/22 1047 | 400 | 400 84 94 1 | 610 | 593 | 1750 | 236 | 146 | 2
EVM(.)45 4-1F6/30 1147 | 480 | 480 87 97 1 | 610 | 593 | 1750 | 286 | 296 | 2
EVM(.)45 4-0F6/30 1147 | 480 | 480 87 97 1 | 610 | 593 | 1750 | 286 | 296 | 2
EVM(.)45 5-3F6/30 1147 | 480 | 480 | 104 | 116 | 1 | 610 | 593 | 1750 | 303 | 315 | 2
EVM(.)45 5-2F6/30 1147 | 480 | 480 | 104 | 116 | 1 | 610 | 593 | 1750 | 303 | 315 | 2
EVM(.)45 5-1F6/30 1147 | 480 | 480 | 104 | 116 | 1 | 610 | 593 | 1750 | 303 | 315 | 2
EVM(.)45 5-OF6/37 1147 | 480 | 480 | 104 | 116 | 1 | 610 | 5938 | 1750 | 317 | 329 | 2
EVM(.)45 6-3F6/37 1297 | 480 | 480 | 103 | 116 | 1 | 635 | 607 | 2130 | 370 | 383 | 2
EVM(.)45 6-2F6/37 1297 | 480 | 480 | 103 | 116 | 1 | 635 | 607 | 2130 | 370 | 383 | 2
EVM()45 6-1F6/37 1297 | 480 | 480 | 103 | 116 | 1 | 635 | 607 | 2130 | 370 | 383 | 2
EVM()64 1-1F6/7.5 200 | 780 | 400 79 86 1T | 400 | 1047 | 400 | 121 | 127 | 1
EVM(.)64 1-O0F6/11 1047 | 400 | 400 77 84 1 | 500 | 545 | 1350 | 147 | 154 | 2
EVM(.)64 2-2F6/15 1047 | 400 | 400 o1 98 1 | 500 | 545 | 1350 | 186 | 194 | 2
EVM(.)64 2-1F6/18.5 1047 | 400 | 400 92 100 | 1 | 500 | 540 | 1540 | 197 | 206 | 2
EVM(.)64 2-0F6/22 1047 | 400 | 400 | 102 | 110 | 1 | 610 | 593 | 1750 | 254 | 262 | 2
64 | _EVM()64 3-3F6/22 1047 | 400 | 400 | 107 | 116 | 1 | 610 | 593 | 1750 | 250 | 268 | 2
EVM(.)64 3-2F6/30 1147 | 480 | 480 | 110 | 119 | 1 | 610 | 593 | 1750 | 309 | 318 | 2
EVM(.)64 3-1F6/30 1147 | 480 | 480 | 110 | 119 | 1 | 610 | 593 | 1750 | 309 | 318 | 2
EVM(.)64 3-0F6/30 1147 | 480 | 480 | 110 | 119 | 1 | 610 | 593 | 1750 | 309 | 318 | 2
EVM(.)64 4-3F6/30 1147 | 480 | 480 | 117 | 128 | 1 | 610 | 5938 | 1750 | 316 | 327 | 2
EVM(.)64 4-2F6/37 1147 | 480 | 480 | 117 | 128 | 1 | 610 | 593 | 1750 | 330 | 341 | 2
EVM(.)64 4-1F6/37 1147 | 480 | 480 | 117 | 128 | 1 | 610 | 593 | 1750 | 330 | 341 | 2

383

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

= TVTY



6OH2

VERTICAL MULTISTAGE PUMP S

MOITOR

400

5 EBARA EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice




60Hz

VERTICAL MULTISTAGE PUMP S

Various regulatory authorities in many countries have introduced or are planning legislation to encourage the
manufacture and use of higher efficiency motors, as part of a concerted effort worldwide to reduce energy

consumption.

IEC 60034-30 defines new efficiency classes for motors and harmonizes the currently different requirements

GENERAL

for induction motor efficiency levels around the world.

MOTOR EVMS MOTOR EVM
Frequency 60 Hz 60 Hz
Phase Three Phase Three Phase
Rotation speed =~ 3500 min-1 =~ 3500 min-1
Power 0.37 +18.5 kW 4.0 +37 kW
Source |, ver rating e —
0.5+25 HP 5.5+50 HP

Voltage

220/380 + 10% V (up to 4KW) 265/460 +10% V (up to 4kW)
380/660 + 10% V (above 5.5 kW) 460 +10% V (above 5.5 kW)

220/380 + 10% V (up to 4kW) 265/460 +10% V (up to 4kW)
380/660 +10% V (above 5.5 kW) 460 +10% V (above 5.5 kW)

Type

Electric - TEFC

Electric - TEFC

Efficiency Level

- from 0.37 up to 0.55 kW
IE2 from 0.75 up to 4.0 kW (220-380V / 265-460V)
IE2 above 5.5 kW (380-660V / 460V)

IE2 to 4.0 kW (220-380V / 265-460V)
IE2 above 5.5 kW (380-660V / 460V)

Type
No° of poles 2 2
Protection degree IP 55 IP 55
Insulation Class F (temperature rise class B) F (temperature rise class B)
Thermal Protection PTC is available for the above 1.5 kW PTC
Others Casing Material Aluminium Aluminium

Flange mount
(IEC motor)

IM B14 (up to 4 kW)
IM B5 (above 5.5 kW)

IM B14 (up to 4 kW)
IM B5 (above 5.5 kW)

Coupling Flange Size Power Noise
(MEC) [kw] [HP] LpA - dB(A) *
0.37 0.5
n <70
0.55 0.75
0.75 1
80 <70
11 15
90 S 15
<70
Q0L 2.2
100 L 3.0 71
112 M 4.0 55 73
55 7.5
132 77
7.5 10
11 15
160 M
15 20 79
160 L 18.5 25
180 M 22 30 82
30 40
200 L 83
37 50

401
EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

= TVTY



EVMS

VERTICAL MULTISTAGE PUMPS

TECHNICAL MOTOR DATA
EVMS 1-3-5-10-15-20

- Three Phase Motor at 60Hz, 2 poles

Motor Load efficency Full load current Locked rotor current
- and power-factor [A] [A]
Coupling Flange Size Power Efficiency n% cos—¢
MEC kw HP' o 5 220V | 265V | 380V | 460V | 220V | 265V | 380V | 460V
( ) flew] (HP] 50% | 75% | 100% | 100%
71 0.37 0.5 - - - 67.7 | 0.72 2.1 1.7 1.2 1 8.8 9.6 5.1 5.6
71 0.55 | 0.75 - 72.4 | 0.72 2.9 2.4 1.7 1.4 12.7 15.1 7.3 8.7
IE2 Three Phase Motor at 60Hz, 2 poles
Motor Load efficency Full load current Locked rotor current
. and power-factor [A] [A]
Coupling Flange Size Power Efficiency Y

MEC kW] | [HP n v COS~C 1 200V | 265V | 380V | 460V | 660V | 220V | 265V | 380V | 460V | 660V
( ) kw] (HP] 50% 75% | 100% | 100%

80 0.75 1 IE2 82.9 84.2 82.6 0.74 3.1 2.6 1.8 15 1.0 329 27.3 19.0 15.8 11.0

80 1.1 15 IE2 76.1 80.4 82.5 0.75 4.3 3.6 25 2.1 15 43.8 36.4 25.5 21.2 14.8
90 S 15 2 IE2 80.1 83.2 85.3 0.84 5.7 4.7 3.3 2.7 1.9 46.4 385 26.6 22.1 15.4

90 L 2.2 3 IE2 86.0 86.4 86.5 0.82 8.2 6.8 4.7 3.9 2.7 77.8 64.6 44.7 37.1 25.9
100 L 3.0 4 IE2 86.4 87.8 87.5 0.90 10.0 8.3 5.8 4.8 3.3 114.2 | 94.8 65.9 54.7 38.1
112 M 4.0 5.5 IE2 86.4 87.8 87.5 0.80 15.1 12.5 8.7 7.2 5.0 180.4 | 149.8 | 104.2 | 86.5 60.3
132 S 5.5 7.5 IE2 85.0 88.6 88.5 0.87 - - 10.7 8.9 6.2 - - 131.3 | 109 76.0
132S 7.5 10 IE2 87.8 89.5 89.7 0.88 - - 14.5 12 8.4 - - 171.0 | 142 99.0
160 M 11 15 IE2 88.6 90.4 90.7 0.89 - - 20.7 17.2 12.0 - - 198.8 | 165 | 115.1
160 M 15 20 IE2 90.9 92.3 91.8 0.89 - - 28.1 23.3 16.2 - - 2722 | 226 | 157.6
160 L 18.5 25 IE2 90.3 92.0 91.6 0.88 - - 34.7 28.8 20.1 - - 409.5 | 340 | 237.1

402

E2BARA

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

6OH2



6OHZ VERTICAL MULTISTAGE PUMP S EVM

TECHNICAL MOTOR DATA
EVM 32-45-64

IE2 Three Phase Motor at 6 OHz, 2 poles

Motor Load efficency Full load current Locked rotor current

- and power-factor Al Al

Coupling Flange Size Power Efficiency i ; . [A] [A]
(MEC) [kw] [HP] 50% 75% | 100% | 100% 220V | 265V | 380V | 460V | 660V | 220V | 265V | 380V | 460V | 660V
112 M 4.0 5.5 IE2 86.4 87.8 87.5 0.80 15.1 12.5 8.7 7.2 5.0 180.4 | 149.8 | 104.2 | 865 60.3
132S 5.5 75 IE2 85.0 88.6 88.5 0.87 - - 10.7 8.9 6.2 - - 131.3 | 109 76.0
132 S 7.5 10 IE2 87.8 89.5 89.7 0.88 - - 145 12 8 - - 171.0 142 99.0
160 M 11 15 IE2 88.6 90.4 90.7 0.89 - - 20.7 17.2 12.0 - - 198.8 | 165 | 115.1
160 M 15 20 IE2 90.9 92.3 91.8 0.89 - - 28.1 233 16.2 - - 272.2 226 157.6
160 L 18.5 25 IE2 90.3 92.0 91.6 0.88 - - 34.7 28.8 20.1 - - 4095 | 340 | 237.1
180 M 22 30 IE2 91.8 92.6 92.5 0.88 - - 41.2 34 23.7 - - 417.6 345 240.5
200 L 30 40 IE2 92.7 94.0 94.2 0.87 - - 55.7 46 321 - - 496.3 | 410 | 285.8
200 L 37 50 IE2 93.0 94.3 94.5 0.88 - - 66.6 55 38.3 - - 568.9 470 327.6

403
EBARA Pumps Europe g EBARA

EBARA Pumps Europe reserves the right to make changes without prior notice




EVMS NOTES 60+

5 EBARA EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice



60+ NOTES EVMS

EBARA Pumps Europe g EBARA

EBARA Pumps Europe reserves the right to make changes without prior notice



EVM NOTES 60+

5 EBARA EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice



60+ NOTES EVM

EBARA Pumps Europe g EBARA

EBARA Pumps Europe reserves the right to make changes without prior notice



EBARA Corporation
11-1, Haneda Asahi-cho, Ohta-ku,
Tokyo 144-8510

Japan

Tel +81 3 6275 7598

Fax +81 3 5736 3193
www.ebara.com

ESARA

EBARA Pumps Europe S.p.A.

Via Pacinotti, 32
36040 Brendola (Vicenza), Italia
Tel. +39 0444 706811
Fax +39 0444 405811
ebara_pumps@ebaraeurope.com
www.ebaraeurope.com

EBARA Pumps Europe S.p.A. si riserva il diritto di apportare modifiche senza preavviso: tutte le specifiche potrebbero essere oggetto di modifiche

cod. 479707057A 12/15



	1. SPECIFICATIONS 
	1.1 TYPICAL APPLICATIONS 
	1.2 PERFORMANCE RANGE 

	2. EVMS 1-3-5-10-15-20 
	2.1 PRODUCT FEATURES 
	2.2 PRODUCT SPECIFICATIONS 
	2.3 SHAFT SEAL 
	2.4 TYPE KEY and NAMEPLATE
	2.5 PERFORMANCE RANGE 
	2.6 CURVE SPECIFICATIONS 
	2.7 SELECTION CHART 
	2.8 EVMS(L)1 
	EVMSG1 

	2.9 EVMS(L)3 
	EVMSG3 

	2.10 EVMS(L)5 
	EVMSG 5 

	2.11 EVMS(L)10 
	EVMSG10 

	2.12 EVMS(L)15 
	EVMSG15 

	2.13 EVMS(L)20 
	EVMSG20 

	2.14 PACKING 

	3. EVM 32-45-64 
	3.1 PRODUCT FEATURES 
	3.2 PRODUCT SPECIFICATIONS 
	3.3 SHAFT SEAL 
	3.4 TYPE KEY and NAMEPLATE
	3.5 PERFORMANCE RANGE 
	3.6 CURVE SPECIFICATIONS 
	3.7 SELECTION CHART 
	3.8 EVM(L)32 
	EVMG32 

	3.9 EVM(L)45 
	EVMG45 

	3.10 EVM(L)64 
	EVMG64 

	3.11 PACKING 

	4. MOTOR DATA 
	4.1 NOISE DATA 
	4.2 TECHNICAL MOTOR DATA 
	EVMS 1-3-5-10-15-20

	EVM 32-45-64






